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1. Which among the following (Provision — Part
of the Constitution) is not correctly matched?

A. The Union Territories — Part VIII

B. The Scheduled and Tribal Areas —
Part X

C. Tribunals — Part XI
D. Official Language — Part XVII

2. Match list-I with list-li and select the correct 2.
answer using the code given below the lists

List-1 List-1I

Article - 324 | National Commission for

Schedule Castes

Article - 315 | Finance Commission

Article - 280 Public Service Commission

Article - 338 | Election Commission

Code -
A. A-(3), B-(2), C-(4), D-(1)
B. A-(4), B-(3), C-(2), D-(1)
C. A-(3), B-(2), C-(1), D-(4)
D. A-(1), B-(3), C-(4), D-(2)

3. Consider the following events and arrange
these in correct chronological order starting from
the earliest to the last activity —

1. Appointment of the Drafting

Committee

2. Indian Constitution was adopted and
enacted

3. Date of commencement of Indian
Constitution

4. Constitution Assembly first met

-
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Select the correct answer from the code given
below —

Code -
A CTILILL IV

B. IV, 1IL II
C. LI IV,
D. IV, L1, III

4. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) —

Assertion (A) — The President can recommend to
the Parliament to change the boundary of any state
after seeking views of the concerned Legislature of
that state on the subject within specified period.

Reason (R) — It is not mandatory for the President
to accept the proposal of the concerned State
Legislature.

Select the correct answer using the code given
below-
A. Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true but (R) is not
correct explanation of (A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true

5. With reference of the election of the Vice -
President of India, which is declared void by the
Supreme Court of India, which of the following
statement/s is/are correct?
1. The acts done by him as Vice —
President before such declaration are
considered valid.

2. The acts done by him as Vice —
President on the day of such
declaration are not considered
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Select the correct answer from the code given
below -

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

6. Who among the following is the first women
Speaker in Lok Sabha?

A. Pratibha Patil
B. Urmila Singh
C. Meira Kumar

D. Sushma Swaraj

7. Which one of the following pairs (Schedule
Subjects) is not correctly matched?

A. Third Schedule — Forms of Oaths or
Affirmations

B. Eight Schedule — Languages

C. Ninth Schedule — Allocation of seats
in the Council of States

D. Tenth Schedule — Provisions as to
disqualification on ground of defection

8. The Constitution of India initially permitted
the use of English language for all official
purposes for a period of -

A. byears

B. 10 years
C. 15 years
D. 20 years

9. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) —
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Assertion (A) — The President is a part of the

Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become a law without the
assent of the President.

Select the correct answer using the code given
below -

A. Both (A) and (R) are true but (R) is not
correct explanation of (A)

B. Both (A) and (R) are true and (R) is
correct explanation of (A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true

10. With reference to Union Finance Commission,
which of the following statement/s is/are correct?

1. Finance Commission has a Chairman
and six members.

2. It submits its report to the NITI Aayog.

Select the correct answer using the code given
below —

Code-
A. Only 2

B. Both1and?2
C. Only 1
D. Neither 1 nor 2

11. Consider the following statements concerning
the powers of the Supreme Court to issue certain
writs to stop violation of Fundamental Rights —
1. The Supreme Court has power to issue
writs like Habeas Corpus, Mandamus,
Prohibition, Quo Warranto and
Certiorari which is appropriate for the
enforcement of Fundamental Rights.

2. Parliament may by law empower any
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other court to exercise within its

jurisdiction the powers given to
Supreme Court.

Which of the above-mentioned
statement/statements is/are correct?

Select the correct answer from the code given
below —

Code -
A. Both1and?2

B. Only1
C. Only 2
D. Neither 1 nor 2

12. With reference to the Attorney General of
India, which of the following statement/s is/are
correct?

1. A person is appointed as Attorney
General, who is qualified to be
appointed as a Judge of the Supreme
Court.

2. The Attorney General can be removed
through the same process as the Judges
of the Supreme Court.

Select the correct answer from the code given
below

Code -
A. Only 1

B. Only 2
C. Both1land?2
D. Neither 1 nor 2

13. With reference to the composition of the

Legislative Council in a state of India, which of
the following statement/s is/are correct?

1. In the Legislative Council there may

not be more than one-third members of

the total membership of the Legislative

-
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Assembly of that state.

2. The Legislative Council of a state must
have at least forty members in it.

Select the correct answer from the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1land 2
D. Neither 1 nor 2

14. W ith reference to the representation of Uttar
Pradesh in Parliament, which of the following
statement/s is/are correct?

1. Uttar Pradesh has 31 seats allotted for
Rajya Sabha.

2. 80 members of Lok Sabha are elected
from Uttar Pradesh.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

15. With reference to the post's in Secretariate of
the Parliament, which of the following
statement/s is/are correct?
1. Common posts may be created for the
Secretariate of each House of
Parliament.

2. The Parliament has right to regulate
the service conditions of Secretariate
staff of either House of it.
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Select the correct answer from the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

16. W hich of the following statements is not true
regarding 'Gram Sabha'?
A. it has the powers and functions at the
village level, like state Legislature has
at the state level.

B. Its powers are determined by the
Central Government.

C. It is a Village Assembly consisting of
all registered voters in the area of
Panchayat.

D. (a) and (c) both

17. All elections to the Panchayats are conducted
by-

A. State Legislature
B. State Election Commission
C. Election Commission of India

D. Panchayati Raj Commission

18.With reference to the recommendations of the
Ashok Mehta Committee (1977) on Panchayati
Raj, which of the following statement/s is/are
correct?
1. The three tier system of Panchayati Raj
should be replaced by the two tier
system.

2. A block should be the first point for
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supervision below the state level.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

19. The resignation letter by a Judge of Supreme
Court is addressed to -

A. The Chief Justice of India

B. The senior most Judge of Supreme
Court

C. The President

D. The Prime Minister

20. Which of the following is not a part of the
Article 20 of the Constitution of India?

A. Prohibition against

B. Double Jeopardy Self Incrimination
Clause

C. Prohibition Against

D. Ex-post Facto Law Torture

21. Which of the following Provision is a part of
both Directive Principles of State Policy and
Fundamental Duties?

A. Guardians to provide opportunity
for education to children

B. Protection of environment

C. Participation of workers in

management of Industries

D. Uniform Civil Code

decentralization =~ under  popular
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22. With reference to the joint sitting of
Parliament, which statement/s is/are correct?

1. Article 109 provides for the joint sitting
of both Houses in certain cases.

2. The Speaker presides the joint sitting of
the two Houses of Parliament.

Select the correct answer using the code given
below —
Code -

A. Only1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

23. With reference to the invaders in ancient India,
which one of the following is the correct
chronological order?

A. Greeks — Sakas -- Kushans
B. Greeks — Kushans — Sakas
C. Sakas — Greeks — Kushans
D. Sakas — Kushans — Greeks

24, 'Milind Panho' is in the form of a dialogue
between King Milind and Buddhist Saint. The
concerned saint was -

A. Nagarjun
B. Nagbhatt
C. Nagasena
D. Kumaril Bhatt

25. Charak Sambhita is divided into how many
chapters and sections?

A. 120 chapters and 8 sections

B. 100 chapters and 5 sections

-
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C. 80 chapters and 7 sections

D. 60 chapters and 8 sections

26. Which officer was known as 'Bhagadugha’
during Vedic administration?

A. Messenger
B. Chief Officer of Forests
C. Chief Officer of the Gambling

D. Revenue Collector Department

27. Match list-I with List-II and choose the correct
answer using the code given below the lists-

List-I List-II
(Archaeological Site) (Present Location)
(A) Nevasa (1) Rajasthan
(B) Isampur (2) Tamil Nadu
(C) Didwana (3) Maharashtra
(D) Gudiyam Cave (4) Karnataka
Code-

A. A-(3), B-(4), C-(1), D-(2)

B. A-(4), B-(3), C-(1), D-(2)

C. A-(3), B-(4), C-(2), D-(1)

D. A-(3), B-(2), C-(4), D-(1)

28. Eastern boundary of the Harappa culture is
indicated by whicl of the following?

A. Harappa

B. Rakhigarhi
C. Alamgirpur
D. Manda

29. With reference to the Puranas, which one of the
following statements is correct?

1. Information about the Mauryan
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dynasty is found in the Vishnu Puran.

2. Vayu Puran throws light on the
Gupta's governance system.

Only 1
Only 2
Both 1 and 2

S N = »

Neither 1 nor 2

30. Which of the following pairs (School of
Thought Proponent) is correctly matched?

A. Vaisheshika — Patanjali
B. Mimansa — Kanada
C. Nyaya — Gautama

D. Uttara Mimansa — Kapila

31. With reference to the Captain Hawking's,
which of the following statements is correct?

1. He came to India in 1611 as an envoy
of James — 1.

2. He was very well versed in Turkish
language.

Only 1
Only 2
Both 1 and 2

o0 w p

Neither 1 nor 2

32. Who was 'Khareetadar'?
A. Despatcher of royal decrees

B. Main custodian of royal palace
C. Chief Officer of Pargana
D

. An officer who was trained in keeping

33. Match list-I with list-II and select the correct
answer using the code given below the lists

~
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List - I (Book)

List - II (Context)

Mirat-e-Sikandari

History of Bengal

Burhan-e-Masir

History of Bahmani's

Ahmad Nagar
Riyaz-us-Salatin Collection of
Mahmood Gawan's
letters
Riyaz-ul-insha Victory of Gujarat
Code -
A. A-(4), B-(2), C-(1), D-(3)
B. A-(2), B-(4), C-(1), D-(3)
C. A-(1), B-(2), C-(4), D-(3)
D. A-(4), B-(2), C-(3), D-(1)

34. Which of the following is not correctly
matched?

A. Tltutmish — Father of Razia
B. Shah Turkan — Wife of lltutmish

C. Hamida Banu Begum — Wife of
Allaudin Khilji

D. Gulbadan Begum — Daughter of
Babur

35. Consider the reign of following Peshwas and
arrange them in chronological order —

1. Balaji Viswanath
2. Bajiraol

3. Narayan Rao

4. Madhav Rao I

accounts Select the correct answer using the code given
below —

- J
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Code -

A. LI II, IV

B. LI III, IV
C. I L1V, I
D. LIL IV, III

36. Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

A. Shamsuddin Shah
B. Sikandar Shah

C. Zain-ul-Abidin
D. Haider Shah

37. Who among the following translated 300
volumes of Sanskrit books collected by Firoz
Tuglaq during the campaign of Nagarkot?

A. Azizuddin Khan

B. Talib Amuli

C. Mulla Abdul Bagqi

D. Mirza Muhammad Ali

38. Tappa style of music was refined and
developed in which of the following Mughal
Emperor's Court?

A. Akbar

B. Jahangir

C. Shahjahan

D. Muhammad Shah

39. Which of the following (Poetess —
Compositions) is not correctly matched?

A. Daya Bai — Vinay Malika
B. Sahajobai — Sahaj Prakash
C. Gangabai— Ganesh Dev Leela

-
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D. Son Kumari— Poem of Swam Beli

40. Which one ofthe following (Place of the revolt
of 1857 — Start of rebellion) is not correctly
matched?

A. Barrack — 29 March, 1857
B. Meerut — 10 May, 1857
C. Lucknow —4 June, 1857
D. Jhansi — 11 May, 1857

41. In 1918, the United Provinces Kisan Sabha was
formed by which of the following leaders?

A. Baba Ramchandra
B. Indra Narayan
C. Swami Sahjanand Saraswati

D. Pt. Jawaharlal Nehru

42. W hich am ong the follow ing organisations
was responsible for throwing a bomb at Viceroy
Lord Hardinge in Delhi?

A. All India Labour Association
B. United Patriotic Association
C. Anushilan Samiti

D. Yugantar

43. By which of the following Acts, the system of
'Chamber of Princes' with 120 members was
created ?

A. Charter Act of 1853
B. Actof 1793
C. Actof 1909
D. Act of 1919
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44. With reference to the E.V. Ramaswami
Nayakar, which of the following statement/s
is/are correct?

1. He participated in the Non -
Cooperation Movement.

2. He left the congress in 1925.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

45. What was the name of the female Regiment
constituted as a part of the Azad Hind Fauj by
Netaji Subhash Chandra Bose?

A. Rani Bhabani Regiment
B. Rani Jhansi Regiment
C. Bharat Mata Regiment

D. Veerangana Regiment

46. Who was the leader of rebellion in Bareilly,
Uttar Pradesh during 1857?

A. Hazarat Mahal

B. Khan Bahadur Khan
C. Kunwar Singh

D. Nana Saheb

47. Which of the following events was the last in
chronological order?

A. Home Rule Movement
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D. Moplah Revolt

48. Who among the following women freedom
fighter was not associated with ‘Quit India
Movement’ ?

A. Matangini Hazra
B. Aruna Asaf Ali

C. Kanak Lata Barua
D. Shanti Ghosh

49. Which one of the following(Tributary River)
not correctly matched?

A. Manjra- Godavari

B. Hemavathi- kaveri
C. Malaprabha- Krishna
D. Pranhita- Mahanadi

50. Which of the following place is the confluence
of the river Alakhnanda and the Bhagirathi?

A. Vishnu Prayag
B. Karn Prayag
C. Rudra Prayag
D. Dev Prayag

51. Which of the following statements is correct
about laterite soil?

1. This soil is developed in areas with
high temperature and heavy rainfall.

2. Itis poor iniron oxide and aluminium.

Select the correct answer using the code given
below —

Code-
B. Khilafat Movement A. Only 1
C. Jallianwala Bagh Massacre B. Only 2
- J
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C. Both1land?2
D. Neither 1 nor 2

52. 'Ozone layer' absorbing ultra- violet radiation
exists in which of the atmospheric layer?

A. Troposphere
B. Mesosphere
C. Stratosphere
D. Thermosphere

53. Make the pairs of chief rivers of their place of
origin-

Rivers Place of Origin

(A) Yamuna (1) Sihawa

(B) Krishna (2) Nasik

(C) Godavari (3) Mahabaleshwar
(D) Mahanadi (4) Yamunotri

A. A-4,B-3,C-2,D-1
B. A-1,B-2,C-3, D4
C. A4,B-2,C-3,D-4
D. A-4,B-2,C-3,D-1

54. Given below are two statements, one is
labelled as Assertion (A) and other is Reason (R)

Assertion (A) —The Tamil Nadu coast remains dry
during South-West monsoon

season.

Reason(R)—The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch of South-West
monsoon and it lies in the rain shadow area of the
Arabian Sea branch of the South- West monsoon
during monsoon season.

Select the correct answer using the code given
below —

~
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A. (A) is true but (R) is false

B. (A) is false but (R) is true

C. Both(A) and (R) is true but (R) is not
correct explanation of (A)

D. Both (A) and (R) are true and (R) is
correct explanation of (A)

55. Which of the following statement is correct?

1. Ram Ganga river joins the Ganga at
Kannauj

2. River Betwa joins the Yamuna near
Prayagraj.
Select the correct answer using the code given
below —
Code-
A. Only 1

B. Only 2
C. Both1land 2
D. Neither 1 nor 2

56. Chandraprabha Wildlife Sanctuary is situated
in which district of Uttar Pradesh?

A. Sonbhadra
B. Chandauli
C. Baharaich
D. Lakhimpur Khiri

57. Which one of the following (Passes -
States/U.T.) is correctly matched?

A. Aghil — Arunachal Pradesh
B. Diphu — Ladakh

C. Niti — Uttarakhand

D. Mana — Himachal Pradesh

O \_

Code -

-
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58. Shivanasamudra and Kalpakkam are
respectively important for -

A. Hydel Power and Nuclear Energy
B. Thermal Power and Nuclear Energy
C. Nuclear Energy and Hydel Power

D. Solar Power and Nuclear Energy

59. Consider the following statements with
reference to Uttar Pradesh -

1. Forests constitute about 12.8% of the
total geographical area of the state.

2. The districts of Jaunpur, Ghazipur and
Ballia have no forest land.

Select the correct answer from the code given
below Code -

A. Only 1

B. Both1and 2
C. Only 2

D. Neither 1 nor 2

60. Which of the following (Port-Country)is not
correctly matched?

A. Rotterdam - Netherland
B. Igarka - China
C. Montevideo— Uruguay

D. Jakarta- Indonesia

61. Which of the following statement is true?

A. Benguela current is a cold current of
the pacific ocean.

B. If the sun, the earth and the moon are
in a straight line then this situation is
the situation of small tide.

C. Ocean salinity is maximum at the
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Tropic of Cancer and Capricorn.

D. Tide comes on the earth every day after
exactly 12 hours 30 minutes.

62. The river situated along the border between
the United States of America and Mexico is -

A. The Mississippi
B. The Rio Grande
C. The Amazon
D. The Colorado

63. Consider the following deserts and arrange
them in increasing order of their size (from
smallest to largest)

I- Great Sandy desert
II- Arabian desert
III-Sahara desert
IV-Gobi desert

Select the correct answer using the code given
below-

A LILIV, I
B. I, L III, IV
C. LIV, ILII
D. IL I, 1V, III

64. To whom does the credit goes for the
development of coconut and sugarcane
agriculture in Philippines?

A. French
B. Britishers
C. Hollanders

D. Spanish and Americans

J
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65. Match list-I with list-Il and select the correct
answer using the code given below —

List— I List-II
(Mountain) (Countries)
(A)Kilimanjaro (1)Morocco
(B)Toubkal (2)Algeria
(C)Stanley (3)Tanzania
(D)Hoggar (4)Uganda
Code -

A. A-(4), B-(3), C-(2), D-(1)

B. A-(3), B-(1), C-(4), D-(2)

C. A-(3), B-(4), C-(1), D-(2)

D. A-(4), B-(2), C-(3), D-(1)

66. Which one of the following (Lake — Country)
is not correctly matched?

A. Baikal - Russia
B. Michigan — United State of America
C. Onega-Canada

D. Maracaibo— Venezuela

67. With reference to the "EL-NINO", which of the
following statement/s is/are correct?
1. El — Nino involves appearance of
warm current of the coast of Peru in
eastern pacific.

2. This warm current increase the
temperature of water on the Peruvian
coast by 10°C there by increasing the

~
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C. Both1land 2

D. Neither 1 nor 2

68. What caused wind to deflect towards left in
Southern Hemisphere?

A. Temperature
B. Coriolis force
C. Magnetic Field

D. Pressure

69. Which one of the following is the largest coal
producing centre of Ukraine?

A. Zaporizhzhia
B. Kharkiv

C. Donetsk

D. Kyiv

70. 'Mount Newman' is famous for which of the
following minerals?

A. Iron ore
B. Manganese
C. Copper

D. Bauxite

71. How many railways stations have been
identified for modernization under "Amrit Bharat
Station Scheme" in Uttar Pradesh as on February,
2023?

A. 57
amount of Plankton in the sea.
B. 82
Select the correct answer using the code given
below — C. 123
Code - D. 149
A. Only 1
B. Only 2
- J
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72. Where was the "Sudarshan Prahar Army
Exercise" carried out in December, 2022?

A. Gujarat

B. Rajasthan

C. Uttar Pradesh
D. Madhya Pradesh

73. As per Social Progress Index, released in
December, 2022, which of the following are on top
three positions in very high social progress in
Tier-1?

A. Puducherry, Lahadweep and Goa

B. Mizoram, Himachal Pradesh and
Ladakh

C. Kerala, Nagaland and Meghalaya
D. None of these

74 The "NISAR satellite" is jointly developed by
which of the following organizations?

A. ISRO and NASA

B. ESA and ISRO

C. ESA and NASA

D. ROSCOSMOS and CNSA

75. According to the Union Budget 2023-24, how
many skill India international centres are to be set
up across different states to skill youth for
international opportunities?

~
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76. Who is the Author of the famous Novel "All

the Lives We Never Lived", which received the
Sahitya Akademi Award, 2022?

A. Anita Desai
B. Anuradha Roy
C. Shobha De
D. Sudha Murthy

77. With reference to mineral resources, which of
the following statement/s is/are correct?

1. Lithium's inferred resources have been
found in Reasi district of Jammu &
Kashmir.

2. India is import dependent for many
minerals like Lithium Nickel and
Cobalt.

Select the correct answer using the code given
below —

Code-
A. Only 1

B. Only 2
C. Both1land?2
D. Neither 1 nor 2

78. In February, 2023 India's biggest helicopter
manufacturing plant was inaugurated in which
one of the following places?

A. Chakeri, Uttar Pradesh

A. 20 B. Tumkuru, Karnataka
B. 30 C. Coimbatore, Tamil Nadu
C. 40 D. Nasik, Maharashtra
D. 50
79. Who composed the Golden Globe Award
winning song "Naatu Naatu"?
A. S.S. Rajamouli
J
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B. M.M. Keeravani
C. Devi Sri Prasad
D. A.R. Rehmari

80. The Indian Biological Data Centre is being set
up in which state?

A. Haryana

B. Punjab

C. Uttar Pradesh
D. Gujarat

81. With reference to India's G-20 Logo, which of
the following statement/s is/are correct?

1. The logo has lotus with seven petals.

2. The seven petals of the logo represent

seven continents.

Select the correct answer using the code given
below —

Code-
A. Only1

B. Only 2
C. Both1land?2
D. Neitherlnor2

82. Which of the following Scorpene Class
Submarines was commissioned into Indian Navy
in January, 2023?

A. INS Vela

B. INS Vagir
C. INS Kalvari
D. INS Karanj

83. In December, 2022 New Zealand passed the
world's first Law to ban smoking for next

-
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generation. New Zealand's goal is to be "smoke-
free' by ...ooovevniiiiiiiiininn

A. 2024
B. 2025
C. 2029
D. 2030

84. Plane of which Airline crashed in Nepal in
January, 2023?

A. Nepal Airline
B. Buddha Airline
C. Tara Airline
D. Yeti Airline

85. Who among the following has authored the
book "Spare"?

A. Prince Harry
B. Prince Williams
C. Prince Phillip
D. King Charles

86. With reference to the Pope Benedict XVI, who
died recently, which of the following statement/s
is/are correct?

1. He was a native of Germany.

2. He was the first Pope to resign in 600
years.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2
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which of the following statement/s is/are correct?

1. The SCO Film Festival is being held
during India's Presidency of the
Shanghai Cooperation Organisation.

2. SCO Film Festival will showcase the
films from the SCO countries.

below —
Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

2023?
A. Jacinda Ardern

B. Chris Hipkins
C. Cindy Kiro

D. Carmel Sepuloni

is not included as the venue for 11 meetings of 200
sessions of G-20 during India's Presidency of the

grouping?
A. Agra

B. Varanasi

C. Kanpur
D. Greater Noida

90. Given below are two statements, one is
labelled as Assertion (A) and other as Reason (R) :

87. With reference to the SCO Film Festival-2023,

Select the correct answer using the code given

88. Who among the following has been named as
the Prime Minister of New Zealand in January,

89. Which of the following cities of Uttar Pradesh

~N
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Assertion (A) - 12 Cheetahs arrived from South
Africa to India in February, 2023.

Reason (R) - Restoring Cheetah population is
considered to be a priority for India. Select the
correct answer using the code given below —

Code -
A. Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true but (R) is not
correct explanation of (A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true

91. With reference to the Deakin University,
which of the following statement/s is/are correct?

1. It will be the first Foreign University to
enter India as an independent campus.

2. Itis being set up in Maharashtra.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 and 2

92. Which Indian origin businessman has been
elected as Mayor of London Borough of
Southwark for the second time?

A. Sam Dalton

B. Sunil Chopra
C. Gautam Adani
D. Neeraj Patil
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93. On 25t December, 2022, which of the
following countries extended mandatory Military

Services for one year to those males who were
born after 01 January, 2005?

A. Myanmar
B. Taiwan

C. Sri Lanka
D. Afghanistan

94. Among the following, which country has
declared to remove the British Monarchy from its
Central Bank Currency Notes on 2 February, 2023?

A. Canada
B. Australia
C. Sri Lanka
D. Nepal

95. On which of the following, proved charges the
Finance Minister Nadhim Zahawi was sacked
from the Government in February, 2023 by the
British P.M. Rishi Sunak?

A. Disclosure of Secrecy
B. Sex Scandal
C. Tax Scandal

D. None of these

96. Which of the following elements is not a Noble
gas?

A. Argon
B. Krypton
C. Radon

D. Actinium

97. Which of the following hormones is secreted
by the Beta cell of Islet of Langerhans of Pancreas?

N
o T.me/Sleepy Classes

B. Insulin
C. Adrenalin

D. Aldosterone

98. Which type of vaccine protect against
Diphtheria?

A. Toxoid
B. Live-attenuated
C. mRNA
D.

Viral Vector

99. Which of the following is mRNA vaccine used
against Covid-19 infection?

A. Sinovac
B. Moderna
C. Sputnik

D. Novavax

100. Which of the following factor is the most
important factor for the lost of biodiversity?

A. Genetic assimilation

B. Control of predators

C. Destruction of Natural Habitat
D.

Pest control natural habitat

101. The Xylem in plants is responsible for
transporting -

A. Water

B. Amino Acid
C. Oxygen

D. Food

102. Non-conventional energy sources are those
energy sources, that are -

A. Glucagan
- J
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A. Non-renewable
B. Renewable
C. Produced from electricity

D. Produced from heat

103.Biological Oxygen Demand (BOD) is a
standard criteria for

A. Pollution assay in aquatic ecosystems

B. Assaying 02 level in high altitude
regions

C. Measuring 02 level in blood

D. Computing 02 level in forest
ecosystems

104. The aquatic plant commonly used as bio
fertilizer in the water-logged rice field is -

A. Lemna
B. Azolla
C. Wolfia

D. Trapa

105. Which of the following is known as laughing
gas?

A. Ammonia

B. Nitrous Oxide

C. Carbon Monoxide
D. Chlorofluro Carbon

106. Seaweeds are important source of

A. Todine

B. Bromine

~
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107. Which of the following is an insectivorous
plant?

A. Nyctanthe

B. Nelumbo
C. Nicotiana

D. Neperithes

108. Human heart is made up of how many
chambers?

A. Only four
B. Only one
C. Only three
D. Only two

109. What was India's rank in the world
greenhouse gases emission in 2022?

A. 9th
B. 10th
C. 11th
D. 12th

110. A geographical unit that collects, stores and
release water is called -

A. Watershed
B. Waste land
C. Wet land

D. Water reserve

111. When did the Water (Prevention and Control
of Pollution) Act was enacted in which of the
following year?

C. Chlorine A. 1974

D. Argon B. 1975
- J
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113. First National Centre for Marine Biodiversity
(NCMB) of India is situated at -

A. Munibai
B. Jamnagar
C. Bhavnagar
D. Puducherry

114. Which among the following is a constituent
of natural silk?

A. Phosphorus
B. Nitrogen
C. Magnesium

D. Potassium

115. Desert dwelling animals are called-

A. Arboreal animals
B. Terrestrial animals
C. Fossorial animals

D. Xericoles animals

116. Match list-I with list-II and select the correct
answer using code given below —

(" A
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C. 1976 (A) Peptic ulcers (1) Virus
D. 1977 (B) Dengue (2) Protozoa
(C) Elephant Foot (3) Worm
112. Example of Lotic ecosystem is (D) Malaria (4) Bacteria
A. Swamps Code -
B. Ponds A. A-(4), B-(2), C-(3), D-(1)
C. Rivers B. A-(4), B-(1), C-(3), D-(2)
D. Marshy area C. A-Q), B-(4), C-(2), D-(1)
D. A-(2), B-(3), C-(4), D-(1)

117. Trophic levels are formed by-

A. Organisms linked in food chain
B. Plants only
C. Animals only

D. Carnivorous animals only

118. In National Parks, Genetic diversity is
maintained by-

A. In-situ conservation
B. Ex-situ conservation
C. Genepool

D. None of the above

119. Hangul-deer is found in which part of India?
A. In Kerala

B. In Assam
C. In Rajasthan

D. In Jammu and Kashmir

120. Which of the following is not a biodegradable
polluter?

List - I List - II A. Domestic waste
(Diseases) (Factors) B. Urine
- J
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C. Faecal matter

D. Pesticide

the total outlay in the Union Budget 2023-24?
A. Interest payment (20%)

B. State share of taxes and duties (18%)
C. Defence (8%)
D. Subsidies (9%)

answer using code given below the lists

121. Which one of the following is not true about

122. Match list-I with list-II and select the correct

List-I List-II
(Theories of | (Propounders of
Population) Theories)
Optimum Population | Thompson
Theory
Social Mal- | Malthus
adjustment Theory
Demographic Edwin Kennan
Transition Theory
Population-Food Henry George
Supply Relationship
Theory
Code -

A. A-(3), B-(4), C-(1), D-(2)

B. A-(2), B-(3), C-(4), D-(1)

C. A-(1), B-(2), C-(3), D-(4)

D. A-(4), B-(3), C-(1), D-(2)

123. What do we call balancing the need to use
resources and also conserve them for the future?

A. Resource conservation

B. Sustainable development

~
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D. Reducing consumption

C. Future resources

124. Which of the following is not a sustainable
development goal targeted to be achieved by
2030?

A. Gender Equality

B. Zero Hunger

C. Good health and well being
D. Space Research

125. Given below are two statements, one is
labelled as Assertion (A) and other as Reason (R)-

Assertion (A) - Population control is necessary to
maintain the environment of the

country.

Reason (R) - Due to the rapid increase in
population, the environmental balance is
maintained.

Select the correct answer using the code given
below —

Code -
A. Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true but (R) is not
correct explanationof(A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true

126. What is the theme of the International Day for
the Eradication of Poverty for 2022-23?

A. "Acting together to empower children,
their families and communities to end
poverty."

B. "Dignity for all in practice."

C. "Accelerating global actions for a
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2. Effects of population growth in
economic development.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1land?2
D. Neither 1 nor 2

128. When was the Census work done for first
time in India?

A. In the year

B. In the year 1861
C. In the year 1871
D. In the year 1881

129. Match list-I with list-II and select the correct
answer using the code given below the lists —

~
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world without poverty. SDG - 14 Reduced inequalities
D. "Coming together to end poverty and
discrimination.” SDG - 15 Life below water
1scrimination.
Code -
127. Role of Human Resources in Economic A. A-(1), B-(2), C-(3), D-(4)
flevelopment, which of the following statement/s B. A-(2), B-(3), C-(1), D-(4)
is/are correct?
1. Effects of economic development on C. A-(3), B-(2), C-(4), D-()
population growth. D. A-(3), B-(1), C-(4), D-(2)

130. Who authored the book "The Challenge of
World Poverty"?

A. Adam Smith
B. Gunnar Mydral
C. Amartya Sen

D. Jean Dreze

131. Which one of the following is the main
objective of Janani Suraksha Yojana?

A. Reduction in maternal mortality rate
only

B. Reduction in nec-natal mortality rate
only

C. Reduction in infant mortality rate only

D. Reduction in maternal and neo-natal
mortality rate

132.The"Agenda —21"ofRio
isrelated to -

Summit, 1992

List I| List-I (Related With) A. Sustainable Development
(Sustainable
Development B. Polluter —Pays development principle
Goal
oa) C. Environmental education
SDG -10 Climate Action D. Preservation of ozone layer
SDG -13 Life on Land
133. Consider the following statements about
- J
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sustainable development-

1. Based on the global indicator
framework and data produced by
National Statistical Systems and
information collected at regional level,
the United Nations Secretary General
presents an Annual Sustainable
Development Goal Report.

2. Global
Report is produced to inform the

Sustainable = Development

quadrennial sustainable development
goal review deliberations at the U.N.
General Assembly once every quarter.

Select the correct answer using the code given
below-

Code-
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

134. With reference to the Human Development
Report, 2021-22, which of the following statement
is/are correct?

1. India's rank on the Human

Development Index has upgraded
from 130 in 2020 to 132 in 2022.

2. India's rank on the Human

Development Index has stipped from
130 in 2020 to 132 in 2022.

Select the correct answer using the code given
below-

Code-
A. Only 1

B. Only 2
C. Both1and?2

~N
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D. Neither 1 nor 2

135. Natural resources should be used by the
present generation in such a way that if there is
minimum degradation of natural resources, then
what kind of development would it be called?

A. Economic Development
B. Social Development
C. Sustainable Development

D. Organic Development

136. With reference to 'PM Gati Shakti Scheme',
which of the following statement/s is/are correct?

1. The PM Gati Shakti Scheme-National
Plan was launched in 2022.

2. The PM Gati Shakti Scheme pertains to
seven engines (Roads, Railways,
Airports, Ports, Mass Transport,
Waterways, Logistics Infrastructure).
NIP will be aligned with PM Gati
Shakti Framework.

Select the correct answer from the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

137. Which of the following is not an economic
activity?

A. Farming
B. Service
C. Voluntary Social Service

D. Transport
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138. With reference to the scheme wise allocation
in the 2023-24 Union Budget, which of the
following statement/s is/are correct?

1. Compared to the previous year,
highest percentage of decline has been
recorded in the allocation for
MGNREGA.

2. Compared to the previous year,
highest percentage of growth has been
recorded in the allocation for Jal Jeevan
Mission.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1land?2
D. Neither 1 and 2

139. By which year the target of population
stability has been fixed in India?

A. Year 2045
B. Year 2070
C. Year 2075
D. Year 2080

140. Which statement is true for Finance Sector
(Fiscal Management) in the Union Budget-2023?

A. Twenty years interest free loans to
states.

B. Fiscal Deficit of 3.5% of GSDP allowed
for states.

C. Fiscal Deficit 2025-26, the target is to be
below 5.5%.

D. Budget estimates 2023-24 for total

-
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expenditure is 55 lakh Cr.

141. According to Economic Survey 2023 about
services, which statement among the following is
not correct?

A. Credit growth to services is above 16 %
since July, 2022.

B. 75 digital banking units announced for
transforming financial services.

C. Fashion,
merchandise will be captured nearly

grocery and  general

two-third of the Indian e-commerce
market by 2030.

D. PM.I services witnessed strongest
expansion since July, 2022.

142. Which of the following is/are the type/s of
poverty?
1. Absolute poverty

2. Relative poverty
3. Subjective poverty
4. Functional poverty

Choose the correct answer using the code given
below —

A. Only 1 and 2
B. Only1,2and3
C. Only 3 and 4
D. Only 1 and 4

143. Which of the following (Scheme - Year) is not
correctly matched?

A. Deen Dayal Upadhyay Gramin
Kaushalya Yojana 2014

B. Rural Housing Interest Subsidy
Scheme - 2017
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C. Shyama Prasad Mukherj' Rurban
Mission- 2015

D. Sansad Adarsh Gram Yojana - 2014

144. Which of the following scheme/s is/are
related to Uttar Pradesh?

1. Anuthee Uphar Scheme

2. Matra Shakti Udyamita Scheme
3. Kaushalya Matritva Scheme

4. Stree Nidhi Scheme

Select the correct answer using the code given
below —

Code-
A. Only 1

B. Only 2
C. Both2and 3
D. 2,3and 4

145. Which of the following Scheme/Programme
not the Central Government Programme and it is
Uttar Pradesh Government's Programme?

A. MGNREGA
B. Gramin Swasthya Mission

C. Ganga Expressway
D. Pt. Nehru Utkarsh Mission

146. Who has written the book "From Dependence
to Self Reliance"?

A. V. Venugopal Reddy

B. Rangrajan

~
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147. Which of the following is known as "World
Wetlands Day"?

A. 10 January
B. 15 January
C. 1 February
D. 2 February

148. World Social Protection Report is published
by -

A. World Bank
B. World Health Organization
C. International Labour

D. World Economics Forum Organization

149. In which year, "Mid-day Meal Scheme" was
renamed as "P.M. Poshan Scheme"?

A. 2018
B. 2019
C. 2020
D. 2021

150. Which of the following (Union Budget
Departments 2023-24 — Allocation amount
approx. ) is correctly matched?

A. Ministry of Health — Rs 89,155 Crore

B. Dept. of Health and Family Welfare —
Rs 80,000 Crore

C. Dept. of Health Research — Rs 9,155
Crore

D. Pradhan Mantri Jan Arogya Yojana —

. Rs 5,000 Crore
C. Raghuram Rajan
D. Bimal Jalan
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1 C 21 B 11 B 61 C 81 C
2 B 22 B 42 C 62 B 82 B
3 D 23 A 43 D 63 C 83 B
4 B 24 C 44 C 64 D 84 D
5 A 25 A 45 B 65 B 85 A
6 C 26 D 46 B 66 C 86 C
7 C 27 A 47 D 67 A 87 C
8 C 28 B 48 D 68 B 88 B
9 B 29 C 49 D 69 C 89 C
10 D 30 C 50 D 70 A 90 A
11 A 31 D 51 A 71 D 91 A
12 A 32 A 52 C 72 B 92 B
13 C 33 A 53 A 73 A 93 B
14 C 34 C 54 D 74 A 94 B
15 C 35 D 55 A 75 B 95 C
16 B 36 C 56 B 76 B 96 D
17 B 37 A 57 C 77 C 97 B
18 A 38 D 58 A 78 B 98 A
19 C 39 C 59 B 79 B 99 B
20 C 40 D 60 B 80 A 100 C
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101 A 121 D 141 C
102 B 122 A 142 B
103 A 123 B 143 C
104 B 124 D 144 A
105 B 125 C 145 C
106 A 126 B 146 D
107 D 127 C 147 D
108 A 128 C 148 C
109 B 129 D 149 D
110 A 130 B 150 A
111 A 131 D
112 C 132 A
113 B 133 A
114 B 134 B
115 D 135 C
116 B 136 B
117 A 137 C
118 A 138 A
119 D 139 B
120 D 140 B
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Answers with Explanations
1. Which among the following (Provision — Part Article 79 of the Constitution of India,
of the Constitution) is not correctly matched? the council of the Parliament of the
A. The Union Territories — Part VIII Union consists of the President and
B. The Scheduled and Tribal Areas — two Houses known as the Council of
States (Rajya Sabha) and the House of
Part X
the People (Lok Sabha).

C. Tribunals — Part XI
o Article 74(1) of the Constitution

D. Official Language — Part XVII provides that there shall be a Council

Answer: C of Ministers with the Prime Minister as
Explanation: its head to aid and advise the

e The 49nd Amendment Act introduced President, who shall exercise his/her

.. . . functions in accordance to the advice.
these provisions in accordance with

) The real executive power is thus vested
the recommendations of the Swaran ) ) o )

) i in the Council of Ministers with the
Singh Committee. ) o )
Prime Minister as its head.

e The Amendment introduced Part

XIV-A to the Constitution and PARTS OF INDIAN CONSTITUTION
consists of two Articles namely
PART SUBJECT ARTICLES
Artlcle 323A and 3233- Thls Part 1S Part [ The Union and its territory A- 1104
] ] ] ] o Part 11 Citizenship A-5to 11
Called Trlbunals * Hence, Optlon’ ( Part Il | Fundamental Rights A-12 10 35
C) is incorrectly matched. Part IV Directive Principles A-361051
Part IVA | Fundamental Duties (42"‘] Amendment Act, 1976) A-51A
PR . .o Part V The Union A- 5210 151
Addltlonal Informatlon. Part VI The States A- 15210 237

Part VII Repealed by Const. (7th Amendment) Act, 1956) It was about Part B states.

e Constitution of India, India, also

Part VIII | The Union Territories A-239 to 242
known as Bharat, iS a Union Of States. Part 1X Ihe l’anc.hu.yal:\‘ .175' A"x‘ncndmcm Act, 1992) A- 243 10 2430
Part IXA | The Municipalities (74" Amendment Act, 1992) A- 243P 10 243Z2G
It is a Sovereign Socialist Secular Part IXB | Co-operative Societies (97" Amendment Act, 2011) A- 243ZH t0 243ZT
. . . Part X The Scheduled and Tribal Areas A- 244 10 244A
DemOCI'ath RepLIbllC Wlth a Part X1 Relations between the Union and the States A- 245 10 263
. Part XI1 Finance, Property, Contracts and Suits A- 264 10 300A
parllamentary SYStem Of government' Part XIII | Trade, Commerce and Intercourse within the Territory of India A- 301 10 307
The Republic iS governed in termS Of Part XIV | Services under the Union and the States A- 308 1o 323
Part XIVA | Tribunals (42* Amendment Act, 1976) A-323A 10 323B
the Constitution of India which was Part XV_ | Blctions A 324 10 329
. Part XVI | Special provisions relation to certain classes A- 330 1o 342
adopted by the Constituent Assembly Part XVII_|Offcial Lunguage 30351
. Part XVIII | Emergency Provisions A- 352 10 360
on 26th November/ 1949 and came lnto Part XIX [ Miscellaneous A- 361 10 367
force on 26th ]’anuary’ 1950' Part XX | Amendment of thgj F‘«)nslilulin\n : : A- 368
Part XXI | Temporary, Transitional and Special Provisions A- 369 10 392

Part XXII | Short title, commencement, authoritative text in Hindi and repeals  |A- 393 to 395

e The Constitution provides for a
Parliamentary form of government

which is federal in structure with
certain  unitary  features. = The
constitutional head of the Executive of
the Union is the President. As per
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2. Match list-I with list-li and select the correct 2.
answer using the code given below the lists

List -1 List - II

Article - 324 | National Commission for
Schedule Castes

Article - 315 | Finance Commission

Article - 280 Public Service Commission

Article - 338 | Election Commission

Code -
A. A-(3), B-(2), C-(4), D-(1)
B. A-(4), B-(3), C-(2), D-(1)
C. A-(3), B-(2), C-(1), D-(4)
D. A-(1), B-(3), C-(4), D-(2)

Answer: B

Explanation:

324. Superintendence, direction and control of
elections to be vested in an Election Commission

e The superintendence, direction and
control of the preparation of the
electoral rolls for, and the conduct of,
all elections to Parliament and to the
Legislature of every State and of
elections to the offices of President and
Vice-President held wunder this
Constitution shall be vested in a
Commission (referred to in this
Constitution as the Election
Commission).

e The Election Commission shall consist
of the Chief Election Commissioner
and such number of other Election
Commissioners, if any, as the President
may from time to time fix and the
appointment of the Chief Election
Commissioner and other Election

~N
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Commissioners shall, subject to the

provisions of any law made in that

behalf by Parliament, be made by the
President.

Article-315. Public Service Commissions for the
Union and for the States.

Subject to the provisions of this article,
there shall be a Public Service
Commission for the Union and a
Public Service Commission for each
State.

Two or more States may agree that
there shall be one Public Service
Commission for that group of States,
and if a resolution to that effect is
passed by the House or, where there
are two Houses, by each House of the
Legislature of each of those States,
Parliament may by law provide for the
appointment of a Joint State Public
Service Commission (referred to in this
Chapter as Joint Commission) to serve
the needs of those States.

Article:- 280(1) The President shall,
within two  years from the
commencement of this Constitution
and thereafter at the expiration of
every fifth year or at such earlier time
as the President considers necessary,
by order constitute a Finance
Commission which shall consist of a
Chairman and four other members to
be appointed by the President.

338. National Commission for Scheduled Castes

There shall be a Commission for the
Scheduled Castes to be known as the

National Commission  for the
Scheduled Castes.

Subject to the provisions of any law
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made in this behalf by Parliament, the
Commission shall consist of a
Chairperson, Vice-Chairperson and
three other Members and the
conditions of service and tenure of
office of the Chairperson, Vice-
Chairperson and other Members so
appointed shall be such as the
President may by rule determine.

e The Chairperson, Vice-Chairperson
and other Members of the Commission
shall be appointed by the President by
warrant under his hand and seal.

e The Commission shall have the power
to regulate its own procedure.

3. Consider the following events and arrange
these in correct chronological order starting from
the earliest to the last activity —

1. Appointment of the  Drafting

Committee

2. Indian Constitution was adopted and
enacted

3. Date of commencement of Indian
Constitution

4. Constitution Assembly first met

Select the correct answer from the code given
below —

Code -
AL IL L IV
B. IV, 1L, II
C. LII, IV,
D. IV, L1, III
Answer: D

Explanation:

The Constituent Assembly was brought into
being to draft a constitution for India.

-

~
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IV- The Constituent Assembly met for the first
time on 9th Dec 1946.

e Sri Rajendra Prasad was elected as
President of the Assembly on 11th Dec
1946.

e The Constitution was drafted from Dec
1946 to Nov 1949. Drafting of the
Constitution had taken place in five
stages viz.,

o Objectives  Resolution and

reports of the Committees;

o First Draft of Constitution of
India prepared by Sri B.N. Rau,
Advisor  of

Constituent Assembly;

Constitutional

o Revised Draft prepared by
Drafting Committee under the
Chairmanship of Dr. B.R.
Ambedkar;

o Debates on the Revised Draft
Constitution and Amendments
to this Draft Constitution, in the
Constituent Assembly; and

o Adoption of Constitution of
India.

e It started with the “Objectives
Resolution” drafted by Jawaharlal
Nehru and it was moved by him in the
Constituent Assembly on 13th Dec
1946. It laid down the underlying
principles of the Constitution. It was
debated and unanimously adopted in
the Assembly on 22nd Jan 1947.

e Later, this Objectives Resolution
constituted the Preamble of the
Constitution of India.  Advisory

Committee on Fundamental Rights,

Minorities, etc., was appointed on 24th

J
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Jan 1947 and subsequently other
committees were formed to submit the
reports on different aspects of the
Constitution.

Based on the reports submitted by
these committees to the Constituent
Assembly, B.N. Rau, Constitutional
Advisor of the Constituent Assembly
prepared the First Draft containing 243
Articles and 13 Schedules.

On 29th Aug 1947 a 7-Member
Drafting Committee was appointed to
scrutinize the Draft Constitution
prepared by B.N. Rau, Constitutional
Advisor. The Drafting Committee
with Dr. B R. Ambedkar as its
Chairman, prepared a revised draft

containing 315 Articles and 8

Schedules.

This Draft was published on 26th Feb
1948 by Constituent Assembly for
public discussion, comments and
suggestions.

The Draft Constitution had been before
the public for 8 months. The Draft
Constitution containing 315 articles
and 8 Schedules was moved on 4th
Nov 1948 in the Assembly for
Consideration.

From 4th Nov 1948 debates took place
and Amendments to the Draft were
moved by the members in the
Assembly.

The final Draft with 395 articles and 8
Schedules was adopted in the
Constituent Assembly on 26th Nov
1949.

The Republic is governed in terms of
the Constitution of India which was

~N
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adopted by the Constituent Assembly

on 26th November, 1949 and came
into force on 26th January, 1950.

4. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) —

Assertion (A) — The President can recommend to
the Parliament to change the boundary of any state
after seeking views of the concerned Legislature of
that state on the subject within specified period.

Reason (R) — It is not mandatory for the President
to accept the proposal of the concerned State
Legislature.

Select the correct answer using the code given
below-
A. Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true but (R) is not
correct explanation of (A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true
Answer: B

Explanation:

Article:-3. Formation of new States and alteration
of areas, boundaries or names of existing States

Parliament may by law-

e Form a new State by separation of
territory from any State or by uniting
two or more States or parts of States or
by uniting any territory to a part of any
State;

e increase the area of any State;

e diminish the area of any State;

e alter the boundaries of any State;
e alter the name of any State;

Provided that no Bill for the purpose shall be
introduced in either House of Parliament except on
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the recommendation of the President and unless,
where the proposal contained in the B ill affects the
area, boundaries or name of any of the States , the
Bill has been referred by the President to the
Legislature of that State for expressing its views
thereon within such period as may be specified in
the reference or within such further period as the
President may allow and the period so specified or
allowed has expired

5. With reference of the election of the Vice -
President of India, which is declared void by the
Supreme Court of India, which of the following
statement/s is/are correct?
1. The acts done by him as Vice —
President before such declaration are
considered valid.

2. The acts done by him as Vice —
President on the day of such
declaration are not considered

Select the correct answer from the code given
below -

Code -
A. Only 1

B. Only 2
C. Both1land?2
D. Neither 1 nor 2

Answer: A
Explanation:

Article:-71. Matters relating to, or connected with,
the election of a President or Vice-President.
e All doubts and disputes arising out of
or in connection with the election of a
President or Vice-President shall be
inquired into and decided by the
Supreme Court whose decision shall
be final.

o If the election of a person as President
or Vice-President is declared void by

-
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the Supreme Court, acts done by him
in the exercise and performance of the
powers and duties of the office of
President or Vice-President, as the
case may be, on or before the date of
the decision of the Supreme Court
shall not be invalidated by reason of
that declaration.

e Hence, Statement:-1 is correct and
Statement:-2 is incorrect.

e Subject to the provisions of this
Constitution, Parliament may by law
regulate any matter relating to or
connected with the election of a
President or Vice-President.

e The election of a person as President or
Vice-President shall not be called in
question on the ground of the existence
of any vacancy for whatever reason
among the members of the electoral
college electing him.

6. Who among the following is the first women
Speaker in Lok Sabha?

A. Pratibha Patil
B. Urmila Singh
C. Meira Kumar
D. Sushma Swaraj

Answer: C
Explanation:

e Meira Kumar (born 31 March 1945) is
an Indian politician and former
diplomat. She served as the 15th
Speaker of Lok Sabha from 2009 to
2014, being the first woman to hold
the post. Hence, Option:- ( C) is
correct.

e Prathibha Devisingh Patil (born 19
J
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president of India.

e Urmila Singh (6 August 1946 - 29 May
2018) was an Indian politician who
served as the Governor of Himachal

Pradesh from 25 January 2010 to ¢
January 2015.
e Sushma Swaraj (14 February 1952 - 6 3

August 2019) was an Indian lawyer
and politician, who served as the
Minister of External Affairs of from
2014 to 2019. She was the second
person to complete a 5-year term as the
Minister of External Affairs, after
Jawaharlal Nehru. Swaraj was the
second woman to hold the office of
Minister of External Affairs, after
Indira Gandhi. She was elected seven
times as a Member of Parliament and
three times as a Member of the
Legislative Assembly. At the age of 25
in 1977, she became the youngest
cabinet minister of the Indian state of
Haryana. She also served as 5th Chief
Minister of Delhi for a short duration
in 1998 and became the first female
Chief Minister of Delhi.

Additional Information: -

Article:-93. The Speaker and Deputy Speaker of the
House of the People

The House of the People shall, as soon as may be, °
choose two members of the House to be
respectively Speaker and Deputy Speaker thereof
and, so often as the office of Speaker or Deputy

( )
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December 1934) is an Indian politician The Speaker of the Lok Sabha is the highest
and lawyer who served as the 12th authority in the lower house of the Parliament of
president of India from 2007 to 2012. India, the Lok Sabha.
She was the first woman to become the e Presiding over the proceedings of the

Lok Sabha: The Speaker is responsible
for chairing the sessions of the Lok
Sabha and ensuring that the debates
and discussions are conducted in an
orderly and respectful manner.

The Speaker has the authority to rule on
points of order and to enforce the rules
of the parliament.

Acting as a spokesperson for the Lok
Sabha: The Speaker is often called upon
to represent the Lok Sabha and to speak
on behalf of the Lok Sabha in public or
at international events.

Maintaining the impartiality of the Lok
Sabha: The Speaker is expected to be
neutral and unbiased in discharging his
or her duties, and to ensure that all
members of the Lok Sabha are treated
fairly and equally.

Ensuring the transparency and
accountability of the Lok Sabha: The
Speaker is responsible for ensuring that
the proceedings of the Lok Sabha are
open and transparent and that the
public has access to information about
the work of the Lok Sabha.

Playing a key role in the legislative
process: The Speaker has a number of
duties related to the passage of
legislation, including assigning bills to
committees, deciding on the order in
which bills are considered, and
certifying the final text of bills before
they are presented to the President for
assent.

Representing the Lok Sabha in its
relations with other parliamentary
bodies and institutions.

Speaker becomes vacant, the House shall choose

as the case may be.

another member to be Speaker or Deputy Speaker, 7. Which one of the following pairs (Schedule
Subjects) is not correctly matched?

- J
30 Available on App Store www.sleepyclasses.com
and Play Store Call 1800-890-3043


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-

&

SleepyClassesIAS
Awakening Toppers

N
o T.me/Sleepy Classes

A. Third Schedule — Forms of Oaths or o Although Article 31B excludes judicial

Affirmations review, the Supreme court has said in the
. past that even laws under the Ninth

B. Eight Schedule — Languages Schedule would be open to scrutiny if they

C. Ninth Schedule — Allocation of seats violated Fundamental Rights or the basic
in the Council of States structure of the Constitution.

D. Tenth Schedule — Provisions as to Schedules |Features
disqualification on ground of defection

Answer: C 1st The list of states and union
Schedule |territories.
Explanation:

Originally, there were eight schedules in the Provisions of the President,
Indian Constitution. Later, four more schedules, Governors of States, Speaker and the
i.e., the 9th, 10th, 11th, and 12th Schedules were Deputy Speaker of the House of the

added through the 1st, 52nd, 73rd, and 74th People
Constitutional Amendments, respectively. and the Chairman and the Deputy
NINTH SCHEDULE: Chairman of the Council of States
) ) and the Speaker and the Deputy
¢ The Schedule .contams a list of central ar.ld Speaker of the Legislative Assembly
state laws which cannot be challen.ged. in 2nd and the Chairman and the Deputy
co.urts and was added by the Constitution Schedule Chairman of the Legislative Council
(First Amendment) Act, 1951. Hence, of a State
Option:- ( C) is incorrectly matched. and the Judges of the Supreme Court

o The first Amendment added 13 laws to the and of the High Courts and the
Schedule. Subsequent amendments in Comptroller
various years have taken the number of and Auditor-General of India the list
protected laws to 284 currently. of states and union territories and

o It was created by the new Article 31B, which their territories.
along with Article 31A was brought in by
the government to protect laws related to 3rd The Forms of Oaths or Affirmations.
agrarian reform and for abolishing the Schedule
Zamindari system.

e While Article 31A extends protection to gfﬁe dule lsjsgt‘:iS;O;se éf)utrcl)ciﬁl)(} Sa}[g;csatlon of
‘classes’ of laws, Article 31B shields specific '
laws or enactments.

‘ Provisions as to the Administration

e While most of the law§ protected under the 5th and Control of Scheduled Areas and
Sche‘du¥e concern agrlcul‘ture/ land issues, Schedule Scheduled Tribes.
the list includes other subjects.

o Article 31B also has a retrospective Provisions as to the Administration
operation which means that if laws are 6th of Tribal Areas in the States of
inserted in the Ninth Schedule after they are Schedule |Assam, Meghalaya, Tripura and
declared  unconstitutional, they are Mizoram.
considered to have been in the Schedule
since their commencement, and thus valid.
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7th The Union list, State list and the
Schedule |concurrent list.

8th ) :
Schedule The list of recognized languages.
9th Provisions as to validation of certain

Schedule |Acts and Regulations.

10th Provisions as to disqualification on
Schedule |grounds of defection.

11th The powers, authority and
Schedule |responsibilities of Panchayats. .
12th The powers, authority and *

Schedule |responsibilities of Municipalities.

8. The Constitution of India initially permitted
the use of English language for all official
purposes for a period of -

A. 5years
B. 10 years
C. 15 years

D. 20 years

Answer: C
Explanation:
Article 343. Official language of the Union-

e The official language of the Union shall
be Hindi in Devnagari script. The form
of numerals to be used for the official
purposes of the Union shall be the
international form of Indian numerals.

e Notwithstanding anything in clause
(1), for a period of fifteen years from
the commencement of this .

Constitution, the English language
shall continue to be used for all the

Article 120: Language to be used in Parliament -

~
@Sleepy ClassesIAS
Awakening Toppers
official purposes of the Union for

which it was being used immediately
before such commencement:

o Provided that the President
may, during the said period, by
order authorise the use of the

Hindi language in addition to the
English language and of the
Devnagari form of numerals in
addition to the inter-national form of
Indian numerals for any of the
official purposes of the Union.

Hence, Option:- ( C) is correct.

Notwithstanding anything in this
article, Parliament may be law provide
for the use, after the said period of
fifteen years, of-

o the English language, or

o the Devnagari form  of
numerals, for such purposes as
may be specified in the law.

Notwithstanding anything in part
XVII, but subject to the provisions of
article 348, business in Parliament shall
be transacted in Hindi or in English:

o Provided that the Chairman of
the Council of States or Speaker
of the House of the People, or
person acting as such, as the
case may be, may permit any
member who cannot adequately
express himself in Hindi or in
English to address the House in
his mother-tongue.

Unless Parliament by law otherwise
provides, this article shall, after the
expiration of a period of fifteen years
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from the commencement of this
Constitution, have effect as if the
words “or in English” were omitted
there from.

9. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) —

Assertion (A) — The President is a part of the
Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become a law without the
assent of the President.

Select the correct answer using the code given
below -
A. Both (A) and (R) are true but (R) is not
correct explanation of (A)

B. Both (A) and (R) are true and (R) is
correct explanation of (A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true

Answer: B
Explanation:

e According to Article 79 of the
Constitution of India, the Parliament
consists of President of India and the
two Houses of Parliament known as
Council of States (Rajya Sabha) and
House of the People (Lok Sabha).

e All legislative proposals have to be
brought in the form of Bills before
Parliament. A Bill is a statute in draft
and cannot become law unless it has
received the approval of both the
Houses of Parliament and the assent of
the President of India.

Hence, Both (A) and (R) are true and (R) is correct
explanation of (A)

e Article:-111- When a Bill has been
passed by the Houses of Parliament, it

~
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the President shall declare either that

he assents to the Bill, or that he
withholds assent therefrom:

o Provided that the President
may, as soon as possible after
the presentation to him of a Bill
for assent, return the Bill if it is
not a Money Bill to the Houses
with a message requesting that
they will reconsider the Bill or
any specified provisions thereof
and, in particular, will consider
the desirability of introducing
any such amendments as he
may recommend in  his
message, and when a Bill is so
returned, the Houses shall
reconsider the Bill accordingly,
and if the Bill is passed again by
the Houses with or without
amendment and presented to
the President for assent, the
President shall not withhold
assent therefrom.

10. With reference to Union Finance Commission,
which of the following statement/s is/are correct?

1. Finance Commission has a Chairman
and six members.

2. It submits its report to the NITI Aayog.

Select the correct answer using the code given
below —

Code-
A. Only 2

B. Both1and?2
C. Only1
D. Neither 1 nor 2

shall be presented to the President, and Answer: D
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Explanation:

280. Finance Commission

The President shall, within two years
from the commencement of this
Constitution and thereafter at the
expiration of every fifth year or at
such earlier, time as the President
considers necessary, by order
constitute a Finance Commission
which shall consist of a Chairman and
four other members to be appointed
by the President. Hence, Statement:- 1
is incorrect.

Parliament may by law determine the
qualifications which shall be requisite
for appointment as members of the
Commission and the manner in which

they shall be selected.

It shall be the duty of the Commission
to make recommendations to the
President as to--

o the distribution between the
Union and the Stales of the net
proceeds of taxes which are to
be, or may be, divided between
them under this Chapter and
the allocation between the
States of the respective shares of
such proceeds;

o the principles which should
govern the grants-in-aid of the
revenues of the States out of the
Consolidated Fund of India;

= the measures needed to
augment the
Consolidated Fund of a
State to supplement the
resources of the
Panchayats in the State

Hence, Statement:- 2 is incorrect.
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on the basis of the

recommendations made

by the Finance
Commission of the State;

o the measures needed to
augment the Consolidated
Fund of a State to supplement
the resources of the
Municipalities in the State on
the basis of the
recommendations made by the
Finance Commission of the
State;

any other matter referred to the
Commission by the President in the
interests of sound finance.

The Commission shall determine their
procedure and shall have such powers
in the performance of their functions as
Parliament may by law confer on them.

The Finance Commission submits its
report to the President of India.

The President of India lays the report of
the Finance Commission before both
Houses of Parliament along with an
explanatory memorandum as to the
action taken on its recommendations.

11. Consider the following statements concerning
the powers of the Supreme Court to issue certain
writs to stop violation of Fundamental Rights —

1. The Supreme Court has power to issue

writs like Habeas Corpus, Mandamus,
Prohibition, Quo Warranto and
Certiorari which is appropriate for the
enforcement of Fundamental Rights.

Parliament may by law empower any
other court to exercise within its
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jurisdiction the powers given to Constitution. Hence, Both the
Supreme Court. Statements are correct.

Which of the above-mentioned e Additional Information:- A writ

statement/statements is/are correct?

Select the correct answer from the code given
below —

Code -

A. Both1and 2
B. Only1

C. Only 2

D. Neither 1 nor 2

Answer: A

Explanation:

Article 32, Constitution of India 1950

-

The right to move the Supreme Court
by appropriate proceedings for the
enforcement of the rights conferred by
this Part is guaranteed.

The Supreme Court shall have power
to issue directions or orders or writs,
including writs in the nature of

habeas corpus, mandamus,
prohibition, quo warranto and
certiorari, ~whichever may be

appropriate, for the enforcement of
any of the rights conferred by this
Part.

Without prejudice to the powers
conferred on the Supreme Court by
clauses (1) and (2), Parliament may by
law empower any other court to
exercise within the local limits of its
jurisdiction all or any of the powers
exercisable by the Supreme Court

petition can be termed as a formal
written order issued by a judicial
authority who possesses the authority
to do so. The meaning of the word
‘Writs” means command in writing in
the name of the Court. It is a legal
document issued by the court that
orders a person or entity to perform a
specific act or to cease performing a
specific action or deed. In India, writs
are issued by the Supreme Court
under Article 32 of the Constitution of
India and by the High Court under
Article 226 of the Constitution of India.

Articles 32 and 226 specifically provide
for five kinds of writs:- Habeas
Prohibition,

Quo Warranto and Certiorari which is

Corpus, Mandamus,

appropriate for the enforcement of
Fundamental Rights.

12. With reference to the Attorney General of
India, which of the following statement/s is/are
correct?

1.

A person is appointed as Attorney

General, who is qualified to be
appointed as a Judge of the Supreme

Court.

The Attorney General can be removed
through the same process as the Judges
of the Supreme Court.

Select the correct answer from the code given
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otherwise provided for by this B. Only 2
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C. Both1land2

D. Neither 1 nor 2

Answer: A
Explanation:

e Article:- 76: Attorney- General for
India

e The President shall appoint a person
who is qualified to be appointed a
Judge of the Supreme Court to be
Attorney-General for India. Hence,
Statement:- 1 is correct.

e [t shall be the duty of the Attorney-
General to give advice to the
Government of India upon such legal
matters, and to perform such other
duties of a legal character, as may from
time to time be referred or assigned to
him by the President, and to discharge
the functions conferred on him by or
under this Constitution or any other
law for the time being in force.

e In the performance of his duties the
Attorney-General shall have right of
audience in all courts in the territory of
India.

e The Attorney-General shall hold
office during the pleasure of the
President, and shall receive such
remuneration as the President may
determine.

e Hence, Statement:- 2 is incorrect.

13. With reference to the composition of the

Legislative Council in a state of India, which of
the following statement/s is/are correct?

1. In the Legislative Council there may

not be more than one-third members of

the total membership of the Legislative
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Assembly of that state.

2. The Legislative Council of a state must
have at least forty members in it.

Select the correct answer from the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

Answer: C

Explanation:

Part-VI, Article:- 171

Composition of the Legislative Councils

o The total number of members in the
Legislative Council of a State having
such a Council shall not exceed one
third of the total number of members
in the Legislative Assembly of that
State:

o Provided that the total number
of members in the Legislative
Council of a State shall in no
case be less than forty.

e Hence, Both the Statements are
correct.

e Until Parliament by law otherwise
provides, the composition of the
Legislative Council of a State shall be
as provided in clause (3).

e Of the total number of members of the
Legislative Council of a State —
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as nearly as may be, one-third
shall be elected by electorates
consisting of members of
municipalities, district boards
and such other local authorities
in the State as Parliament may

by law specity;

as nearly as may be, one-twelfth
shall be elected by electorates
consisting of persons residing in
the State who have been for at
least three years graduates of
any university in the territory of
India or have been for at least
three years in possession of
qualifications prescribed by or
under any law made by
Parliament as equivalent to that
of a graduate of any such
university;

as nearly as may be, one-twelfth
shall be elected by electorates
consisting of persons who have
been for at least three years
engaged in teaching in such
educational institutions within
the State, not lower in standard
than that of a secondary school,
as may be prescribed by or
under any law made by

Parliament;

as nearly as may be, one-third
shall be elected by the members
of the Legislative Assembly of
the State from amongst persons
who are not members of the
Assembly;

N
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of clause (5).

e The members to be elected under sub-
clauses (a), (b) and (c) of clause (3) shall
be chosen in such territorial

constituencies as may be prescribed by

or under any law made by Parliament,
and the elections under the said sub-
clauses and under sub-clause (d) of the
said clause shall be held in accordance
with the

representation by means of the single

system of proportional

transferable vote.

e The members to be nominated by the
Governor under sub-clause (e) of
clause (3) shall consist of persons
having special knowledge or practical
experience in respect of such matters as
the following, namely: —

e Literature, science, art, co-operative
movement and social service

14. W ith reference to the representation of Uttar
Pradesh in Parliament, which of the following
statement/s is/are correct?

1. Uttar Pradesh has 31 seats allotted for
Rajya Sabha.

2. 80 members of Lok Sabha are elected
from Uttar Pradesh.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2
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e Uttar Pradesh state elects 31 members J
and they are indirectly elected by the
state legislators of Uttar Pradesh.

e Members are elected for six years and
1/3 of members are retired after every .
two years. The number of seats,
allocated to the party, are determined
by the number of seats a party
possesses during nomination and the
party nominates a member to be voted
on. Elections within the state .
legislatures are held using Single
transferable vote with proportional
representation.

e 80 members of Lok Sabha are elected
from Uttar Pradesh.

Hence, Both the Statements are correct.
Additional Information:-

e The State of Uttar Pradesh has a
bicameral legislature comprising of
Legislative Council, an upper House J
and Legislative Assembly, the lower
House. This is the largest legislature in
India.

e The Uttar Pradesh Assembly consists of J
403 elected member. The Uttar Pradesh
Legislative Council has 100 members.

Prior to 1967, the strength of the
Legislative Assembly was 431 members
including one nominated Anglo-Indian

~N
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At present the strength of Legislative
Assembly is 403. The term of the
Legislative Assembly is five years
unless dissolved earlier.

The first Legislative Assembly was
constituted on 8th March, 1952. Since
then, it has been constituted Eighteen
times. The present, Eighteenth
Legislative Assembly was constituted
on 11th March, 2022.

At the commencement of the first
session after each general election to the
Assembly and at the commencement of
the first session of the year, the
Governor addresses both the Houses of
Legislature assembled together and
informs the Legislature of the causes for
summoning it.

Besides this both the Houses are
summoned by the Governor from time
to time during the year.

The Speaker and Dy. Speaker are
elected by the members of the
Legislative Assembly from amongst
them.

The Chambers of the Uttar Pradesh
Legislative Assembly and Legislative
Council are situated at the historic city
of Lucknow which is famous for its
glorious past and cultural heritage.

member which was revised to 426

member. the

e After reorganization of the State of the

Uttarakhand on 9th November 2000,
the strength of the Legislative
Assembly has been reduced to 404

member.
e NOTE:- After the Constitution (104th
amendment) Act, 2019 which came into

including one nominated Anglo-Indian 15. With reference to the post's in Secretariate of
Parliament, which of the following

statement/s is/are correct?

Uttar Pradesh and formation of 1.

including one nominated Anglo-Indian 2.

Common posts may be created for the
Secretariate of each House of
Parliament.

The Parliament has right to regulate
the service conditions of Secretariate
staff of either House of it.

force on 25th January, 2020 the Select the correct answer from the code given
provision of nominating an Anglo- below—
Indian member was abolished. Code -
- J
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Each House of Parliament shall have a separate
secretarial staff:

e Provided that nothing in this clause
shall be construed as preventing the
creation of posts common to both
Houses of Parliament.

e Parliament may by law regulate the
recruitment, and the conditions of
service of persons appointed, to the
secretarial staff of either House of

Hence, Both the

Statements are correct.

Parliament.

e Until provision is made by Parliament
under clause (2), the President may,
after consultation with the Speaker of
the House of the People or the
Chairman of the Council of States, as
the case may be, make rules regulating
the recruitment, and the conditions of
service of persons appointed, to the
secretarial staff of the House of the
People or the Council of States, and
any rules so made shall have effect
subject to the provisions of any law
made under the said clause.

16. W hich of the following statements is not true
regarding 'Gram Sabha'?
A. it has the powers and functions at the
village level, like state Legislature has
at the state level.

-
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A. Only 1 B. Its powers are determined by the
B. Only 2 Central Government.
C. Both1and? C. It is a Village Assembly consisting of
. all registered voters in the area of
D. Neither 1 nor 2 Panchayat.
Answer: C D. (a) and (c) both
Explanation: Answer: B
Part-V,Article:- 98: Secretariat of Parliament )
Explanation:

e Gram Sabha’s powers are determined
by the State Legislature.
e Hence, Statement:- b is incorrect.

o PART-IX, Article:-243(b) “Gram Sabha”
means a body consisting of persons
registered in the electoral rolls relating
to a village comprised within the area
of Panchayat at the village level;

e Hence, Statement:-c is correct.

e Gram Sabha has the powers and
functions at the village level, like state
Legislature has at the state level.

e Hence, Statement:- a is correct.

17. All elections to the Panchayats are conducted
by-

A. State Legislature

B. State Election Commission

C. Election Commission of India
D. Panchayati Raj Commission

Answer: B
Explanation:

The State Election Commission is an autonomous
constitutional ~ authority  responsible  for
administering elections to the 3rd tier of
governance i.e. the Local Self Government, which
includes the Panchayati Raj Institutions and the
Urban Local Bodies.

Hence, Option:- (B) is correct.
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Additional Information:-

e States Election Commission (India) is
an autonomous and Constitutional
body constituted in States and Union
Territories of India for ensuring that
elections are conducted in free, fair and
unbiased way. Constitution of India
with provisions as per Article 324
safeguards the powers of Election
Commission. States Election

Commission in India are responsible

for elections for Urban Local Bodies

like Municipalities, Municipal

Corporations, Panchayats and any

other specified by Election

Commission of India. They are

appointed by Governor of state.

e State Election Commissions were
formed as per Article 243K of the
Constitution, similar to setting up of
Election commission of India as per
Article 324

18.With reference to the recommendations of the
Ashok Mehta Committee (1977) on Panchayati
Raj, which of the following statement/s is/are
correct?
1. The three tier system of Panchayati Raj
should be replaced by the two tier
system.

2. A block should be the first point for
decentralization = under  popular

supervision below the state level.

Select the correct answer using the code given
below —

~N
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C. Both1and 2
D. Neither 1 nor 2

Answer: A
Explanation:

In December 1977, the Janata Government
appointed a committee on Panchayati Raj
institutions under the chairmanship of Asoka
Mehta. The committee submitted its report in
August 1978 and made 132 recommendations to
revive and strengthen the declining Panchayati Raj
system in the country. As a result of this report, the
Indian states of Karnataka, Andhra Pradesh, and
West Bengal passed new legislation.

The main recommendations of the committee
were:

e The 3-tier system of Panchayati Raj
should be replaced by the 2-tier
system: Zilla Parishad at the district
level, and below it, the Mandal
Panchayat consisting of a group of
villages covering a population of
15000 to 20000.

e Hence, Statement:-1 is correct.

e A district should be the first point for
decentralisation =~ under  popular
supervision below the state level.

e Hence, Statement:-2 is incorrect.

e Zila Parishad should be the executive
body and made responsible for
planning at the district level.

e There should be an official
participation of political parties at all
levels of Panchayat elections.

e The Panchayat Raj institutions should
have compulsory powers of taxation to
mobilise their own financial resources.

e There should be a regular social audit
by a district level agency and by a
committee of legislators to check

Code - whether the funds allotted for the
A. Only 1 vulnerable social and economic groups

are actually spent on them.
B. Only 2 e The state government should not
supersede  the  Panchayat Raj
- J
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institutions. In case of an imperative
supersession, election should be held
within 6 months from the date of
supersession.

e The Nyaya Panchayats should be kept
as separate bodies from that of
development panchayats. They should
be presided over by a qualified judge.

e The chief electoral officer of a state in
consultation with the Chief Election
Commissioner should organise and
conduct the Panchayati Raj elections.

e Development functions should be
transferred to the Zila Parishad and all
development staff should work under
its control and supervision.

e The voluntary agencies should play an
important role in mobilising the
support of the people for Panchayati
Raj.

e A minister for Panchayati Raj should be
appointed in the state council of
ministers to look after the affairs of the
Panchayati Raj institutions.

e Seats for SCs and Sts should be
reserved on the basis of their
population.1/3rd seats should be
reserved for women.

19. The resignation letter by a Judge of Supreme
Court is addressed to -

A. The Chief Justice of India

B. The senior most Judge of Supreme
Court

C. The President
D. The Prime Minister

Answer: C
Explanation:
e Article:-124(2) Every Judge of the
Supreme Court shall be appointed by

the President by warrant under his
hand and seal after consultation with

-

~
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such of the Judges of the Supreme

Court and of the High Courts in the
States as the President may deem
necessary for that purpose and shall
hold office until he attains the age of
sixty-five years:

e Provided that in the case of
appointment of a Judge other than the
Chief Justice, the Chief Justice of India
shall always be consulted:

e Provided further that—

o aJudge may, by writing under
his hand addressed to the
President, resign his office;

o a Judge may be removed from
his office in the manner
provided in clause (4).

e Hence, Option:- ( C) is correct.

20. Which of the following is not a part of the
Article 20 of the Constitution of India?

A. Prohibition against

B. Double Jeopardy Self Incrimination
Clause

C. Prohibition Against
D. Ex-post Facto Law Torture

Answer: C
Explanation:

Article:-20: Protection in respect of conviction for
offences

e No person shall be convicted of any

offence except for violation of a law in

force at the time of the commission of

the Act charged as an offence, nor be

subjected to a penalty greater than that

which might have been inflicted under

the law in force at the time of the

J
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commission of the offence i.e. Ex-post
Facto Law

e No person shall be prosecuted and
punished for the same offence more
than once i.e. Double jeopardy

e No person accused of any offence shall
be compelled to be a witness against
himself i.e. Prohibition against Self .
Incrimination Clause

e Hence, Option:- ( C) is incorrect.

21. Which of the following Provision is a part of o
both Directive Principles of State Policy and
Fundamental Duties?
A. Guardians to provide opportunity
for education to children

Protection of environment

C. Participation of workers in
management of Industries

D. Uniform Civil Code

Answer: B
Explanation:

e The Directive Principles of State
Policy (DPSP) has been taken from
the Irish constitution and enumerated
in Part IV of the Indian Constitution.

e The Directive Principles of State Policy
(DPSP) are ‘non-justiciable’ i.e., parts of

e the Constitution that cannot be .
enforced by the judiciary.

e DPSPs were not initially defined °
under the Indian Constitution, but
they are commonly grouped into
three groups based on their substance
and direction: J

o Socialistic Principles(Article -
38,39, 39A,41,42,43 and 47)

~
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o Liberal-Intellectual Principles(
Article-44,45, 48,49,50 and51)

o Gandhian Principles (Article-
40,43,43B, 46 and 47)

Article 36: In this Part, unless the
context otherwise requires, “the State”
has the same meaning as in Part III.
Article 37: Application of the
principles contained in this Part
Article 38: State to secure a social order
for the promotion of the welfare of the
people

Article 39: Certain principles of policy
to be followed by the State

Article 39A: Equal justice and free
legal aid

Article 40: Organisation of village
panchayats

Article 41: Right to work, education,
and public assistance in certain cases
Article 42: Provision for just and
humane conditions of work and
maternity relief

Article 43: Living wage, etc., for
workers

Article 43A: Participation of workers
in the management of industries
Article 43B: Promotion of cooperative
societies

Article 44: Uniform civil code for the
citizen

Article 45: Provision for free and
compulsory education for children
Article 46: Promotion of educational
and economic Interests of Scheduled
Castes, Scheduled Tribes, and other
weaker sections

Article 47: Duty of the State to raise the
level of nutrition and the standard of
living and to improve public health

- J
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Article 48: Organization of agriculture
and animal husbandry

Article  48A:  Protection  and
improvement of environment and
safeguarding of forests and wildlife
Article 49: Protection of monuments
and places and objects of national
Importance

Article 50: Separation of Judiciary
from the execution

Article 51: Promotion of international
peace and security

Part-IVA ,Article-51A of the Indian Constitution
contains 11 Fundamental duties are defined as the
moral obligations of all citizens to help promote a
spirit of patriotism and to uphold the unity of
India.

to abide by the Constitution and respect its
ideals and institutions, the National Flag
and the National Anthem;

to cherish and follow the noble ideals
which inspired our national struggle for
freedom;

to uphold and protect the sovereignty,
unity and integrity of India;

to defend the country and render national
service when called upon to do so;

to promote harmony and the spirit of
common brotherhood amongst all the
people of India transcending religious,
linguistic and regional or sectional
diversities; to  renounce  practices
derogatory to the dignity of women;

to value and preserve the rich heritage of
our composite culture;

to protect and improve the natural
environment including forests, lakes,
rivers and wild life, and to have
compassion for living creatures;

to develop the scientific temper,

~
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¢ tosafeguard public property and to abjure
violence;

e to strive towards excellence in all spheres
of individual and collective activity so that
the nation constantly rises to higher levels
of endeavour and achievement;

e who is a parent or guardian to provide
opportunities for education to his child
or, as the case may be, ward between the
age of six and fourteen years.

e Hence, Option:- (B) is incorrect.

22. With reference to the joint sitting of
Parliament, which statement/s is/are correct?

1. Article 109 provides for the joint sitting

of both Houses in certain cases.

2. The Speaker presides the joint sitting of
the two Houses of Parliament.
Select the correct answer using the code given
below —
Code -
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

Answer: B
Explanation:

As per Article 108 of Constitution, a Joint session
of Parliament can be summoned in the following
situations. Hence, Statement:- 1 is incorrect.

If after a Bill has been passed by one House and
submitted to the other House —

e the Bill is rejected by the other House;
or

e the Houses have finally disagreed as to
the amendments to be made in the Bill;

humanism and the spirit of inquiry and or
reform;
J
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more than six months elapse from the
date of the reception of the Bill by the
other House without the Bill being
passed by it, the President may, unless
the Bill has elapsed by reason of a
dissolution of the House of the People,
notify to the Houses by message if they
are sitting or by public notification if
they are not sitting, their intention to
summon them to meet in a joint sitting
for the purpose of deliberating and
voting on the Bill.

However, in the calculating period of
six months, those days are not
considered when the house is
prorogued or adjourned for more

than 4 consecutive days.

If the above conditions are satisfied,
the President of India may summon
the joint sitting of both the houses of
parliament and is presided over by
the Speaker of the Lok Sabha or, in
their absence, by the Deputy Speaker
of the Lok Sabha, or in their absence,
the Deputy Chairman of the Rajya
Sabha. The Chairperson of the Rajya
Sabha, who is the Vice President of
India, doesn't preside over the joint
session. If any of the above officers are
not present then any other member of
the Parliament can preside by
consensus of both the House.

Hence, Statement:- 2 is incorrect.

23. With reference to the invaders in ancient India,
which one of the following is the correct
chronological order?

A. Greeks — Sakas -- Kushans
B. Greeks — Kushans — Sakas

C. Sakas — Greeks — Kushans
D. Sakas — Kushans — Greeks

Answer: A

Explanation:

~
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The Saka dynasty was founded by a
chieftain named Maues who invaded
Bactria (in present-day Afghanistan)
and India about 130 BCE. The Saka
rulers were a branch of the Indo-
Scythians, a group of Central Asian
tribes that had migrated into
northwestern India about 200 BCE.

The Kushans, a Yuezhi branch, spread
south into the region traditionally
Gandhara, and then
expanded across the northern parts of

known as

the Indian subcontinent. Around 152
CE, the emperor Kanishka sent his
armies north to capture territories in
present-day western China, and south
into modern central India.

24, 'Milind Panho' is in the form of a dialogue
between King Milind and Buddhist Saint. The
concerned saint was -

A. Nagarjun
B. Nagbhatt
C. Nagasena
D. Kumaril Bhatt

Answer: C

Explanation:

The Milindapanha ('Questions of
Milinda') is a Buddhist text which
dates from sometime between 100 BC
and 200 AD. It purports to record a
dialogue between the
Buddhist sage Nagasena, and the 2nd

Indian
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century BC Indo-Greek king
Menander I (In Pali: Milinda) of
Bactria.

e Nagasena was a Sarvastivadan
Buddhist sage who lived around 150
BC. According to Pali accounts, he was
born into a Brahmin family in the
Himalayas and was well-versed in the
Vedas at an early age. However, he
later converted to Buddhism.

e Nagabhata has been named as the
founder of the imperial Gurjara-
Pratihara dynasty in the Gwalior
inscription of his descendant Mihira
Bhoja.

e Heruled the Avanti (or Malava) region
in present-day Madhya Pradesh, from
his capital at Ujjain. He may have
extended his control over Gurjaradesa,
which includes parts of present-day
Gujarat and Rajasthan. He repulsed an
Arab invasion from Sindh, probably
led by Junayd ibn Abd al-Rahman al-
Murri or Al Hakam ibn Awana.

25. Charak Sambhita is divided into how many
chapters and sections?

A. 120 chapters and 8 sections
B. 100 chapters and 5 sections
C. 80 chapters and 7 sections
D. 60 chapters and 8 sections
Answer: A
Explanation:

e The Charaka Samhita (“Compendium
of Charaka”) is a Sanskrit text on
Ayurveda (Indian traditional medicine)
written by Maharshi Charak

~
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e Along with the Sushruta Sambhita, it is
one of the two foundational texts of this
field that have survived from ancient
India. It is one of the three works that
constitute the Brhat Trayi.

e The text is based on the Agnivesha
Sambhita, an older encyclopedic medical
compendium by Agnivesa.

e It was revised by Charaka between 100
BCE and 200 CE and renamed Charaka
Sambhita.

e The pre-2nd century CE text consists
of eight books(sections) and one
hundred and twenty chapters. Hence,
Option:- (A) is correct.

e It describes ancient theories on the
human body, etiology, symptomology
and therapeutics for a wide range of
diseases.

e The Charaka Sambhita also includes
sections on the importance of diet,
hygiene, prevention, medical
education, and the teamwork of a
physician, nurse and patient necessary
for recovery to health.

26. Which officer was known as 'Bhagadugha'
during Vedic administration?

A. Messenger

B. Chief Officer of Forests

C. Chief Officer of the Gambling
D. Revenue Collector Department

Answer: D
Explanation:

Bhagadugha was the revenue collector during
Vedic period.

Hence, Option:- (D) is correct.

27. Match list-I with List-II and choose the correct
answer using the code given below the lists-

List-I List-II
- J
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The city of Nevasa is the location of a
75 - foot tall temple of Mohini, built in
1773, which houses an image of
Mohiniraj (Vishnu) in Nevasa tehsil of
Ahmednagar district in the Indian
state of Maharashtra. The remains of a
multilevel settlement dating from the
Paleolithic period to the Middle Ages
have been discovered at Navasa.
Excavations were conducted by H. D.
Sankalia in the 1950s and by G. Karve-

Corvinus in 1967.

Isampur is one among a remarkably
dense concentration of 200 Acheulian
sites of the Lower Palaeolithic stage
located in the Hunsgi and Baichbal
valleys of peninsular India, Gulbarga
district of
discovered in 1983 when much of the
1-1.5-m thick brown/black silt cover
overlying the cultural

Karnataka. It was

level was
quarried away by the Irrigation
Department, leaving a remnant of 10 to
60 cm cover. The geoarchaeological
research showed that the site was

located on the limestone-strewn outer

4 )
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(Archaeological Site) (Present Location) edge of an ancient drainage tract (3-4 m
(A) Nevasa (1) Rajasthan deep) where water was assured, and
(B) Isampur (2) Tamil Nadu forrr.ung part of the wundulating

erosional topography of the valley
(C) Didwana (3) Maharashtra
floor.
(D) Gudiyam Cave (4) Karnataka ) ) ) )
e Rajasthan is an ancient land it was
Code- occupied by early human settlers
A. A-(3), B-(4), C-(1), D-(2) during the Lower Palaeolithic,
B. A-(4), B-(3), C-(1), D-(2) Middle Palaeolithic and Upper
Palaeolithic periods, as seen in the
C. A-(3), B-(4), C-(2), D-(1) excavations at the site of Didwana (in
D. A-(3), B-(2), C-(4), D-(1) Nagaur District in Rajasthan) by
Answer: A prehistorian Prof V N Misra of the
. Deccan College, Pune, in 1980.
Explanation:

Gudiyam Caves are rock shelters in
South India and known for prehistoric
stone tools and culture. They were first
identified by British geologist Robert
Bruce Foote. This ancient site is
situated in the Thiruvallur district
near the Poondi reservoir, 60 km from
Chennai, Tamil Nadu.

28. Eastern boundary of the Harappa culture is
indicated by whicl of the following?

A. Harappa

B. Rakhigarhi
C. Alamgirpur
D. Manda

Answer: B

Explanation:

Eastern Boundary of the Harappa
culture is Alamgirpur in Western U.P.
Hence, Option:- (B) is correct.

The Southern boundary reached

Daimabad in Maharashtra.

The Northern boundary was till
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Manda Akhnoor in Jammu and o
Kashmir.

e Additional Information:- The term
Harappan is sometimes applied to the
Indus civilisation after its type site
Harappa, the first to be excavated early
in the 20th century in what was then
the Punjab province of British India J
and is now Punjab, Pakistan. The
discovery of Harappa and soon
afterwards Mohenjo-daro was the
culmination of work that had begun
after the founding of the

Archaeological Survey of India in the
British Raj in 1861.

29. With reference to the Puranas, which one of the
following statements is correct?

1. Information about the Mauryan
dynasty is found in the Vishnu Puran.

2. Vayu Puran throws light on the
Gupta's governance system.

A. Only 1

B. Only 2

C. Both1and 2
D. Neither 1 nor 2

Additional Information:-

~
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The Vishnu Purana is among the
shorter Purana texts, with about 7,000
verses in extant versions. It primarily
centers around the Hindu god Vishnu
and his avatars such as Krishna, but it
praises Brahma and Shiva and asserts
that they are dependent on Vishnu.

It also mentions about about the
Mauryan dynasty.

The Vayu Purana is a Sanskrit text and
one of the eighteen major Puranas of
Hinduism. Vayu Purana is mentioned
in the manuscripts of the Mahabharata
and other Hindu texts, which has led
scholars to propose that the text is
among the oldest in the Puranic genre.

It also throws light on the Gupta's
governance system.

Hence, Both the Statements are
correct.

The earliest and most important
empire to be established in the Indian
subcontinent was the Mauryan
Empire. Founded by Chandragupta
Maurya in 322 BCE, the vast Mauryan
Empire, ranging from the Oxus valley
to the Kaveri delta, was given a well-
knit centralized administration by its
rulers. It existed from approximately
321 to 185 BCE.  Chandragupta
Maurya, Bindusara, and Ashoka the
Great were the most prominent rulers.
The empire was at its peak under
Ashoka, it covered most of the Indian
subcontinent and parts of modern-day
Afghanistan and Iran. The capital was
Pataliputra (modern-day Patna). The

Answer: C . .
empire had a centralized government
Explanation:
- J
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with an efficient bureaucracy and a
complex system of taxation.

It maintained a large standing army
and was known for its military
prowess. The Mauryans promoted
trade, agriculture, and craftsmanship.
They also established extensive trade
networks. Ashoka, after the bloody
Kalinga War, embraced Buddhism and
promoted principles of non-violence
and religious tolerance. Ashoka's rock
edicts and pillars, spread across the
empire, are important historical
sources. The empire began to decline
after Ashoka's death,

disintegrating due to weak successors

eventually

and provincial revolts.

The Gupta flourished
approximately from 320 to 550 CE,

empire

often referred to as India's "Golden
Age." It was founded by Sri Gupta, but
reached its zenith under
Chandragupta I, Samudragupta, and
Chandragupta II. At its peak, the
empire covered much of the Indian
subcontinent, including parts of

present-day India, Pakistan,
Bangladesh, and Nepal. The Guptas
maintained a centralized government
with a complex bureaucracy and
provincial administration. They had a
thriving ~ economy  based  on
agriculture, crafts, and extensive trade
networks. This period saw remarkable
advancements in science,
mathematics, astronomy, religion, and
the arts. Notable achievements include
the concept of zero, the decimal

system, and significant progress in

~
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flourished, and there were major
developments in sculpture, painting,
and architecture. While the rulers were
Hindu, the empire practiced religious
tolerance, allowing Buddhism and
Jainism to coexist. The empire began to
decline in the late 5th century due to
weak rulers, internal conflicts, and
invasions by the Huns.

30. Which of the following pairs (School of
Thought Proponent) is correctly matched?

A. Vaisheshika — Patanjali
B. Mimansa — Kanada

C. Nyaya — Gautama

D. Uttara Mimansa — Kapila

Answer: C
Explanation:

The six orthodox schools are called as
shatdarshanas and include Nyaya, Sankhya, Yoga,
Vaisheshika, Purva Mimamsa and Uttara
Mimamsa (Vedanta Philosophy). Most of these
schools of thought believe in the theory of Karma
and rebirth. The Vaisheshika and Nyaya schools
eventually merged because of their closely related
metaphysical theories (Vaisheshika only accepted
perception and inference as sources of valid
knowledge).

¢ Nyaya (Gautama Muni): Nyaya asserts
that only what aligns with reason and
experience is acceptable (scientific
approach). It employs perception,
inference, comparison, and verbal
testimony as means to attain valid

knowledge, = emphasizing logical
thinking.

e Hence, Only Option:- ( C) is correctly
matched.

e Samkhya (Kapila): Samkhya, the

oldest orthodox system, posits that

metallurgy. Sanskrit literature reality originates from purusha (self or
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consciousness) and prakriti (matter or A. Only 1
creative energy). Purusha remains
unchangeable, while prakriti induces B. Only 2
change in all things. C. Both1land?2
Yoga (Patanjali): Yoga, meaning union, )
aims to achieve freedom (mukti) D. Neither 1 nor2
through techniques that control body, Answer: D
mind, and senses. It involves self- )
Explanation:

control, observance of rules, postures,
breath control, withdrawal of senses,
concentration, meditation, and
complete dissolution of self.

Vaisheshika (Kanada): Vaisheshika
holds that the universe's objects are
reducible to atoms, influenced by
Brahman, the fundamental force. It
categorizes reality into substance,
attribute, action, genus, quality, and
inherence. It recognizes five elements
and believes in karma guiding living

beings. ¢ Hawkins was well versed in the
Purva Mimamsa (Jaimini): Purva Turkish language received a Mansab
Mimamsa incorporates Nyaya- of 400 and the title of “English Khan’

Vaisheshika ~ and  stresses  the
importance of valid knowledge. It

views the Vedas as eternal . and 32 Who was 'Khareetadar'?
repositories of all knowledge, defining
religion as fulfilling duties prescribed A. Despatcher of royal decrees
by the Vedas to achieve merit and B. Main custodian of royal palace
heaven.
Vedanta: Vedanta (Uttara Mimamsa) C. Chief Officer of Pargana
focuses on the philosophical teachings . . . .
of the Upanishads, distinct from the D. An officer who was trained in keeping
ritualistic Brahmanas. It explores accounts
mystic and spiritual contemplations Answer: A
within the Vedas, emphasizing the .
Explanation:

ultimate reality (Brahman) and the
individual's relationship with it.

~

Sir William Hawkins was a
representative of the English East
India Company notable for being the
commander of Hector, the first
company ship to anchor at Surat in
India on 24 August 1608. Hawkins
travelled to Agra to negotiate consent
for a factory from Emperor Jahangir in
1609. William Hawkins was the envoy
of the British King James I at Jahangir's
court.

or ‘Firangi Khan’.

In medieval India, the term
referred to an officer or an accountant who was

"Khareetadar"

responsible for dispatching royal decrees.
31. With reference to the Captain Hawking's,

Hence, Option:- (A) is correct.
which of the following statements is correct? P (&)

1. He came to India in 1611 as an envoy * Shiqdar- He was the police chief at the

Pargana level and had to perform
of James — L. oC i
similar duties as that of a Kotwal

2. He was very well versed in Turkish
e Diwan-i-Saman- In charge of Royal

Household

- J
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Mushrif-i-Mumalik- Accountant

33. Match list-I with list-II and select the correct
answer using the code given below the lists

List - I (Book)

List - I (Context)

Mirat-e-Sikandari

History of Bengal

Burhan-e-Masir

History of Bahmani's

~N
SleepyClassesIAS
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Riyaz-us-Salatin is the first British-
era historic book on the Muslim rule
in Bengal that was published in Bengal
in 1788. It was written by Ghulam
Husain Salim Zaidpuri.

Mahmud Gawan was a Vakil-us-
in the
Bahamani Sultanate of Deccan. He was

sultanate (Prime Minister)
also a poet and a good prose writer
and the collection of his letters is
known as Riaz-ul-Insha.

Ahmad Nagar
Riyaz-us-Salatin Collection of
Mahmood  Gawan's
letters
Riyaz-ul-insha Victory of Gujarat
Code -
A. A-(4), B-(2), C-(1), D-(3)
B. A-(2), B-(4), C-(1), D-(3)
C. A-(1), B-(2), C-(4), D-(3)
D. A-(4), B-(2), C-(3), D-(1)
Answer: A
Explanation:

Mirat-e-Sikandari - The victory of
Gujarat by Zafar Khan, also known as
Muzaffar Shah 1, to his
successful military campaign that led
to the
independent

refers

establishment of the
Muslim kingdom of
Gujarat in the 15th century.

Burhan-i-Ma'asir, named after Burhan
Nizam Shah II of Nizam Shahi dynasty
of the
Ahmadnagar, is written by Sayyid Ali
Tabataba who came to India in 1580.
Burhan-i-Ma'asir describes the events

Muslim  kingdom  of

pertaining to the Bahmani kingdom
and its subsequent break-up into five
Muslim dynasties in South India.

34. Which of the following is not correctly
matched?

A.

B.

C.

D.

Answer: C

Explanation:

[Itutmish — Father of Razia
Shah Turkan — Wife of lltutmish

Hamida Banu Begum — Wife of
Allaudin Khilji

Gulbadan Begum —
Babur

Daughter of

Hamida Banu Begum (c. 1527 - 29
August 1604) was the empress consort
of the
Humayun and the mother of his

second Mughal emperor

successor, the third Mughal emperor
Akbar. She was bestowed the title of
Mariam Makani (lit.'Dwelling with
Mariam'), by her son, Akbar. She also
bore the title of Padshah Begum during
the reign of Akbar.

Hence, Option:- ( C) is incorrectly
matched.

Shams wud-Din Iltutmish (r.1211-
1236) was the third of the Mamluk
kings who ruled the former Ghurid
territories in northern India. Sold into
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slavery as a young boy, Iltutmish spent
his early life in Bukhara and Ghazni
under multiple masters. In the late
1190s, the Ghurid slave-commander
Qutb ud-Din Aibak purchased him in
Delhi, thus making him the slave of a
slave. After Aibak's death, Iltutmish
dethroned his unpopular successor
Aram Shah in 1211, and set up his
capital at Delhi. Iltutmish laid down
the foundation of the Delhi Sultanate
as a truly independent kingdom,
freeing it from a subordinate position
to Ghazni. Iltutmish held religious
discourses by orthodox ulama - such as
Sayyid Nuruddin Mubarak Ghaznavi -
in his court, but disregarded their
advice while formulating the imperial
policies. He did not consult the ulama
while making the unorthodox
decision of nominating his daughter
Raziya as his successor.

Shah Turkan (probably died after
1236), was the Khudawanda
(concubine) of Iltutmish and mother
of Ruknuddin Firuz. She was the first
royal lady taking active part in political
matters during the Slave Dynasty.

Gulbadan Begum (c. 1523 - 7
February 1603) was a Mughal princess
and the daughter of Emperor Babur,
the founder of the Mughal Empire. She
is best known as the author of
Humayun-Nama, the account of the
life of her half-brother, Emperor
Humayun, which she wrote on the
request of her nephew, Emperor

Akbar.

-

35. Consider the reign of following Peshwas and
arrange them in chronological order —

1.
2.
3.
4.

Select the correct answer using the code given
below —

Code -
A LI IV

B. L II, III, IV

C IL LIV, 10

D. LI, IV, III
Solution:- (D)

N
o T.me/Sleepy Classes

Balaji Viswanath
Bajirao I
Narayan Rao

Madhav Rao I

Balaji Vishwanath Bhat (1 January
1662-12 April 1720) was the first of a
series of hereditary Peshwas hailing
from the Bhat family who gained
effective control of the Maratha Empire
and the Mughal vassals of the
Marathas early 18th
century. Balaji Vishwanath assisted a
king Shahu to
consolidate his grip on a kingdom that

during the
young Maratha

had been racked by civil war and
persistently intruded on by the
Mughals under Aurangzeb. He was
called the Second Founder of the
Maratha State. Later, his son Bajirao I

became the Peshwa.

Bajirao I (Visaji Bajirao Ballal;, 18
August 1700 - 28 April 1740) was the
7th Peshwa of the Maratha
Confederacy. Bajirao was born into the
Bhat Family in Sinnar, near Nashik.
His father Balaji Vishwanath was the
Peshwa of Shahu I. He after Shivaiji, is
considered to be the most charismatic

J
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and dynamic leader in Maratha
history. He was just twenty years old
and already had a reputation for rapid
decisions and a passion for military
adventure

e Madhavrao I (15 February 1745-18
November 1772) was the son of
Peshwa Balaji Bajirao and grandson
of Peshwa Bajirao I who served as 9th
Peshwa of the Maratha Confederacy.
During his tenure, the Maratha ¢
Confederacy recovered from the losses
they suffered during the Third Battle of
Panipat.

e Narayanrao (10 August 1755 - 30
August 1773) was the 10th Peshwa of
the Maratha Confederacy from
November 1772 until his
assassination in August 1773. He was
the third and youngest son of Balaji
Baji Rao (also known as Nana Saheb) i
He married Gangabai Sathe who later
gave birth to Sawai Madhavrao.

36. Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

A. Shamsuddin Shah
B. Sikandar Shah
C. Zain-ul-Abidin

~
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Hence, Option:- ( C) is correct.

empire.

Shamsuddin Ilyas Shah was the
founder of the Sultanate of Bengal
and its inaugural Ilyas Shahi dynasty.
The Ilyas Shahi Dynasty ruled Bengal
for 145 years (1342-1487), except for a
2l-year  interregnum by  the
descendants of Raja Ganesha.

Abul Mujahid Sikandar Shah
(commonly known as Sikandar Shah;
was the second Sultan of Bengal and
the Ilyas Shahi dynasty. He was the
son of Shamsuddin Ilyas Shah.
Sikandar Shah continued to project the
imperial ambitions of his father. He
defeated the Sultan of Delhi in 1359.
His reign is also noted for its grandiose
architectural projects.

Nasir-ud-Din Haidar Shah
(September 1803 - 7 July 1837) was the
second King of Oudh from 19 October
1827 to 7 July 1837. He was the son of
Ghazi-ud-Din Haidar Shah. After the
death of Ghazi-ud-din Haidar his son
Nasir-ud-din Haider ascended the
throne on 20 October 1827 at the age of
25 years.

ninth sultan of Kashmir who ruled
from 1418 to 1419 and then from 1420

D. Haider Shah 37. Who among tl?e following translated '300
volumes of Sanskrit books collected by Firoz
Answer: C Tuglaq during the campaign of Nagarkot?
Explanation: A. Azizuddin Khan
e Zayn al-Abidin the Great (1395-1470), B. Talib Amuli

C. Mulla Abdul Baqi

to 1470. Zainul Abidin was the first D. Mirza Muhammad Ali
Muslim ruler who banned the jizya Answer: A
tax. It also banned cow slaughter in its .
Explanation:
- J
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Arizuddin Khan translated 300 Sanskrit
manuscripts from the Jawalamukhi temple library
collected by Firoz Tuglaq into Persian under the
title Dalail-i-Firoz-Shahi during the campaign of
Nagarkot.

Hence, Option:- (A) is correct.
Additional Information:-

Firoz Shah Tughlaq marched against Nagarkot and
made its ruler pay him tributes.

e Muhammad-bin-Tughlag had
conquered Kangra in AD 1331, but the
new Rai of the Kingdom had stopped
paying tribute to Firoz Tughlaq.

e Perhaps, Firoz invaded Nagarkot
primarily to teach a lesson of loyalty to
the new Rai.

e However, according to Ishwari Prasad,
Firoz wanted to conquer the
Jawalamukhi temple and that was the
purpose behind his invasion of
Nagarkot.

e It took him about six months to
subjugate the fort after which Rai was
forced to acknowledge the Sultan's
suzerainty and promised to pay an
annual tribute to the Sultan.

e Probably, Firoz destroyed  the
Jawalamukhi temple of the place.

e According to Farishta, he broke the
idols of the temples.

38. Tappa style of music was refined and
developed in which of the following Mughal
Emperor's Court?

A. Akbar

B. Jahangir

C. Shahjahan

D. Muhammad Shah
Answer: D

Explanation:

Tappa originated from the folk songs of the camel
riders in Punjab. The tappa style of music was

-
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refined and introduced to the imperial court of the
Mughal Emperor Muhammad Shah.

Hence, Option:- (D) is correct.

THE MUGHAL EMPIRE
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39. Which of the following (Poetess —
Compositions) is not correctly matched?

A. Daya Bai — Vinay Malika

B. Sahajobai — Sahaj Prakash

C. Gangabai— Ganesh Dev Leela

D. Son Kumari— Poem of Swam Beli
Answer: C
Explanation:

e Gangabai is incorrectly matched with
Ganesh Dev Leela

e Hence, Option:- ( C) is incorrectly
matched.

e Gangabai Pranshankar Yagnik (1868-
1937) was a Gujarati writer from 19th
century India. A teacher and an
Ayurveda-practitioner by profession,
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she wrote Hunnar Mahasagar (1898)
which was a compilation of about 2080
trades, skills and tips for self-
employment. She is considered as the
tirst female Gujarati writer.

Daya Bai:- She was the disciple of
Mahatma Charandas Ji and Sahajo
bai's guru sister. Born in a village
called Dehra in Mewat, she is said to
have been alive between 1750-1775
Samvat. In 1818 Samvat, her first
treatise - Dayabodh came to light.
Another book 'Vinay Malika' is
credited to her, too.

Sahajo Bai (c 1725) lived in Delhi and
from the age of eleven served her
Guru. The word sahaja connotes "the
essence of simplicity," and this virtue
permeates Sahajo Bai's life and work.

By age eighteen, Sahajo Bai had
composed her master-work, Sahaj
Prakash, a collection of eighty-five
songs, many of them couplets called
dohas. Throughout her life, Sahajo Bai
proclaimed the value of devotional
chanting, advising seekers to immerse
themselves in love for the Lord by
chanting the divine name. She spoke of
the body as a vehicle for attaining God,
and she followed this view with zeal,
meditating often on the inner sound,
chanting the mantra So'’ham at regular
intervals throughout day and night,
and studying sacred texts.

40. Which one ofthe following (Place of the revolt
of 1857 — Start of rebellion) is not correctly
matched?

A. Barrack — 29 March, 1857

B. Meerut — 10 May, 1857
C. Lucknow —4 June, 1857
D. Jhansi — 11 May, 1857

~
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Answer: D
Explanation:

DATE EVENTS OF REVOLT

26 February | Sepoys of the 19th Native
Infantry at Berhampore
refuse rifle practice

29 March At Barrackpore, in Bengal,
Mangal Pandey wounds
two British mutiny of 34th
Native Infantry

31 March 19th  Native  Infantry
disbanded

8 April Pandey hanged at
Barrackpore

10 May Mutiny and Murders at
Meerut, troops  head
towards Delhi

13 May Bahadur ~ Shah  Zafar
proclaimed new Mughal
emperor; British disarm the
garrison at Lahore

30 May Mutinies at Mathura and
Lucknow

31 May Rohilkhand and Bhurtpore
army mutinies

4 June Jhansi captured by rebels
and handed over to Rani of
Jhansi

5 June Cawnpore 2nd Cavalry
Mutinies

Hence, Option:- (D) is incorrectly matched.

- J
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formed by which of the following leaders?
A. Baba Ramchandra

B. Indra Narayan
C. Swami Sahjanand Saraswati
D. Pt. Jawaharlal Nehru

Answer: B
Explanation:

e The Uttar Pradesh (United Provinces)
Kisan Sabha was formed in year 1918
in Lucknow by Gauri Shankar
Mishra, Indra Narayan Dwivedi and
Madan Mohan Malviya. The Kisan
Sabha (Peasant Association) was a
protest movement in the present-day
Indian state of Uttar Pradesh that took
place between 1919 and 1922. It
involved numerous agricultural caste
groups.

e Hence, Option:- (B) is correct.

42. W hich am ong the follow ing organisations
was responsible for throwing a bomb at Viceroy
Lord Hardinge in Delhi?

A. All India Labour Association
B. United Patriotic Association
C. Anushilan Samiti

D. Yugantar

Answer: C
Explanation:

e The Delhi Conspiracy case, refers to
an attempt made in 1912 to
assassinate the then Viceroy of India,
Lord Hardinge by throwing a local
self-made bomb of Anushilan Samiti
by Basanta Kumar Biswas, on the
occasion of transferring the capital of

-

~
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41. In 1918, the United Provinces Kisan Sabha was British India from Calcutta to New

Delhi.
e Hence, Option:- ( C) is correct.

e Additional Information:- Anushilan

Samiti was a revolutionary
organization in India during the early
20th century, advocating for India’s
independence from British rule
through armed resistance and
revolutionary activities. Founded in
1902 in Bengal, it aimed to overthrow
colonial rule through secret societies,
physical training, and nationalist
fervor. Led by influential figures like
Aurobindo Ghosh, Barindra Kumar

Ghosh, and Rash Behari Bose.

43. By which of the following Acts, the system of
'Chamber of Princes' with 120 members was
created ?

A. Charter Act of 1853
B. Actof 1793
C. Actof 1909
D. Actof 1919

Answer: D
Explanation:

The Chamber of Princes was established in 1920,
by King-Emperor George V's proclamation on 23
December 1919, after the Government of India Act
1919 was given royal assent.

Hence, Option:- (D) is correct.
Additional Information:-

e The creation of the chamber followed
the abandonment by the British of their
long-established policy of isolating the
Indian rulers from each other and also
from the rest of the world.

e The Chamber first met on 8 February
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1921 and initially consisted of 120
members. Of those, 108 from the more
significant states were members in
their own right, while the remaining
twelve  seats were for  the
representation of a further 127 states.
That left 327 minor states, which were
unrepresented. Also, some of the more
important rulers like the Maratha-
ruled states of Baroda State, Gwalior
State and Holkar State declined to join
it The Chamber of Princes usually met
only once a year, with the Viceroy of
India presiding, but it appointed a
Standing Committee which met more
often.

1.

2.

44. With reference to the E.V. Ramaswami
Nayakar, which of the following statement/s
is/are correct?

He participated in the Non -
Cooperation Movement.

He left the congress in 1925.

Select the correct answer using the code given

~N
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Ramasamy (17 September 1879 - 24
December 1973), commonly known as
Periyar or Thanthai Periyar, was an
Indian social activist and politician
who  started  the
Movement and Dravidar Kazhagam.
He is known as the 'Father of the
Dravidian movement'. He rebelled

Self-Respect

against Brahminical dominance and
gender and caste inequality in Tamil
Nadu.

E.V. Ramasamy joined the Indian
National Congress in 1919, but
resigned in 1925 when he felt that the
party was only serving the interests of
Brahmins.

Hence, Statement:- 1 is correct.

He questioned the subjugation of non-
Brahmin Dravidians as Brahmins
enjoyed gifts and donations from non-
Brahmins  but  opposed  and
discriminated against non-Brahmins in

cultural and religious matters.

In 1921, Periyar courted imprisonment

below— for picketing toddy shops in Erode.
Code - When his wife as well as his sister

A. Only 1 joined the agitation, it gained

B. Only 2 momentum, and the administration

was forced to come to a compromise.

C. Bothland 2 He was again arrested during the

D. Neither 1 nor 2 Non-Cooperation movement and the

Answer: C Temperance movement.
Explanation: Hence, Statement:- 2 is correct.

e E.V. Ramaswami Naicker was a In 1922, Periyar was elected the
prominent social reformer of India in President of the Madras Presidency
the twentieth century. He was born of Congress Committee during the
Balijsa Naidu parents on 28 September, Tirupur session, where he advocated
1879 at Erode in Coimbatore District in strongly for reservation in government
Tamil Nadu. Erode Venkatappa jobs and education
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45. What was the name of the female Regiment
constituted as a part of the Azad Hind Fauj by
Netaji Subhash Chandra Bose?

A. Rani Bhabani Regiment
B. Rani Jhansi Regiment
C. Bharat Mata Regiment
D. Veerangana Regiment

Answer: B
Explanation:

e Netaji Subhash Chandra Bose was
from Bengal, a state that more than any
other in India encouraged the .

education and emancipation of

women. It was this principle that led

him to create a regiment of women in .

the INA. The new regiment was

formed on 12 July 1943 and Bose

named it after the legendary Rani of

Jhansi, as a part of the Azad Hind Fauj

who famously rode into battle against

the British in 1858, and died a martyr

to the Indian cause. Led by Captain

Lakshmi Swaminathan (better known

as Lakshmi Sahgal).

e Hence, Option:- (B) is correct.

46. Who was the leader of rebellion in Bareilly,
Uttar Pradesh during 1857?

A. Hazarat Mahal
B. Khan Bahadur Khan

C. Kunwar Singh
D. Nana Saheb

Additional Information:-

~
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Hafiz Rahmat Khan, who was the
Nawab of Rohilkhand in Uttar
Pradesh. He formed his own
government in Bareilly in the 1857
Indian revolt against the Company
rule. During the Indian Rebellion of
1857, Bareilly, too, was captured by the
British. Rohilla escaped to Nepal
where the Nepal army captured him
and turned him over to the British.
Khan Bahadur Khan Rohilla was tried,
sentenced to death, and hanged in the
Kotwali (Police Station) on 24 February
1860.

Hence, Option:- (B) is correct.

Begum Hazrat Mahal (c. 1820 - 7 April
1879), also known as the Begum of
Awadh, was the second wife of Nawab
of Awadh Wajid Ali Shah, and the
regent of Awadh in 1857-1858. She is
known for the leading role she had in
the rebellion against the British East
India Company during the Indian
Rebellion of 1857. After her husband
had been exiled to Calcutta and the
Indian Rebellion broke out, she made
her son, Prince Birjis Qadr, the Wali
(ruler) of Awadh, with herself as
regent during his minority.

Kunwar Singh, also known as Babu
Kunwar Singh was a chief organiser
of the Indian Rebellion of 1857 from
the Bhojpur region of Bihar. He was
originally the ruler of Jagdishpur
estate. He led a selected band of armed

Answer: B soldiers against the troops under the

Explanation: command of the British East India
e Khan Bahadur Khan Rohilla (1823 - Company.

24 February 1860) was the grandson of e Nana Saheb Peshwa II (19 May 1824 -
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after 1857), born as Dhondu Pant, was
an Indian aristocrat and fighter, who
led the rebellion in Cawnpore
(Kanpur) during the 1857 rebellion
against the East India Company. As
the adopted son of the exiled Maratha
Peshwa Baji Rao II, Nana Saheb
believed that he was entitled to a
pension from the Company, but as he
was denied recognition under Lord
Dalhousie's doctrine of lapse, he
initiated a rebellion.

47. Which of the following events was the last in
chronological order?

A. Home Rule Movement

B. Khilafat Movement

C. Jallianwala Bagh Massacre
D. Moplah Revolt

Answer: D

Explanation:

The Indian Home Rule movement
was a movement in British India on the
lines of the Irish Home Rule movement
and other home rule movements. The
movement lasted around two years
between 1916-1918 and is believed to
have set the stage for the
independence movement under the
leadership of Annie Besant and Bal
Gangadhar Tilak to the educated
English speaking upper class Indians.
In 1920 All India Home Rule League
changed its name to Swarajya Sabha.

The Jallianwala Bagh massacre, also
known as the Amritsar massacre, took
place on 13 April 1919. A large,
peaceful crowd had gathered at the
Jallianwala Bagh in Amritsar, Punjab,

~

sty e s
British India, during the annual
Baishakhi fair to protest against the
Rowlatt Act and the arrest of pro-
independence activists  Saifuddin
Kitchlew and Satyapal. In response to
the public gathering, the temporary
brigadier general R. E. H. Dyer
surrounded the people with his
Gurkha and Sikh infantry regiments of
the British Indian Army.

The Khilafat movement (June 1919-
22) was a political campaign launched
by Indian Muslims in British India
over British policy against Turkey
and the planned dismemberment of
the Ottoman Empire after World War
I by Allied forces. Leaders
participating in the movement
included Shaukat Ali, Maulana
Mohammad Ali Jauhar, Hakim Ajmal
Khan, and Abul Kalam Azad who
organised the movement to redress the
grievances of Turkey. Mahatma
Gandhi had supported the movement
as part of his opposition to the British
Empire, and he also advocated for a
wider non-cooperation movement at
the same time.Vallabhbhai Patel, Bal
Gangadhar Tilak and other Hindu and
Congress figures also supported the
movement.

The Malabar rebellion of 1921 (also
called Moplah rebellion, and
Mappila rebellion) started as a
resistance against the British colonial
rule in certain places in the southern
part of old Malabar district of
present-day Kerala. The popular
uprising was also against the
prevailing feudal system controlled
by elite Hindus. It was led by
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Variyamkunnath
Haji.

Kunjahammed

Hence, Option:- (D) is correct.

48. Who among the following women freedom
fighter was not associated with ‘Quit India
Movement’ ?

A. Matangini Hazra
B. Aruna Asaf Ali

C. Kanak Lata Barua
D. Shanti Ghosh

Answer: D
Explanation:

e Santi Ghose (aka Santi Ghosh 22
November 1916 - 1989) was an Indian
nationalist who, along with Suniti
Choudhury, assassinated Charles
Geoffrey Buckland Stevens, a British
bureaucrat and the district magistrate
of Comilla, when she was 16 years old
and is known for her participation in
an armed revolutionary struggle. In

1932, Ghose and

Chowdhury appeared in court in

Kolkata (formerly called Calcutta),

and were sentenced to transportation

February

for life (lifelong banishment). After
her release, Ghose attended the
Bengali Women's College and
participated in India's Communist
movement. She later joined the Indian
National Congress. In 1942, Ghose
married Professor Chittaranjan Das.
She served on the West Bengal
Legislative Council from 1952-62 and
1967-68. She also served on the West
Bengal Legislative Assembly from

1962-64. Ghose wrote and published a

N
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Hence, Option:- (D) is incorrect.
Additional Information:-

On August 8, 1942, Gandhi's call for civil
disobedience led to his and other leaders'
imprisonment, leaving the movement without a
clear leader. The Quit India Movement
empowered women to step out of their homes and
oppose British rule.

e Patna-born Tara Rani Srivastava,
along with her husband Phulendu
Babu, participated actively in the Quit
India Movement.

e Aruna Asaf Ali, popularly known as
the 'Grand Old Lady' of the
Independence Movement, was a
fearless revolutionary from Punjab who
played a significant role in the Quit
India Movement. She is best
remembered for her audacious act of
hoisting the Indian National flag at the
Gowalia Tank maidan in Bombay on
August 9, 1942, marking the
commencement of the movement.
Despite the police firing upon the
assembly, she bravely presided over
the session, earning her the title of the
'Heroine of the 1942 movement'.

e Kanaklata Barua, a 17-year-old girl
from Assam was part of a death squad
‘Mrityu Bahini’. She led a procession of
unarmed villagers during the Quit
India Movement, aiming to hoist the
national flag at the British-dominated
Gohpur Police Station. However, the
police opened fire, and she was shot
dead.

e Matangini Hazra, a 73-year-old
woman from West Bengal, led a
procession of over 6,000 freedom
tighters aiming to take over the Tamluk
police station. Despite being shot
repeatedly, she kept chanting "Vande
Mataram” and died with the tricolour
in her hands.

e Punjab’s Sucheta Kripalani, India’s

book entitled Arun Bahni. first woman chief minister and a
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professor of constitutional history, .
served as the head of Uttar Pradesh.

She also founded of the All India

Mahila Congress in 1940. She was

arrested by the British for her active
participation in the movement.

49. Which one of the following(Tributary River)
not correctly matched?

A. Manjra- Godavari

B. Hemavathi- kaveri
C. Malaprabha- Krishna
D. Pranhita- Mahanadi

~N
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The Hemavati is a river in southern
India's Karnataka and an important
tributary of the Kaveri. Gorur dam

across the Hemavati was completed in
1979.

The Malaprabha River is a tributary
of the Krishna River originates in the
Sahyadri mountains and flows
through Karnataka. It rises in the
Western Ghats at an elevation of 792.4
m in the state's Belgaum district. The
river joins Krishna River at
Kudalasangama in Bagalkot district.

Answer: D
) 50. Which of the following place is the confluence
Explanation: of the river Alakhnanda and the Bhagirathi?
e The Pranahita River is the largest A. Vishnu Prayag

tributary of Godavari River covering
about 34% of its drainage basin

conveying the combined waters of the C. Rudra Prayag

Penganga River, the Wardha River,
and the Wainganga River.

Answer: D

e The principal tributaries of the
Godavari river are the Pravara, the
Purna, the Manjra, the Penganga, the ¢

Wardha,the Wainganga the Pranhita

(combined flow of Wainganga,

Penganga, Wardha), the Indravati, the

Maner and the Sabri.

e Hence, Option:- (D) is incorrectly
matched.

e The Manjara River is a tributary of .
the river Godavari. It passes through
the states of Maharashtra, Karnataka
and Telangana. It originates in the
Balaghat range of hills near the
Ahmednagar (now  Ahilyanagar)
district and empties into the Godavari

B. Karn Prayag

D. Dev Prayag

Explanation:

Dev Prayag is situated in Tehri
Garhwal District of Uttarakhand,
India, and is the final one of the
Panch Prayag (five confluences) of
Alaknanda River where Alaknanda
meets the Bhagirathi river and both
rivers thereafter flow on as the
Ganges river or Ganga.

Hence, Option:- (D) is correct.

Vishnuprayag is the confluence of
India's Alaknanda and Dhauliganga
rivers—the first of five major
confluences of the Alakanda known as
the Panch Prayag. It is located at an
elevation of 1,372 metres in the

River.
Chamoli district in the state of
- J
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Uttarakhand.

e Karnaprayag is one of the Panch
Prayag of Alaknanda River, situated at
the confluence of the Alaknanda and
Pindar River.

e Rudraprayag is one of the Panch
Prayag of Alaknanda River, the point
of confluence of rivers Alaknanda
and Mandakini.
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about laterite soil?

1. This soil is developed in areas with
high temperature and heavy rainfall.

2. Itis poor in iron oxide and aluminium.

below —
Code-
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

Answer: A
Explanation:

Lateriate Soil:-

-

51. Which of the following statements is correct

Select the correct answer using the code given

N
o T.me/Sleepy Classes

o They are found mostly in areas of high
rainfall and high temperature. Hence,
Statement:- 1 is correct.

o They are light in texture and have an open
free-draining  structure. There is no
retention of water. There is practically no
horizon differentiation in the soil profile.

e Laterite soil is rich in aluminum and iron,
formed in wet and hot tropical areas.

Hence, Statement:- 2 I s incorrect.

o They are deficient in lime and are slightly to
moderately acid in reaction. The pH varies
from 5.0 to 6.0. They are low in base
exchange capacity.

o Laterite soils formed at high levels have a
pale red colour are highly gravely and are
poor in all fertility constituents. These
formed at low levels have a darker colour
probably due to a great accumulation of
humus, a slightly finer texture and are quite
well-drained.

o These soils are found all along the west
coast of Maharashtra, Mysore and Kerala,
on tops of hills in the Deccan, Madhya
Pradesh and in Orissa along the Eastern
Ghat.

52.'Ozone layer' absorbing ultra- violet radiation
exists in which of the atmospheric layer?

A. Troposphere
B. Mesosphere
C. Stratosphere
D. Thermosphere
Answer: C
Explanation:
Troposphere:

o This is the lowest layer of the atmosphere,
extending from the Earth's surface up to an
altitude of about 6-20 km (depending on
latitude).

J
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e [t contains most of the Earth's weather
phenomena, such as clouds, precipitation,
and atmospheric turbulence.

e The temperature in the troposphere
generally decreases with increasing
altitude.

Stratosphere:

o The stratosphere extends from the top of the
troposphere up to an altitude of about 50
km.

¢ It contains the ozone layer, which absorbs
harmful ultraviolet radiation from the
Sun. Hence, Option:- ( C) is correct.

o The temperature in the stratosphere
increases with increasing altitude due to the
absorption of ultraviolet radiation by ozone.

Mesosphere:

¢ The mesosphere extends from the top of the
stratosphere up to an altitude of about 80-85
km.

e [t is the coldest place on Earth, with
temperatures as low as -100°C (-148°F).

e Meteorites burn up in this layer due to
friction with the atmosphere.

Thermosphere:

¢ The thermosphere extends from the top of
the mesosphere up to an altitude of about
600-700 km.

e It is also known as the "upper atmosphere"
or the "ionosphere" because it contains a
high concentration of ionized particles.

e The temperature in the thermosphere can
reach up to 2,000°C (3,632°F) due to the
absorption of solar radiation by oxygen
molecules.

Exosphere:

¢ The exosphere is the outermost layer of the
atmosphere, extending from the top of the
thermosphere to about 10,000 km.

\
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o It is the transition region between the
Earth's atmosphere and the vacuum of outer
space.

¢ The atmosphere gradually becomes thinner
and thinner in this layer until it merges with
the interplanetary medium.

exosphere
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53. Make the pairs of chief rivers of their place of
origin-

Rivers Place of Origin

(A) Yamuna (1) Sihawa

(B) Krishna (2) Nasik

(C) Godavari (3) Mahabaleshwar
(D) Mahanadi (4) Yamunotri

A. A-4,B-3,C-2,D-1
B. A-1,B-2,C-3,D4
C. A4,B-2,C-3,D4
D. A-4,B-2,C-3,D-1

Answer: A
- J
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Explanation:

-

The Yamuna is the second-largest
tributary river of the Ganges by
discharge and the longest tributary in
India.  Originating from the
Yamunotri Glacier at a height of about
4,500m on the southwestern slopes of
Bandarpunch peaks of the Lower
Himalaya in Uttarakhand, it travels
1,376 km and has a drainage system of

366,223km?

It merges with the Ganges at Triveni
Sangam, Allahabad , which is a site of
the Kumbh Mela.

The Krishna River originates in the
Western Ghats near Mahabaleshwar
at an elevation of about 1,300 metres,
in the state of Maharashtra in central
India. The total length of river from
origin to its outfall into the Bay of
Bengal is 1,400 km. The Krishna Basin
extends over an area of 258,948 km?
of the total
geographical area of the country. From

which is nearly 8%

Mahabaleshwar it flows to the town of
Wai and continues east until it empties
into the Bay of Bengal. The Krishna
River passes through the Indian states
of Maharashtra, Karnataka, Andhra
Pradesh, and Telangana.

The Krishna River has 13 major
tributaries. Its principal tributaries
include the Ghataprabha
Malaprabha Bhima
Tungabhadra River and Musi River

River,
River, River,
The Bhima River is the longest
tributary of the Krishna River. Three
tributaries, Panchganga, Warna and
Yerla, meet the Krishna River near
Sangli. Hindus consider these places

~
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very holy.

The Godavari is India's second longest
river after the Ganga River and drains
the third largest basin in India,
covering about 10% of India's total
geographical area. Its source is in
Trimbakeshwar, Nashik,
Maharashtra. It flows east for 1,465
kilometres, draining the states of
Maharashtra , Telangana , Andhra
Pradesh, Chhattisgarh and Odisha .
The river ultimately empties into the
Bay of Bengal through an extensive
network of distributaries after flowing
for 1,465 km. Measuring up to 312,812
km?, it forms one of the largest river
basins in the Indian subcontinent. The
major left bank tributaries include the
Purna, Pranhita(largest tributary),
Indravati, and Sabari River. The right
bank tributaries Pravara, Manjira, and

Manair.

The Mahanadi River is a major river
in East Central India. The river
originates from Sihawa Mountain in
Chhattisgarh. The river flows through
the states of Chhattisgarh, Madhya
Pradesh, and Odisha. It drains an area
of around 132,100km? and has a total
length of 900km. Mahanadi is also
known for the Hirakud Dam which
was the first major multipurpose river
valley project after India's
independence in 1947. The river flows
through the state of Odisha and before

finally ending in the Bay of Bengal.

54. Given below are two statements, one is
labelled as Assertion (A) and other is Reason (R)
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Assertion (A) —The Tamil Nadu coast remains dry
during South-West monsoon

season.

Reason(R)—The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch of South-West
monsoon and it lies in the rain shadow area of the
Arabian Sea branch of the South- West monsoon
during monsoon season.

Select the correct answer using the code given
below —

Code -
A. (A) is true but (R) is false

B. (A) is false but (R) is true

C. Both(A) and (R) is true but (R) is not
correct explanation of (A)

D. Both (A) and (R) are true and (R) is
correct explanation of (A)

Answer: D
Explanation:

The Tamil Nadu coast remains dry during South-
West season. There are two factors responsible for
it:
e The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch of
southwest monsoon.

e It lies in the rainshadow area of the
Arabian Sea branch of the south-west
monsoon.

e Hence, Both (A) and (R) are true and
(R) is correct explanation of (A)

Additional Information:-

e The months of October and November
are known for retreating monsoons. By
the end of September, the southwest
monsoon becomes weak as the low
pressure trough of the Ganga plain
starts moving southward in response
to the southward march of the sun. The

~N
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monsoon retreats from the western
Rajasthan by the first week of
September. It withdraws from
Rajasthan, Gujarat, Western Ganga
plain and the Central Highlands by the
end of the month. By the beginning of
October, the low pressure covers
northern parts of the Bay of Bengal and
by early November, it moves over
Karnataka and Tamil Nadu. By the
middle of December, the centre of low
pressure is completely removed from
the  Peninsula. The retreating
southwest monsoon season is marked
by clear skies and rise in temperature.
The land is still moist. Owing to the
conditions of high temperature and
humidity, the weather becomes rather
oppressive. This is commonly known
as the “October heat’. In the second half
of October, the mercury begins to fall
rapidly, particularly in northern India.
The weather in the retreating monsoon
is dry in north India but it is associated
with rain in the eastern part of the
Peninsula. Here, October and
November are the rainiest months of
the year. The widespread rain in this
season is associated with the passage
of cyclonic depressions which
originate over the Andaman Sea and
manage to cross the eastern coast of the
southern Peninsula. These tropical
cyclones are very destructive. The
thickly populated deltas of the
Godavari, Krishna and Kaveri are their
preferred targets. Every year cyclones
bring disaster here. A few cyclonic
storms also strike the coast of West
Bengal, Bangladesh and Myanmar. A
bulk of the rainfall of the Coromondal
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coast is derived from these depressions
and cyclones. Such cyclonic storms are
less frequent in the Arabian Sea.

55. Which of the following statement is correct?
1. Ram Ganga river joins the Ganga at
Kannauj
2. River Betwa joins the Yamuna near
Prayagraj.
Select the correct answer using the code given
below —
Code-
A. Only1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

Answer: A
Explanation:

e Ramganga is a tributary of the river
Ganges, originating in Uttarakhand
state, India.

e The Ramganga is comparatively a
small river rising in the Garhwal hills
near Gairsain. It changes its course to
the southwest direction after crossing
the Shiwalik and enters into the plains
of Uttar Pradesh near Najibabad.
Finally, it joins the Ganga near
Kannauj.

e Hence, Statement:- 1 is correct.

e The confluence of the Betwa and the
Yamuna rivers is in Hamirpur district
in Uttar Pradesh.

Additional Information:-

e The Ganga is the most important river
of India both from the point of view

-

N
o T.me/Sleepy Classes

of its basin and cultural significance.
It rises from the Gangotri glacier near
Gaumukh (3,900 m) in the Uttarkashi
district of Uttarakhand. Here, it is
known as the Bhagirathi. The
important tributaries of Ganga are the
Ramganga, the Gomati, the Ghaghara,
the Gandak, the Kosi and the
Mahanada. The river finally discharges
itself into the Bay of Bengal near the
Sagar Island.

From Haridwar, it flows first to the
south, then to the south-east and east
before splitting into two distributaries,
namely the Bhagirathi and the Hugli.
The river has a length of 2,525 km. It is
shared by Uttarakhand (110 km) and
Uttar Pradesh (1,450 km), Bihar (445
km) and West Bengal (520 km). The
Ganga basin covers about 8.6 lakh sq.
km area in India alone. The Ganga
river system is the largest in India
having a number of perennial and non-
perennial rivers originating in the
Himalayas in the north and the
Peninsula in the south, respectively.

The Yamuna, the western most and
the longest tributary of the Ganga, has
its source in the Yamunotri glacier on
the western slopes of Banderpunch
range (6,316 km). It joins the Ganga at
Prayag (Allahabad). It is joined by the
Chambal, the Sind, the Betwa and the
Ken on its right bank which originates
from the Peninsular plateau while the
Hindan, the Rind, the Sengar, the
Varuna, etc. join it on its left bank.
Much of its water feeds the western
and eastern Yamuna and the Agra
canals for irrigation purposes.
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56. Chandraprabha Wildlife Sanctuary is situated
in which district of Uttar Pradesh?

A. Sonbhadra
B. Chandauli
C. Baharaich
D. Lakhimpur Khiri

Answer: B

Explanation:
e The Chandra Prabha Wildlife
Sanctuary, also known as
Chandraprabha, is situated in

Chandauli district of Uttar Pradesh .
state in central India. Hence, Option:-
(B) is correct. s

Chandra Prabha Sanctuary is spread

over an area of 78 km? and lies on the

Naugarh and Vijaigarh hillocks on the

north slope of the Kaimur Range. The .
Karamnasha River, a tributary of the

Ganges, flows through the sanctuary,

as does the Chandraprabha River, a

tributary of the Karamnasha.

57. Which one of the following (Passes -
States/U.T.) is correctly matched?

A. Aghil — Arunachal Pradesh
B. Diphu — Ladakh

~N
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Niti is the last village in the valley
before the border with south Tibet. The
Niti Pass was an ancient trade route

between India and Tibet, and it was
sealed after the 1962 Sino-Indian War.

Hence, Option:- ( C) is correctly
matched.

Aghil Pass: The pass is located in
Ladakh, specifically in the Karakoram
to the north of Mount Godwin Austin.
It connects the Xinjiang province
within China with Ladakh. During the
cold winters, the Aghil pass is closed.

Diphu Pass is a mountain pass around
the area of the disputed tri-point
borders of India, China, and Myanmar.
Diphu Pass is also a strategic approach
to eastern Arunachal Pradesh in India.
It lies on the McMahon Line.

Mana La Pass:- Set high in the
Himalayas, it's one of the highest
vehicle-accessible passes in the world.
The pass, also known as Mana La,
Chirbitya, Chongnyi La, Chirbitya-la,
or Dungri La, connects India (the state
of Uttarakhand) and Tibet within the
Nanda Devi Biosphere Reserve of the

C. Niti — Uttarakhand

D. Mana — Himachal Pradesh

Answer: C

Explanation:

Niti Valley is a remote valley located
in the northernmost region of
Uttarakhand, India at a height of 3,600

m. It is close to the Chinese border and

Zanskar ~ mountain  range  in
Uttarakhand.
58. Shivanasamudra and Kalpakkam are

respectively important for -

A. Hydel Power and Nuclear Energy
B. Thermal Power and Nuclear Energy
C. Nuclear Energy and Hydel Power

D. Solar Power and Nuclear Energy

Answer: A
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Explanation:

e The Bharachukki Falls in Kollegala,
with a height of 69 metres, and the
Gaganachukki Falls in Malavalli, with
a height of 90 metres, collectively form
the Shivanasamudra Falls. The
Shivanasamudra Falls is on the Kaveri
River.

e Shivanasamudra Falls is home to one
of the first hydro-electric power
stations in Asia, which was set up in

1902.

e Kalpakkam is known for its nuclear
plants and affiliated research
installations.

e Kalpakkam is a township in Tamil
Nadu, India, situated on the
Coromandel Coast 70 kilometres south
of Chennai.

¢ Hence, Option:- (A) is correct.

59. Consider the following statements with
reference to Uttar Pradesh -

1. Forests constitute about 12.8% of the
total geographical area of the state.

2. The districts of Jaunpur, Ghazipur and
Ballia have no forest land.

Select the correct answer from the code given
below Code -

A. Only 1

B. Both1land?2
C. Only 2

D. Neither 1 nor 2

N
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There is a wide variety of flora and fauna in Uttar
Pradesh. The forests constitute about 12.8% of the
total geographical area of UP State.

The districts of Ghazipur, Jaunpur and Ballia
have no forest land however there are 31 other
districts that have less forest area.

o Uttar Pradesh is the most populous state in
India, with a population of 19.98 Crores,
accounting for 16.5 percent of the total
population of India.

e the sex ratio in the state was 912 females for
every 1,000 males.

o Literacy rate in Uttar Pradesh has seen
upward trend and is 67.68 percent as per
latest population census. Of that, male
literacy stands at 77.28 percent while female
literacy is at 57.18 percent.

e Asper census 2011,

o Uttar Pradesh has a population of 199.81
million, which is 16.50% of India
population. The urban and rural population
constitute 22.27% and 77.73% respectively.
The Tribal population is 0.57%.

e The state is divided into 18 divisions and 75
districts.

o It covers 240,928 km?, equal to 7.3% of the
total area of India, and is the fourth-largest
Indian state by area.

o President's rule has been imposed in Uttar
Pradesh ten times since 1968.

60. Which of the following (Port-Country)is not
correctly matched?

A. Rotterdam - Netherland
B. Igarka - China
C. Montevideo— Uruguay

D. Jakarta- Indonesia

Answer: B
Explanation: Answer: B
Explanation:
e The seaport of Igarka is located on the
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shore of the Igarskaya creek of the
Yenisey River I Russia. The port was
established to export timber and sawn
timber products through the Northern
Sea Route. The port is navigable for
only 3-4 months (from the end of June
until the beginning of November).

e Hence, Option:- (B) is incorrectly
matched.

e The Port of Rotterdam is the largest
seaport in Europe, located in and near
the city of Rotterdam. From 1962 until
2004, it was the world's busiest port by
annual cargo tonnage. It was
overtaken first in 2004 by the port of
Singapore, and since then by Shanghai
and other very large Chinese seaports.

e The Port of Montevideo, in the
northern part of the Old City of
Montevideo, Uruguay, is one of the
major ports of South America and
plays a very important role in the
economy of Uruguay.

e JAKARTA port is located at
Indonesia, Java Sea in Indonesia.

61. Which of the following statement is true?

A. Benguela current is a cold current of
the pacific ocean.

B. If the sun, the earth and the moon are
in a straight line then this situation is
the situation of small tide.

C. Ocean salinity is maximum at the
Tropic of Cancer and Capricorn.

D. Tide comes on the earth every day after
exactly 12 hours 30 minutes.

~
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In all oceans the surface salinity varies with latitude
in a similar manner. It is at a minimum near the
Equator, teaches a maximum in about latitudes
20°N and 20°S, and again decreases toward high
latitudes. Higher the rate of evaporation, higher is
salinity. The Highest evaporation has been
recorded along the tropic of Cancer and Capricorn
and that is one of the reasons that region of Red
Sea and Persian Gulf has one of the highest
salinity. The salinity for normal open ocean ranges
between 33 and 37. Hence, Option:- ( C) is correct.

Factors Affecting Salinity:-

Explanation:

e Temperature :- There is a direct
relationship between ocean
temperature and salinity. So the
warmer parts are more saline and
frigid parts are less saline.

e Precipitation:- Precipitation is
inversely related to salinity. Higher is
the precipitation, lower is the
proportion of salinity. The equatorial
region records highest rainfall and that
it is why it has low salinity in
comparison to those which are near to
tropics.

e Influx of Freshwater :- Low salinity
will be found at the mouth of rivers.
This salinity is minimum in the raining
season.

e Atmospheric Pressure:- High pressure
areas have high salinity and vice versa.

e Circulation of Ocean water:- Ocean
currents play a major role in
distribution of salinity.

62. The river situated along the border between
the United States of America and Mexico is -

A. The Mississippi
B. The Rio Grande
C. The Amazon
D. The Colorado

Answer: C
Answer: B
- J
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Explanation:

e The Rio Grande is the fifth-longest
river in North America and the 20th-
longest in the world. It lies on the
border between the U.S. state of Texas
and Mexico. The total length of the
river is about 3,060 km.

e Hence, Option:- (B) is correct.

63. Consider the following deserts and arrange
them in increasing order of their size (from
smallest to largest)

I- Great Sandy desert
[I- Arabian desert
III-Sahara desert
IV-Gobi desert

Select the correct answer using the code given
below-

Al LIL IV, I
B. IL L III, IV
C. LIV, ILII
D. IL L1V, Il

Answer: C
Explanation:

e The Great Sandy Desert is an interim
Australian bioregion, located in the
northeast of Western Australia
straddling the Pilbara and southern
Kimberley regions and extending east
into the Northern Territory. It is the
second largest desert in Australia
after the Great Victoria Desert and
encompasses an area of 284,993
square kilometres. The Gibson Desert
lies to the south and the Tanami Desert

~
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e The Gobi Desert is a large, cold desert
and grassland region in northern
China and southern Mongolia and is
the sixth largest desert in the world.
The desert is widest in the west, along
the line joining the Lake Bosten and the
Lop Nor. Its area is approximately
1,295,000 square kilometers.

e The Arabian Desert is a vast desert
wilderness in West Asia that occupies
almost the entire Arabian Peninsula
with an area of 2,330,000 square
kilometers. It stretches from Yemen to
the Persian Gulf and Oman to Jordan
and Iraq. It is the fifth largest desert in
the world and the largest in Asia.

e At its center is Ar-Rub' al-Khali (The
Empty Quarter), one of the largest
continuous bodies of sand in the
world. It is an extension of the Sahara
Desert.

e The Sahara is a desert spanning
across North Africa. With an area of
9,200,000 square kilometres, it is the
largest hot desert in the world and the
third-largest desert overall, smaller
only than the deserts of Antarctica and
the northern Arctic.

64. To whom does the credit goes for the
development of coconut and sugarcane
agriculture in Philippines?

A. French
B. Britishers
C. Hollanders

D. Spanish and Americans

lies to the east of the Great Sandy Answer: D
Desert. Explanation:
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During the Spanish colonial era
(1521-1898), sugarcane
introduced to the
primarily in the Visayas region,

was
Philippines,

where Negros Island gained renown as
the "Sugarbowl of the Philippines."
Spanish  landowners  introduced
technological innovations like mills
and presses to enhance sugarcane
processing and boost production. In
the subsequent American colonial
period (1898-1946), the United States
further fostered and expanded the
sugarcane industry in the

Philippines.

Hence, Option:- (D) is correct.

Additional Information:-

As of 2023, the Philippines produced
1,850,000 metric tons of sugar, ranking
17th in the world according to sugar
production. In 2005, the Philippines
was the ninth largest sugar producer in
the world and second largest sugar
producer among the Association of
Southeast Asian Nations (ASEAN)
countries, after Thailand, according to
Food and Agriculture Organization.

65. Match list-I with list-Il and select the correct
65. answer using the code given below —

B. A-(3), B-(1), C-(4), D-(2)
C. A-(3), B-(4), C-(1), D-(2)
D. A-(4), B-(2), C-(3), D-(1)
Answer: B
Explanation:

~
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Mount Kilimanjaro is a dormant
volcano in Tanzania. It is the highest
mountain in Africa and the highest
single free-standing mountain above
sea level in the world: 5,895 m. It is part
of Kilimanjaro National Park

Toubkal is a mountain in
southwestern Morocco, located in the
Toubkal National Park. At 4,167 m, it
is the highest peak in Morocco, the
Atlas Mountains, North Africa and the

Arab world.

Mount Stanley is a mountain located
in the Rwenzori range. With an
elevation of 5,109 m, it is the highest
mountain of both the Democratic
Republic of the Congo and Uganda,
and the third highest in Africa, after
Kilimanjaro (5,895 m) and Mount
Kenya (5,199 m).

The
highland region in the central Sahara

Hoggar Mountains are a

in southern Algeria, along the Tropic

of Cancer.
List— I List-II
Mount Countri
(Mountain) (Countries) 66. Which one of the following (Lake — Country)
(A)Kilimanjaro (1)Morocco is not correctly matched?
(B)Toubkal (2)Algeria A. Baikal - Russia
(C)Stanley (3) Tanzania B. Michigan — United State of America
(D)Hoggar (4)Uganda C. Onega-Canada
Code - .
D. Maracaibo— Venezuela
A. A-(4), B-(3), C-(2), D-(1)
Answer: C
\_ J
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Lake Onega is a lake in northwestern
Russia. It belongs to the basin of the
Baltic Sea, and is the second-largest
lake in Europe after Lake Ladoga,
slightly smaller than Lebanon. The
lake is fed by about 50 rivers and is
drained by the Svir. There are about
1,650 islands on the lake. The lake is of
glacial-tectonic origin and is a small
remnant of a larger body of water
which existed in this area during an Ice
Age.

Hence, Option:- ( C) is incorrectly
matched.

Lake Baikal is a large rift lake in
Russia. It is in a rift valley, created by
the Baikal Rift Zone, where the Earth's
crust is slowly pulling apart. At 636 km
long and 79 km wide, Lake Baikal has
the largest surface area of any
freshwater lake in Asia, at 31,722 km?,
and is the deepest lake in the world at
1,642 metres. Lake Baikal is the world's
largest freshwater lake by volume.
UNESCO declared Baikal a World
Heritage Site in 1996.

Lake Michigan is the only Great Lake
located fully in the United States; the
other four are shared between the U.S. and
Canada. Lake Michigan is one of the five
Great Lakes of North America. It is the
second-largest of the Great Lakes by
volume and the third-largest by surface
area, after Lake Superior and Lake Huron.

Lake Maracaibo is a brackish lake
located in northwestern Venezuela.
Hydrologically, it is a semi-enclosed
bay off the coast of the Gulf of
Venezuela.

N
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67. With reference to the "EL-NINO", which of the
following statement/s is/are correct?

1.

El — Nino involves appearance of
warm current of the coast of Peru in
eastern pacific.

This
temperature of water on the Peruvian

warm current increase the
coast by 10°C there by increasing the

amount of Plankton in the sea.

Select the correct answer using the code given
below —

Code -

A. Only 1

B. Only 2
C. Both1and 2

D. Neither 1 nor 2

Answer: A

Explanation:

El-Nino:- This is a name given to the
periodic development of a warm
ocean current along the coast of Peru
as a temporary replacement of the
cold Peruvian current. ‘El Nino’ is a
Spanish word meaning ‘the child’, and
refers to the baby Christ, as this current
starts flowing during Christmas. The
presence of the El Nino leads to an
increase in sea-surface temperatures
and weakening of the trade winds in
the region.

Hence, Statement:- 1 is correct.

EI-Nino is merely an extension of the
warm equatorial current which gets
replaced temporarily by cold Peruvian
current or Humboldt Current. This
current increases the temperature of
water on the Peruvian coast by 10°C.

J
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e Hence, Statement:- 2 is incorrect. °

e NOTE:- Refer to the link below from
sleepy classes for detailed info on El-

Nino .
El Nino
,& dry, sinking air
E] warmer than average
[] cooler than average
68. What caused wind to deflect towards left in °

Southern Hemisphere?

A. Temperature
B. Coriolis force
C. Magnetic Field
D. Pressure

Answer: B
Explanation:

e If the Earth did not rotate and remained
stationary, the atmosphere would
circulate between the poles (high
pressure areas) and the equator (a low
pressure area) in a simple back-and-
forth pattern.

e But because the Earth rotates,
circulating air is deflected. Instead of
circulating in a straight pattern, the air

~N
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The development of weather patterns,
such as cyclones and trade winds, are
examples of the impact of the Coriolis
effect.

Cyclones are low-pressure systems that
suck air into their center, or “eye.” In
the Northern Hemisphere, fluids from
high-pressure systems pass low-
pressure systems to their right. As air
masses are pulled into cyclones from all
directions, they are deflected, and the
storm system—a hurricane —seems to
rotate counter-clockwise.

In the Southern Hemisphere, currents
are deflected to the left. As a result,
storm systems seem to rotate clockwise.
Outside storm systems, the impact of
the Coriolis effect helps define regular
wind patterns around the globe.

As warm air rises near the Equator, for
instance, it flows toward the poles. In
the Northern Hemisphere, these warm
air currents are deflected to the right
(east) as they move northward. The
currents descend back toward the
ground at about 30° north latitude. As
the current descends, it gradually
moves from the northeast to the
southwest, back toward the Equator.
The consistently circulating patterns of
these air masses are known as trade
winds.

deflects toward the right in the

mathematician Gaspard Gustave de

transfer of energy in rotating systems

Northern Hemisphere and toward the 69. Which one of the following is the largest coal
left in the Southern Hemisphere, producing centre of Ukraine?
resulting in curved paths. This A. Zaporizhzhia
deflection is called the Coriolis effect. _
Hence, Option:- (B) is correct. B. Kharkiv
e It is mnamed after the French C. Donetsk

Coriolis (1792-1843), who studied the D. Kyiv

like waterwheels. Answer: C
Additional Information:- Explanation:
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70. 'Mount Newman' is famous for which of the
following minerals?

A. Iron ore
B. Manganese
C. Copper
D. Bauxite

Answer: A
Explanation:

e Newman, originally named Mount
Newman until 1981, is a town in the
Pilbara region of Western Australia.

e Newman was established as Mount
Newman by Mt. Newman Mining Co.
Pty Ltd (a subsidiary of BHP) in 1966
as a company town to support the
development of iron ore deposits at
nearby Mount Whaleback.

e Hence, Option:- (A) is correct.

71. How many railways stations have been
identified for modernization under "Amrit Bharat
Station Scheme" in Uttar Pradesh as on February,
2023?

g I
B iccoy Clozsesas &) T.me/Sleepy Classes
The Donetsk basin located in the eastern Ukraine C. 123
is the most developed and much bigger coal
mining region in the country. D. 149
Hence, Option:- (C) is correct. Answer: D
& TEReAsaf s =0 Explanation:
B | Uttar Pradesh has the maximum number of 149
Hha railway stations, followed by Maharashtra 126,
B, > 5 e West Bengal 94, Gujarat 87, Bihar 86, Rajasthan 82
v e ooners« . § and Madhya Pradesh 80.
= v £ ey ’ Hence, Option:- (D) is correct.
, / ,/%"/ o Additional Information:-

e The Amrit Bharat Station Scheme has

recently  been  launched for
development of Railway stations on
Indian Railways. Presently, the scheme
envisages to take-up 1275 stations for
upgradation/modernisation over

Indian Railway.

e The origin of the Amrit Bharat Stations
scheme can be traced back to 2021,
when Gandhinagar became the first
Railway  station to  undergo

modernization, replete with all

modern facilities and a five star hotel.

Later on in the same year, Rani

Kamalapati Railway Station, formerly

known as Habibganj wore a new look.

In 2022, Union Cabinet approved

redevelopment of 3 major railway

stations, viz. New Delhi Railway

Station, Ahmedabad Railway Station

and the Chhatrapati Shivaji Maharaj

Terminus in Mumbai, which is already

a UNESCO World Heritage site.

72. Where was the "Sudarshan Prahar Army
Exercise" carried out in December, 2022?

A 57 A. Gujarat
B. 82 B. Rajasthan
- J
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C. Uttar Pradesh

D. Madhya Pradesh

Answer: B
Explanation:

e Indian Army’s Sudarshan Chakra
Corps carried out Exercise Sudarshan
Prahar in the deserts of Rajasthan.

e The exercise was focused on the
synergised application of combat
power through the integration of force
multipliers and practising new battle
techniques and procedures.

Hence, Option:- (B) is correct.

73. As per Social Progress Index, released in
December, 2022, which of the following are on top
three positions in very high social progress in
Tier-1?

A. Puducherry, Lahadweep and Goa

B. Mizoram, Himachal Pradesh and
Ladakh

C. Kerala, Nagaland and Meghalaya
D. None of these

Answer: A
Explanation:

e Puducherry, Lakshadweep, and Goa
emerge are on top three positions in
very high social progress in Tier-1.

e Hence, Option:- (A) is correct.
Additional Information:-

e Social Progress Index (SPI) for States
and Districts made by the Institute for
Competitiveness and Social Progress
Imperative was submitted to Economic
Advisory Council- Prime Minister and
released today.

~
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e SPI is a comprehensive tool that can
serve as a holistic measure of a
country's social progress at the
national and sub-national levels. The
index assesses states and districts
based on 12 components across three
critical dimensions of social progress -
Basic Human Needs, Foundations of
Wellbeing, and Opportunity. The
index uses an extensive framework
comprising 89 indicators at the state

level and 49 at the district level.

e Based on the SPI scores, states and
districts have been ranked under six
tiers of social progress. The tiers are
Tier 1: Very High Social Progress; Tier
2: High Social Progress; Tier 3: Upper
Middle Social Progress; Tier 4: Lower
Middle Social Progress; Tier 5: Low
Social Progress; and Tier 6: Very Low
Social Progress.

74 The "NISAR satellite" is jointly developed by
which of the following organizations?

A. ISRO and NASA

B. ESA and ISRO

C. ESA and NASA

D. ROSCOSMOS and CNSA

Answer: A
Explanation:

e National Aeronautics and Space
Administration (NASA) and the
Indian Space Research Organisation
(ISRO) are cooperatively developing
the NASA ISRO Synthetic Aperture
Radar (NISAR). This radar imaging
satellite will monitor changes in the
Earth’s surface associated with the
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movement of the crust and ice cover.
e Hence, Option:- (A) is correct.

Additional Information:-

e NISAR has two Synthetic Aperture
Radars (SARs) onboard, an L-band (L-
SAR) and an S-band (S-SAR), and will
be the first satellite to use two different
radar frequencies. Both frequencies
penetrate clouds and forest canopies,
although the lower L-band frequencies
can penetrate thicker vegetation so the
Earth's surface can be monitored
independently of coverage. As such
the L-SAR will be used to observe
landscape topography and heavily
forested areas. The higher S-band
frequencies will be used to monitor soil
moisture, particularly in polar regions
as S-band frequencies are less
perturbed by the ionosphere.

e NISAR will follow a sun-synchronous
orbit with an altitude of 747 km and an
inclination of 98.4°. It will have a
period of 100 minutes and repeat cycle
of 12 days.

75. According to the Union Budget 2023-24, how
many skill India international centres are to be set
up across different states to skill youth for
international opportunities?

A. 20
B. 30
C. 40
D. 50

Answer: B
Explanation:

e Pradhan Mantri Kaushal Vikas Yojana
4.0 to be launched to skill lakhs of

-
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youth 30 skill india international
centres to be set up across different
states.

e Hence, Option:- (B) is correct.

Additional Information:-

e Direct benefit transfer to be rolled out
to provide stipend support to 47 lakh
youth in 3 years.

e The scheme will emphasize on On-job
training, industry partnership, and
alignment of courses with needs of
industry. She further highlighted that
the scheme will also cover new age
courses for Industry 4.0 like coding, Al,
robotics, mechatronics, 10T, 3D
printing, drones, and soft skills.

e Union Budget 2023-2024 adopts seven
priorities, which complement each
other and act as the ‘Saptarishi” guiding
us through the Amrit Kaal. Youth
Power is one of the priority areas which
include Skill Development.

76. Who is the Author of the famous Novel "All
the Lives We Never Lived", which received the
Sahitya Akademi Award, 2022?

A. Anita Desai
B. Anuradha Roy
C. Shobha De
D. Sudha Murthy

Answer: B
Explanation:

e All the Lives We Never Lived is a
novel by Anuradha Roy which was
published on 14 May 2018 by
Hachette India. In 2022, it was

awarded the Sahitya Akademi
Award.

Additional Information:-

e The Sahitya Akademi Award is a
J
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literary honour in India, which the
Sahitya Akademi, India's National
Academy of Letters, annually confers
on writers of the most outstanding
books of literary merit published in
any of the 22 languages of the 8th
Schedule to the Indian constitution as
well as in English and Rajasthani
language. Established in 1954, the
award comprises a plaque and a cash
prize of X 1,00,000.

e Makhanlal Chaturvedi was the first
recipient in the Hindi category in the
year 1955. RK Narayan was the first
recipient in the English category in the
year 1960 for his novel 'The Guide'

NOTE:- Sahitya Akademi has announced its
annual Sahitya Akademi Awards in 24 languages.
9 books of poetry, 6 of novel, 5 of short stories, 3
Essays and 1 Literary Study have won the Sahitya
Akademi Awards 2023.

77. With reference to mineral resources, which of
the following statement/s is/are correct?

1. Lithium's inferred resources have been
found in Reasi district of Jammu &
Kashmir.

2. India is import dependent for many
minerals like Lithium Nickel and
Cobalt.

Select the correct answer using the code given
below —

Code-
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

~
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e India has discovered lithium-inferred

Explanation:

resources to the tune of 5.9 million
tonnes in the Salal-Haimana area of
Reasi district of Jammu and Kashmir.

e Mines are at the preliminary
exploration stage (also called G3).
Lithium is one of the key elements
used for making EV batteries and other
energy storage products.

¢ Indiarelies entirely on imports for its
lithium and cobalt needs,
predominantly sourced from China, a
country also commanding more than
60 percent of the global lithium-ion
battery production. Over the span of
2017 to 2023, India procured 50,000
tonnes of amorphous graphite from
China, in addition to significant
quantities of cobalt oxide (1,100
tonnes) and nickel oxide and
hydroxide (5,300 tonnes).

e Hence, Both the Statements are
correct.

78. In February, 2023 India's biggest helicopter
manufacturing plant was inaugurated in which
one of the following places?

A. Chakeri, Uttar Pradesh

B. Tumkuru, Karnataka

C. Coimbatore, Tamil Nadu

D. Nasik, Maharashtra
Answer: B

Explanation:

Prime Minister Shri Narendra Modi dedicated to
the nation Hindustan Aeronautics Limited (HAL)
Helicopter Factory at Tumakuru in Karnataka on

Answer: C February 06, 2023.
- J
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Hence, Option:- (B) is correct.

e He took a walkthrough of the
Helicopter Facility & Structure Hangar
and wunveiled the Light Utility
Helicopter (LUH). The factory is
India’s largest
manufacturing facility and will
initially produce LUHs.

helicopter

e The LUH is an indigenously designed
and developed three-ton class, single
engine multipurpose utility helicopter
with  unique features of high
manoeuvrability. Initially, this factory
will produce around 30 helicopters per
year and can be enhanced to 60 and
then 90 per year in a phased manner.

79. Who composed the Golden Globe Award
winning song "Naatu Naatu"?

A. S.S. Rajamouli
B. M.M. Keeravani
C. Devi Sri Prasad
D. A.R. Rehmari

Answer: B
Explanation:

e The song Naatu Naatu has won Best
Original Song at the 80th Golden
Globe Awards - a first for any Asian
song. Music director MM Keeravaani,
lyricist Chandrabose and singers
Rahul Sipligunj and Kaala Bhairava
are over the moon as are Rajamouli, Jr
NTR, Ram Charan and several others
associated with the film.

e Hence, Option:- (B) is correct.

Additional Information:-

The Golden Globe Awards are accolades bestowed
for excellence in both American and international

-
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film and television. It is an annual award ceremony
held since 1944 to honor artists and professionals
and their work.

80. The Indian Biological Data Centre is being set
up in which state?

A. Haryana

B. Punjab

C. Uttar Pradesh
D. Gujarat

Answer: A
Explanation:

Recently, government has set up ‘Indian
Biological Data Bank’ at the Regional Centre for
Biotechnology (RCB), Faridabad Haryana.

Hence, Option:- (A) is correct.

e IBDC is the first national repository for
life science data in India, where the data
will not only be submitted from across
India but can be accessed by
researchers from across India

e Itis mandated to archive all life science
data in IBDC generated from publicly
funded research in India.

e The data center is supported by the
Department of Biotechnology (DBT).

e It is being established at the RCB in
collaboration ~with the National

Informatics Centre (NIC),
Bhubaneshwar.

e It costed around 85 crore rupees to be
set up.

e The digitised data will be stored on a
four-petabyte supercomputer called
‘Brahm’.

e A petabyte equals 10,00,000 gigabytes

(gb)-

81. With reference to India's G-20 Logo, which of
the following statement/s is/are correct?

1. The logo has lotus with seven petals.

J
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2. The seven petals of the logo represent
seven continents.

Select the correct answer using the code given
below —

Code-
A. Only 1

B. Only 2
C. Both1and 2
D. Neitherlnor2

Answer: C
Explanation:

Solution:- (C)

e The seven petals of the lotus in the logo
represent seven continents. Seven is
also the number of notes in the
universal language of music, where the
seven notes come together to create
perfect harmony while each note
retains its own uniqueness.

e Hence, Both the Statements are correct.

Wz;; INDIA

A P

ONE EARTH * ONE FAMILY * ONE FUTURE

Additional Information:-

e The G20 Logo draws inspiration from
the vibrant colours of India’s national
flag - saffron, white and green, and
blue.

e Below the G20 logo is “Bharat”, written
in the Devanagari script.

The theme of India’s G20 Presidency -
“Vasudhaiva Kutumbakam” or “One

~N
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e Family One Future” - is drawn from the
ancient Sanskrit text of the Maha
Upanishad.

e While unveiling the logo, the Prime
Minister underscored that the world
today needs shared knowledge
overcoming the trying circumstances,
and shared prosperity to reach the last
person at the last mile. This is why the
Earth in the logo is placed on a lotus
too. The Earth reflects India’s proplanet
approach to life, one in perfect
harmony with nature.

o Essentially, the theme affirms the value
of all life - human, animal, plant, and

e microorganisms - and  their
interconnectedness on the planet Earth
and in the wider universe

82. Which of the following Scorpene Class
Submarines was commissioned into Indian Navy
in January, 2023?

A. INS Vela
B. INS Vagir
C. INS Kalvari
D. INS Karanj

Answer: B
Explanation:

e Indian Navy is set to commission the
fifth Kalvari class submarine Vagir
on 23 Jan 2023, Adm R Hari Kumar,
Chief of the Naval Staff will be the
Chief Guest for the ceremony. These
submarines are being built in India by
the Mazagon Dock Shipbuilders
Limited (MDL) Mumbai, under
collaboration with M/s Naval Group,
France. Four of the Kalvari class of
submarines have already been

commissioned into the Indian Navy.

Earth One
e Hence, Option:- (B) is correct.
- J
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Additional Information:-

e Admiral Dinesh K Tripathi assumed
command as the 26th Chief of Naval
Staff on 30 Apr 24. Prior to this
appointment, he was the Vice Chief of
Naval Staff.

83. In December, 2022 New Zealand passed the
world's first Law to ban smoking for next
generation. New Zealand's goal is to be "smoke-
free' by ..oovvevniiiiiiiinnenn

A. 2024
B. 2025
C. 2029
D. 2030

Answer: B
Explanation:

e A legislation prohibiting the sale of
tobacco to anyone born after January 1,
2009, has passed its third reading in
New Zealand. It is yet another step
toward the government's goal of
making the country smoke-free by
2025.

¢ Hence, Option:- (B) is correct.

84. Plane of which Airline crashed in Nepal in
January, 2023?

A. Nepal Airline
B. Buddha Airline
C. Tara Airline
D. Yeti Airline

Answer: D
Explanation:

e On 15 January 2023, the Yeti Airlines
flight 691 took off from Kathmandu's

-

~
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Tribhuvan International Airport,
crashed on the Seti River gorge
between the old airport and the new
airport in the resort city of Pokhara.

e Hence, Option:- (D) is correct.

85. Who among the following has authored the
book "Spare"?

A. Prince Harry
B. Prince Williams
C. Prince Phillip
D. King Charles

Answer: A
Explanation:

e Spare is a memoir by Prince Harry,
Duke of Sussex, which was released
on 10 January 2023. It was
ghostwritten by J. R. Moehringer and
published by Penguin Random
House.

¢ Hence, Option:- (A) is correct.
Additional Information:-

e The title refers to the aristocratic adage
that an "heir and a spare" was needed
to ensure that an inheritance remained
in the family. In the book, Harry details
his childhood and the profound effect
of the death of his mother, Diana,
Princess of Wales, as well as his
teenage years, and subsequent
deployment to Afghanistan with the
British Army. He writes about his
relationship with his older brother,
Prince William, and his father, King
Charles III, and his father's marriage to
Queen Camilla, as well as his courtship
and marriage to the American actress
Meghan Markle and the couple's

J
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subsequent stepping back from their

royal roles.

British Royal Family
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86. With reference to the Pope Benedict XVI, who
died recently, which of the following statement/s
is/are correct?

1. He was a native of Germany.

2. He was the first Pope to resign in 600
years.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

Answer: C
Explanation:

e Pope Benedict XVI (16 April 1927 - 31
December 2022) born in Bavaria,
Germany was the head of the Catholic
Church and sovereign of the Vatican
City State from 19 April 2005 until his
resignation on 28 February 2013.

e In 2013, he became the first pontiff to
resign in 600 years on the back of an
eight-year tenure filled with scandal
and allegations of corruption.

Hence, Both the Statements are correct.

~
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87. With reference to the SCO Film Festival-2023,
which of the following statement/s is/are correct?

1. The SCO Film Festival is being held
during India's Presidency of the

Shanghai Cooperation Organisation.

2. SCO Film Festival will showcase the
films from the SCO countries.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

Answer: C
Explanation:

e The SCO Film Festival is being
organized to mark India’s Presidency
at Shanghai Cooperation

Organisation (SCO).

e Total 57 Films will be showcased at
the SCO Film Festival from SCO
countries.

e SCO Country Focus films selected to
represent the respective SCO country
at the film festival. Thus, enabling

the different

countries and acting as a bridge

exchange among

between the cultures of the Shanghai
Cooperation Organization members.
There are 17 films in the SCO Country
focus category.

Hence, Both the Statements are correct.

Additional Information:-

Information and
organizing  the

e Ministry  of
Broadcasting is

- J
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Shanghai Cooperation Organization
Film Festival from the 27th - 31st of
January, 2023, in Mumbai, through the
National Film Development
Corporation.

e The Opening Ceremony will be held at
Jamshed Bhabha Theatre, NCPA, .
Mumbeai on 27th January, 2023.

o Film Festival Screenings will take place
at two locations in Mumbai, 4
auditoriums at the Film Division
Complex at Pedder Road and 1 NFDC °
Theater at Nehru Planetarium Building
at Worli.

o The festival will open with a world
premiere of Tamil film ‘Appatha’,
which is directed by Padma Shri and
National award-winning filmmaker
Priyadarshan. The film features
National award winning actor Urvashi
in the lead role and will be
benchmarked as her 700th film and 51
years in the Indian film industry.

88. Who among the following has been named as
the Prime Minister of New Zealand in January,
2023?

A. Jacinda Ardern
B. Chris Hipkins
C. Cindy Kiro

D. Carmel Sepuloni

Answer: B

N
o T.me/Sleepy Classes

minister for the public service and
minister for education from 2017 to
2023, and the minister for health and
the COVID-19 response from 2020 to
2022. Hence, Option:- (B) is correct.

NOTE:- The incumbent prime
minister, Christopher Luxon, leader
of the New Zealand National Party,
took office on 27 November 2023.

Dame Jacinda Kate Laurell Ardern
born 26 July 1980) is a former New
Zealand politician who served as the
40th prime minister of New Zealand.
In October 2017, at age 37, became the
country’s youngest prime minister in
more than 150 years. She resigned as
prime minister in January 2023.

Dame Alcyion Cynthia Kiro (born
1958) is a New Zealand public-health
academic, administrator, and
advocate, who has served as the 22nd
governor-general of New Zealand
since 21 October 2021. Kiro is the first
Maori woman and the third person of
Maori descent to hold the office.

Carmel Jean Sepuloni (born 1977) is a
New Zealand politician who served as
the 20th deputy prime minister of New
Zealand.

Explanation:

e Christopher John Hipkins (born 5

January 2023 and leader of the
Opposition since November 2023. He

2023, previously serving as the

-

89. Which of the following cities of Uttar Pradesh
is not included as the venue for 11 meetings of 200

September 1978) is a New Zealand sessions of G-20 during India's Presidency of the
politician who has served as leader of grouping?
the New Zealand Labour Party since A. Agra

B. Varanasi

was the 41st prime minister of New C. Kanpur
Zealand from January to November D. Greater Noida
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Answer: C New Delhi on 9-10 September 2023. It
Explanation: was the first G20 summit held in India.

Uttar Pradesh hosted 11 G20 meetings in various
places across the state between February 13 and
15.

Out of that 11 meetings Varanasi hosted six, Agra
three, Lucknow one, and Greater Noida one.

Hence, Option:- ( C) is incorrect.
Additional Information:-

e The Group of Twenty (G20) comprises
19 countries (Argentina, Australia,
Brazil, Canada, China, France,
Germany, India, Indonesia, Italy,
Japan, Republic of Korea, Mexico,
Russia, Saudi Arabia, South Africa,
Turkiye, United Kingdom and United
States) and the European Union. The
G20 members represent around 85% of
the global GDP, over 75% of the global
trade, and about two-thirds of the
world population.

e NOTE:- The African Union (AU) was
granted permanent membership in the
Group of Twenty (G20) at the Delhi
summit on September 9, 2023, making
it the organization's second multi-state
organization after the European Union
(EU).

e The theme of our G20 Presidency “One
Earth, One Family, One Future”,
drawing upon our age-old belief of
"Vasudhaiva  Kutumbakam", was
endorsed by all. With over 200
meetings in 60 Indian cities in all our 28
States and 8 UTs, across 40 different
mechanisms including Sherpa and
Finance Track Working Groups, as well
as Engagement Groups, the size, scale
and scope of India’s G20 Presidency
was unprecedented.

e The 2023 G20 New Delhi summit was
the eighteenth meeting of G20 (Group
of Twenty). It was held in Bharat
Mandapam International Exhibition-
Convention Centre, Pragati Maidan,

e The Group does not have a permanent
secretariat. =~ The  Presidency is
supported by the Troika - previous,
current and incoming Presidency.
During India’s Presidency, the troika
will comprise Indonesia, India and
Brazil, respectively.

e The presidency handover ceremony
was held, in which the G20 Presidency
gavel was transferred from Indonesian
President Joko Widodo to Indian Prime
Minister Modi at the close of the Bali
summit. Indonesia held the presidency
in 2022. Indian Prime Minister Modi
formally handed over the G20
presidency to Luiz Inacio Lula da Silva,
the President of Brazil. India will
continue to hold the position until 30
November 2023.

90. Given below are two statements, one is
labelled as Assertion (A) and other as Reason (R) :

Assertion (A) - 12 Cheetahs arrived from South
Africa to India in February, 2023.

Reason (R) - Restoring Cheetah population is
considered to be a priority for India. Select the
correct answer using the code given below —

Code -
A. Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true but (R) is not
correct explanation of (A)

C. (A) is true but (R) is false
D. (A) is false but (R) is true
Answer: A
Explanation:

e Under the provisions of the MoU, a
first batch of 12 cheetahs (7 males, 5
females) will be translocated from
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South Africa to India on 18th
February 2023. The translocation of 12
cheetahs from South Africa to Gwalior
and onwards to Kuno National Park
through Helicopters is being done by
the Indian Air Force.

e The goal of Cheetah introduction
project in India is to establish viable
cheetah metapopulation in India that
allows the cheetah to perform its
functional role as a top predator and
provide space for the expansion of the
cheetah within its historic range
thereby contributing to its global
conservation  efforts. =~ Restoring

Cheetah population is considered to

be a priority for India.

e Hence, Both (A) and (R) are true and
(R) is correct explanation of (A)

Additional Information:-

e 'Project Cheetah', aimed at re-
introducing the only large carnivore
species that went extinct in
independent India. The first batch of
eight cheetahs was introduced in India
in September 2022 from Namibia.
Cheetah reintroduction in India is a
programme initiated by Government
of India to re-introduce cheetahs to
India after they became locally extinct
in 1952.

91. With reference to the Deakin University,
which of the following statement/s is/are correct?

1. It will be the first Foreign University to
enter India as an independent campus.

2. It is being set up in Maharashtra.

Select the correct answer using the code given
below —

-

~
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Code -

A. Only 1

B. Only 2

C. Both1land?2

D. Neither 1 and 2

Answer: A
Explanation:

e Deakin is ranked 266th in the QS
World University Rankings and
features among the top 50 young
universities in the world. Australia's
Deakin University is set to become
the first foreign university to enter
India via an independent . This is a
landmark initiative highlighting the
collaboration and commitment

between the Indian and Australian

Governments and Deakin.
e Hence, Statement:- 1 is correct.

e Deakin’s new university campus is
located in the heart of the smart
business precinct Gujarat
International Finance Tec-City (GIFT
City), alongside global and domestic
business enterprises.

e Deakin University is a public
university in Victoria, Australia.
Founded in 1974, the university was
named after Alfred Deakin, the second
Prime Minister of Australia.

Hence, Statement:- 2 is incorrect.

92. Which Indian origin businessman has been
elected as Mayor of London Borough of
Southwark for the second time?

A. Sam Dalton
B. Sunil Chopra
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C. Gautam Adani B. Australia
D. Neeraj Patil C. Sri Lanka
Answer: B D. Nepal
Explanation: Answer: B
e Indian-origin businessman Sunil Explanation:

Chopra has been elected as the mayor e Australia is removing the British

of London Borough of Southwark for monarchy from its bank notes. The

the second time. Sunil Chopra was the nation's central bank said Thursday its
mayor of the London Borough of
Southwark in 2014-2015, and deputy
mayor in 2013-2014, the first Indian-

origin person to hold the prestigious

new $5 Dbill would feature an
Indigenous design rather than an
image of King Charles III.

office in the Borough. e Hence, Option:- (B) is correct.

Hence, Option:- (B) is correct.

95. On which of the following, proved charges the
Finance Minister Nadhim Zahawi was sacked
from the Government in February, 2023 by the
British P.M. Rishi Sunak?

93. On 25t December, 2022, which of the
following countries extended mandatory Military
Services for one year to those males who were

born after 01 January, 2005? A. Disclosure of Secrecy

A. Myanmar B. Sex Scandal
B. Taiwan C. Tax Scandal
C. Sri Lanka D. None of these
D. Afghanistan Answer: C
Answer: B Explanation:
Explanation: e British Prime Minister Rishi Sunak

Solution:- (B) fired the Conservative Party chair

Nadhim Zahawi from government on

Taiwan announced an extension in after an investigation into his tax

mandatory military service from four affairs found a serious breach of the

months to one year, citing the threat ministerial code.

from an increasingly hostile China.
e Hence, Option:- ( C) is correct.
e Hence, Option:- (B) is correct.

96. Which of the following elements is nota Noble
94. Among the following, which country has gas?

declared to remove the British Monarchy from its

Central Bank Currency Notes on 2 February, 2023? A. Argon
A. Canada B. Krypton
C. Radon
> J
84 Available on App Store www.sleepyclasses.com

and Play Store Call 1800-890-3043


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

radon (Rn). Under standard
conditions, these elements are
odorless, colorless, monatomic gases
with very low chemical reactivity and

cryogenic boiling points. ’

¢ Hence, Option:- (D) is incorrect.
[ ]

e Actinium is the first element of the
actinide series. All 36 known isotopes
of actinium are radioactive. Ac 227 and
228 are naturally occurring isotopes
with the half-life of 21.77 years and
6.13 hours respectively.

(. )
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D. Actinium A. Glucagan
Answer: D B. Insulin
Explanation: C. Adrenalin
e The noble gases (historically the inert D. Aldosterone
gases, are the naturally occurring
members of group 18 of the periodic Answer: B
table: helium (He), neon (Ne), argon Explanation:
(Ar), krypton (Kr), xenon (Xe), and o Islets of Langerhans are

Additional Information:-

heterogeneous cell clusters in the
pancreas, consisting mainly of
insulin-secreting p-cells.

Hence, Option:- (B) is correct.

Insulin is an essential hormone. It
helps your body turn food into energy
and manages your blood sugar levels.
A person suffering from diabetes, his
body can't make enough insulin or
can't use it properly.

Additional Information:-

them useful whenever chemical

obtained by separating them from air
using the methods of liquefaction of
gases and fractional distillation.

e Helium is also a byproduct of the
mining of natural gas. .

e Radon is usually isolated from the
radioactive decay of dissolved radium,
thorium, or uranium compounds. .

97. Which of the following hormones is secreted
by the Beta cell of Islet of Langerhans of Pancreas?
-

98. Which type of vaccine protect against
e The inertness of noble gases makes Diphtheria?

. A. Toxoid
reactions are unwanted. For example,
argon is used as a shielding gas in B. Live-attenuated
welding and as a filler gas in
incandescent light bulbs. C. mRNA
e Helium and neon are also used as D. Viral Vector
refrigerants due to their low boiling
points. Industrial quantities of the Answer: A
noble gases, except for radon, are Explanation:

Additional Information:-

Diphtheria vaccine is a toxoid vaccine
against diphtheria, an illness caused
by Corynebacterium diphtheriae.

Hence, Option:- (A) is correct.

Diphtheria is an acute and highly
contagious bacterial disease causing
inflammation ~ of the  mucous

J

www.sleepyclasses.com Available on App Store 85

Call 1800-890-3043 and Play Store


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-
oT.me /Sleepy Classes

membranes, formation of a false
membrane in the throat which hinders
breathing and swallowing, and
potentially fatal heart and nerve

damage by a bacterial toxin in the
blood.

e DTaP vaccine — protects against
diphtheria, tetanus, and whooping
cough (for infants and children) Tdap
vaccine — protects against diphtheria,
tetanus, and whooping cough (for
preteens, teens, and adults).

99. Which of the following is mRNA vaccine used
against Covid-19 infection?

A. Sinovac
B. Moderna
C. Sputnik
D. Novavax

Answer: B
Explanation:

¢ Moderna, Inc. is an American
pharmaceutical and  biotechnology
company based in  Cambridge,
Massachusetts, that focuses on RNA
therapeutics, primarily mRNA vaccines.

¢ Hence, Option:- (B) is correct.
Additional Information:-

e Messenger RNA (abbreviated mRNA)
is a type of single-stranded RNA
involved in protein synthesis. mRNA
is made from a DNA template during
the process of transcription. The role of
mRNA is to carry protein information
from the DNA in a cell’s nucleus to the
cell's cytoplasm (watery interior),

~N
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translates each three-base codon into

its corresponding amino acid in a
growing protein chain.

M v pre !
b I cytoplas
#
8 N Messenger RNA (mRNA)
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100. Which of the following factor is the most
important factor for the lost of biodiversity?

A.
B.
C.
D.
Answer: C

Explanation:

Genetic assimilation
Control of predators
Destruction of Natural Habitat

Pest control natural habitat

Biodiversity change is caused by a
range of drivers. A driver is any
natural or human-induced factor that
directly or indirectly causes a change
in an ecosystem. A direct driver
unequivocally influences ecosystem
processes. An indirect driver operates
more diffusely, by altering one or more
direct drivers. Important direct
drivers affecting biodiversity are
Destruction of Natural habitat ,
climate change, invasive species,
overexploitation, and pollution.

Hence, Option:- ( C) is correct.

101. The Xylem in plants is responsible for

where the protein-making machinery transporting -

reads the mRNA sequence and A. Water
- J
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C. Oxygen
D. Food

Answer: A

Explanation:

Xylem is one of the two types of
transport tissue in vascular plants, the
other
function of the xylem is to transport

being phloem. The basic

water from roots to stems and leaves,
but it also transports nutrients.

Additional Information:-

The most distinctive xylem cells are the
long tracheary elements that transport
water. Tracheids and vessel elements
are distinguished by their shape; vessel
elements are shorter, and are
connected together into long tubes that

are called vessels.

{
'S
— |

O’C{/
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102. Non-conventional energy sources are those
energy sources, that are -

A. Non-renewable

B. Renewable

C.
D.

Answer: B

Explanation:

N
o T.me/Sleepy Classes

Produced from electricity

Produced from heat

Conventional and Non-Conventional
Sources of Energy are the two types of
sources of energy. Conventional

Sources of Energy refer to the
traditional form of power/energy
production sources and include fossil
fuels such as coal, natural gas, oil, etc.
However, Non-Conventional Sources
of Energy refer to the newer and less
commonly used sources of energy
that have the potential to play a
crucial role in fulfilling future needs.
These

sources like wind, solar, biomass,

include renewable energy

hydroelectric, etc.

Hence, Option:- (B) is correct.

103.Biological Oxygen Demand (BOD) is a
standard criteria for

A. Pollution assay in aquatic ecosystems
B. Assaying 02 level in high altitude
regions
C. Measuring 02 level in blood
D. Computing 02 level in forest
ecosystems
Answer: A
Explanation:

Additional Information:-

Biological Oxygen Demand (BOD) is
a standard criteria for pollution assay
Hence,

in aquatic ecosystems.

Option:- (A) is correct.

Biological Oxygen Demand (BOD) is a

J
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measure of the amount of oxygen
required by microorganisms to break
down organic matter in water . It is a
widely used indicator of the pollution
level in aquatic ecosystems, as high
levels of BOD indicate the presence of
large amounts of organic matter,
which can lead to oxygen depletion
and the death of aquatic organisms.

104. The aquatic plant commonly used as bio
fertilizer in the water-logged rice field is -

A. Lemna
B. Azolla
C. Wolfia
D. Trapa

Answer: B

Explanation:

A biofertilizer used in paddy fields is
Azolla pinnata. Azolla is a floating
aquatic fern that grows in temperate
climates that are ideal for paddy
cultivation. Azolla pinnata is high in
nitrogen,

making it a perfect

biofertilizer.

Hence, Option:- (B) is correct.

gas?

105. Which of the following is known as laughing

A. Ammonia

B. Nitrous Oxide

~

SleepyClassesIAS
Awakening Toppers

dinitrogen monoxide), commonly
known as laughing gas is a chemical
compound, an oxide of nitrogen with

the formula N20.
Hence, Option:- (B) is correct.

At room temperature, it is a colourless
non-flammable gas, and has a slightly
sweet scent and taste. At elevated
temperatures, nitrous oxide is a
powerful oxidiser similar to molecular
oxygen. Nitrous oxide has significant
medical uses, especially in surgery and
dentistry, for its anaesthetic and pain-

reducing effects.

106. Seaweeds are important source of

A.
B.
C.
D.

Iodine
Bromine
Chlorine
Argon

Answer: A

Explanation:

Seaweed is commonly consumed
because it is an important source of
iodine. It has a unique property to
absorb the iodine from the sea. Kelp, a
type of seaweed is considered as the

best source of iodine.

Hence, Option:- (A) is correct.

107. Which of the following is an insectivorous

C. Carbon Monoxide plant?
D. Chlorofluro Carbon A. Nyctanthe
Answer: B B. Nelumbo
Explanation: C. Nicotiana
e Nitrous oxide (dinitrogen oxide or D. Neperithes
\ J
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e Hence, Option:- (D) is correct.

e The trap contains a fluid of the plant's
own production, which may be watery
or more viscous, and is used to drown
the prey. This fluid contains
viscoelastic biopolymers that may be
crucial to the retention of insects
within the traps of many species. The
viscoelastic  fluid in pitchers is
especially effective in the retention of
winged insects.

filiform
appendage
lid
glandular
crest
spur
peristome
ribs
wings | {
tendril
pitcher
cup

108. Human heart is made up of how many
chambers?

A. Only four

-

(. )
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Answer: D B. Only one
Explanation: C. Only three
e Nepenthes is a genus of c.arniv.orous D. Only two
plants, also known as tropical pitcher
1 . Answer: A
plants, or monkey cups, in the
monotypic family Nepenthaceae. Explanation:

e The heart is a fist-sized organ that
pumps blood throughout your body.
It's your circulatory system’s main
organ. Muscle and tissue make up
this powerhouse organ.

e Heart contains four muscular sections
(chambers) that briefly hold blood
before moving it. Electrical impulses
make your heart beat, moving blood
through these chambers.

Superior
vena cava — Left pulmonary
< are
</ > Left pulmonary
veins

—— Left coronary
artery (LCA)

T Left anterior
Right coronary descending (LAD)
artery (RCA) — (or interventricular)

artery

Posterior
descending -
artery (PDA)

(Left) circumflex
artery (Cx)

M1 Left marginal
. . M2 arteries
Right marginal ™
artery (RMA) D1 Diagonal
D2 branches

Right ventricle ——— — Left ventricle

109. What was India's rank in the world
greenhouse gases emission in 2022?

A. 9th
B. 10th
C. 11th
D. 12th

Answer: B
Explanation:

e The Climate Change Performance
Index (CCPI) is published by
Germanwatch, the New Climate
Institute and the Climate Action
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Network annually since 2005.

¢ India was ranked 10th in CCPI, 2022
and ranked 8th in the Climate Change
Performance Index (CCPI) 2023.

Additional Information:-

e CCPI is an instrument to enable

transparency in  national and
international climate politics. The
CCPI uses a standardized framework
to compare the climate performance of
63 countries and the EU, which
together account for over 90% of global
greenhouse gas emissions. The climate
mitigation performance is assessed in
four categoriess GHG Emissions,
Renewable Energy, Energy Use and

Climate Policy.

110. A geographical unit that collects, stores and
release water is called -

A. Watershed
B. Waste land
C. Wetland

D. Water reserve

Answer: A
Explanation:
Various Definitions of Watershed:-

e The entire geographical area drained
by a river and its tributaries; an area
characterized by all runoff being
conveyed to the same outlet.

e It's a land area that channels rainfall
and snowmelt to creeks, streams, and
rivers, and eventually to outflow
points such as reservoirs, bays, and the
ocean.

e A watershed is an area of land and
water bounded by a drainage divide
within which the surface runoff

~
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collects and flows out of the
watershed through a single outlet into
a lager river ( or ) lake. Watersheds is
classified depending upon the size,
drainage, shape and land use pattern.

e A geographical unit that collects,
stores and release water is called
Watershed.

Hence, Option:- (A) is correct.

111. When did the Water (Prevention and Control
of Pollution) Act was enacted in which of the
following year?

A. 1974
B. 1975
C. 1976
D. 1977

Answer: A
Explanation:

e The Water (Prevention and Control of
Pollution) Act was enacted in 1974 to
provide for the prevention and
control of water pollution, and for the
maintaining or restoring of

wholesomeness of water in the

country. Hence, Option:- (A) is

correct.

e The Act was amended in 1988. The
Water (Prevention and Control of
Pollution) Cess Act was enacted in
1977, to provide for the levy and
collection of a cess on water consumed
by persons operating and carrying on
certain types of industrial activities.
This cess is collected with a view to
augment the resources of the Central
Board and the State Boards for the
prevention and control of water
pollution constituted under the Water
(Prevention and Control of Pollution)
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Act, 1974. The Act was last amended in
2003.

112. Example of Lotic ecosystem is

A. Swamps

B. Ponds

C. Rivers

D. Marshy area

Answer: C
Explanation:

Lotic ecosystems are characterized by flowing
waters. Examples include rivers, streams, brooks
and springs. Here, the oxygen level is higher due to
the continually moving waters of the current and
the water is clearer. The flow of the water is
different depending on the area of a river or stream.

Hence, Option:- ( C) is correct.

e Lentic ecosystems are those whose
water is still, and are made up of ponds,
marshes, ditches, lakes and swamps.
These ecosystems range in size from
very small ponds or pools that may be
temporary, to large lakes. Lakes and
ponds are broken down into three
different zones, each with its own
different society of organisms.

e The littoral zone is the one closest to the
shore. Because these areas are shallow,
light is able to reach to the bottom,
making this warmest area.  The
abundance and diversity of plants and
animals living in this zone are the food
for the other, larger animals that reside
there.

e Moving inward away from the shore,
the limnetic zone still receives plenty of
sunlight. This zone is very rich in
microorganisms called plankton. The
plankton that live here include plants

N
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e As you get deeper into the limnetic
zone, less light is present. Under the
limnetic zone is and are that is much
colder and denser region, known as the
profundal zone. Here, there is little
light that makes it all the way down.

e The result is that photosynthesis, or the
process by which plants take energy
from the sunlight and use it to create
their own food, is less prominent. Lack
of photosynthesis means the plants
here die.

e The bottom area of the Ilentic
ecosystems is the benthic zone. In this
area, dead and decaying organisms fall
from above, and are consumed by the
bottom-dwelling animals.

113. First National Centre for Marine Biodiversity
(NCMB) of India is situated at -

A. Munibai
B. Jamnagar
C. Bhavnagar
D. Puducherry

Answer: B
Explanation:

e In 2011 India’s first National Center
of Marine Biodiversity (NCMB) was
stable in Jamnagar. The goal of this
center is safeguarding the biodiversity
of coastal areas which have high
marine biodiversity. This center is
close to India's only Marine National
park in the Gulf of Kutch.

e Hence, Option:- (B) is correct.
Additional Information:-

e National Center of Marine Biodiversity
(NCMB) mission will be to support the

(phytoplankton) and animals
(zooplankton). management of coastal and marine
biodiversity. This center will study
- J
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marine resources and they will
recommend the steps to be taken for
protecting biodiversity. Conservation
programs of India generally ignore
marine biodiversity and now there are
many species of fish and amphibians
have been listed as critically
endangered. Establishing this type of
center can help in protecting marine
biodiversity.

114. Which among the following is a constituent
of natural silk?

A. Phosphorus
B. Nitrogen
C. Magnesium
D. Potassium

Answer: B
Explanation:

e Silk emitted by the silkworm consists
of two main proteins, sericin and
fibroin, fibroin being the structural
center of the silk, and sericin being the
sticky material surrounding it. Fibroin
is made up of the amino acids Gly-Ser-
Gly-Ala-Gly-Ala and forms beta
pleated sheets.

e All the amino acids glycine, serine,
and alanine have nitrogen as the
common element present in their
chemical formula.

e Hence, Option:- (B) is correct.

115. Desert dwelling animals are called-

A. Arboreal animals

B. Terrestrial animals

~N
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C. Fossorial animals

D. Xericoles animals

Answer: D
Explanation:

e A xerocole is a general term referring
to any animal that is adapted to live in
a desert.

e The main challenges xerocoles must
overcome are lack of water and
excessive heat. To conserve water they
avoid evaporation and concentrate
excretions (i.e. urine and feces). Some
are so adept at conserving water or
obtaining it from food that they do not
need to drink at all. To escape the
desert heat, xerocoles tend to be either
nocturnal or crepuscular (most active
at dawn and dusk).

¢ Hence, Option:- (D) is correct.

e Animals that live in the trees are
called “arboreal” and they have some
amazing adaptations to make the most
of their leafy surroundings at every
level.

e A fossorial animal (from Latin fossor
'digger') is one that is adapted to
digging and which lives primarily
(but not solely) wunderground.

Examples of fossorial vertebrates are

badgers, naked mole-rats, meerkats,

armadillos, wombats, and mole
salamanders. Among invertebrates,
many molluscs (e.g., clams), insects

(e.g., beetles, wasps, bees), and

arachnids (e.g. spiders) are fossorial.

116. Match list-I with list-II and select the correct
answer using code given below —
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Solution:- (B)

The most common cause of ulcers is
infection of the stomach by bacteria
called Helicobacter pylori (H pylori).
Most people with peptic ulcers have
these bacteria living in their digestive
tract.

A peptic ulcer is an open sore or raw
area in the lining of the stomach or
intestine.

There are two types of peptic ulcers:

o Gastric ulcer -- occurs in the
stomach

o Duodenal ulcer -- occurs in the
tirst part of the small intestine

The dengue virus is transmitted to
humans through the bites of infected
female mosquitoes, primarily the Aedes
aegypti mosquito. Other species within
the Aedes genus can also act as vectors,

but their contribution is normally
secondary to Aedes aegypti.
Lymphatic filariasis, commonly

known as elephantiasis, is a painful
and profoundly disfiguring disease. It
is caused by infection with parasites

(. )
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List - I List - II (roundworms) of the family
(Diseases) (Factors) Filariodidea that are transmitted
(A) Peptic ulcers (1) Virus through the Dbites of infected
(B) Dengue (2) Protozoa mosquitos.
(C) Elephant Foot (3) Worm e Malaria is cause.d by protozoa of th.e
genus Plasmodium. The parasite is
(D) Malaria (4) Bacteria transmitted to  humans  most
Code - commonly through mosquito bites.
A. A-(4), B-(2), C-(3), D-(1)
B. A-(4), B-(1), C-(3), D-(2) 117. Trophic levels are formed by-
C. A-(3), B-(4), C-(2), D-(1) A. Organisms linked in food chain
D. A-(2), B-(3), C-(4), D-(1) B. Plants only

C. Animals only
D. Carnivorous animals only

Answer: A

Explanation:

An ecological pyramid depicts how
energy and biomass decrease from
lower to higher trophic levels.

A trophic level is the location of an
organism on the food chain for that
ecosystem.

Hence, Option:- (A) is correct.

A trophic level is typically divided into
five levels with Level 1 being a primary
producer, Level 2 being a primary
consumer, Level 3 being a secondary
consumer, Level 4 being tertiary
consumers, and Level 5 consisting of
the apex predators

As we move from Level-1 to Level-5
only 10% of the energy is transmitted
between levels.

As energy moves through an
ecosystem, it changes form, but no

new energy is created. Similarly, as

classified as nematodes matter cycles within an ecosystem,
J
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atoms are rearranged into various
molecules, but no new matter is
created. So, during all ecosystem
processes, energy and matter are

conserved.

Secondary Consumers
Primary Consumers

Primary Producers

Recycled
Nutrients

Energy
Pyramid

118. In National Parks, Genetic diversity is
maintained by-

A. In-situ conservation
B. Ex-situ conservation
C. Genepool

D. None of the above

Answer: A
Explanation:

e In situ conservation means the
conservation of ecosystems and
natural habitats and the maintenance
and recovery of viable populations of
species in their natural surroundings
and, in the case of domesticates or
cultivated species, in the surroundings
where they have developed their
distinctive properties.

e National Parks, Genetic diversity is
maintained by In-situ conservation.
Maintaining high genetic diversity
allows species to adapt to future
environmental changes and avoid

~N
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inbreeding. Inbreeding, which
happens when there are small, isolated
populations, can reduce a species'

ability to survive and reproduce.

e Hence, Option:- (A) is correct.

S.R In situ conservation Ex situ conservation

1 Conservation and protection of biodiversity in|Conservation of selected rare plants and|
its natural habitat. animals outside their habitat.

2 Helps in recovering populations helping them to|Helps in recovering population in order|
develop their distinctive features. to prevent their extinction.

3 Eg:- National parks, biosphere reserves, wildlifelEg:-Botanical gardens, zoological parks
sanctuaries. Safaris etc.

119. Hangul-deer is found in which part of India?
A. In Kerala

B. In Assam
C. In Rajasthan
D. In Jammu and Kashmir

Answer: D
Explanation:

e The Kashmir stag (Cervus hanglu
hanglu), also called hangul is a
subspecies of Central Asian red deer
endemic to Kashmir and surrounding
areas. It is found in dense riverine
forests in the valleys and mountains
of Jammu and Kashmir and northern
Himachal Pradesh. In Kashmir, it is
found primarily in the Dachigam
National Park and in Tral Wildlife
Sanctuary where it receives protection,
and elsewhere it is more at risk.

e Hence, Option:- (D) is correct.

120. Which of the following is not a biodegradable
polluter?
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A. Domestic waste
B. Urine

C. Faecal matter
D. Pesticide

Answer: D
Explanation:

e Pollutants that are capable of

decomposing under natural
Biodegradable
contaminants are capable of being

conditions.

deteriorated into organic substances
that are environmentally safe for long
periods of time. This occurs due to the
workings of microorganisms.

e However, non-biodegradable
pollutants are incapable of being
crumbled in the same manner and are
very likely to cause environmental
harm. Toxic metals such as tins, cans,
scraps, mercury, and lead, in addition
to pesticides are some non-

biodegradable wastes.
¢ Hence, Option:- (D) is correct.

e Biodegradable pollutants are usually
referred to as “bio-waste” and consist
of the following:

o Excrements from animals or
humans

o Corpses or body parts of dead
living creatures

o Natural products such as paper,
leaves, wood, and food wastes

121. Which one of the following is not true about
the total outlay in the Union Budget 2023-24?

A. Interest payment (20%)

B. State share of taxes and duties (18%)

-
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C. Defence (8%)

D. Subsidies (9%)
Answer: D

Explanation:

The government proposes to spend Rs 45,03,097
crore in 2023-24, which is an increase of 7.5% over
the revised estimate of 2022-23. In 2022-23, total
expenditure is estimated to be 6. 1% higher than
the budget estimate.

Sector/Expense Share (in percentage)
Interest payments 20%

States’ share of taxes & duties 18%

Central Sector Scheme 17%

Finance Commision & 9%

other transfers

Other expenditure 8%
Subsidies 7%
Centrally Sponsored Scheme 9%
Defence 8%
Pensions 4%

Hence, Option:- (D) is incorrectly matched.

122. Match list-I with list-II and select the correct
answer using code given below the lists

List-I List-II

(Theories of | (Propounders of
Population) Theories)

Optimum Population | Thompson

Theory

Social Mal- | Malthus

adjustment Theory

Demographic Edwin Kennan

Transition Theory

Population-Food
Supply Relationship
Theory

Henry George

Code -
A. A-(3), B-(4), C-(1), D-(2)
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B. A-(2), B-(3), C-(4), D-(1)
C. A-(1), B-(2), C-(3), D-(4)
D. A-(4), B-(3), C-(1), D-(2)
Answer: A
Explanation:

e The optimum theory of population
was propounded by Edwin Cannan in
his book Wealth published in the
year 1924. According to this theory,
The optimum population is the ideal
population which combined with
other available resources of the
country will yield the maximum
returns or income per head.

e The Social Mal-adjustment Theory,
proposed by Henry George, posits
that threats to human existence arise
not from the ordinances of nature but
from social maladjustments. It
suggests that societal issues and
inequalities, rather than natural
factors, are the primary causes of
problems associated with population
growth.

e The theory of demographic transition
or of population stages or of
population cycle has many versions. It
has been propounded by W.S.
Thomson and F.W. Notestein.

e The Malthusian Theory of Population
is the theory of exponential population
and arithmetic food supply growth.
The theory was proposed by Thomas
Robert Malthus. He believed that a
balance between population growth
and food supply can be established
through preventive and positive

~
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123. What do we call balancing the need to use
resources and also conserve them for the future?

A. Resource conservation
B. Sustainable development
C. Future resources
D. Reducing consumption
Answer: B
Explanation:

e Sustainable development is

development that meets the needs of
the present without compromising
the ability of future generations to
meet their own needs and also them
for the future.

¢ Hence, Option:- (B) is correct.

124. Which of the following is not a sustainable
development goal targeted to be achieved by
2030?

A. Gender Equality

B. Zero Hunger

C. Good health and well being
D. Space Research

Answer: D
Explanation:

e The Sustainable Development Goals
(SDGs), also known as the Global Goals,
were adopted by the United Nations in
2015 as a universal call to action to end
poverty, protect the planet, and ensure
that by 2030 all people enjoy peace and
prosperity.

o The 17 SDGs are integrated—they
recognize that action in one area will affect
outcomes in others, and that development

checks. must balance social, economic and
environmental sustainability. In June 1992,
- J
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at the Earth Summit in Rio de Janeiro,
Brazil, more than 178 countries adopted
Agenda 21, a comprehensive plan of
action to build a global partnership for
sustainable development to improve
human lives and protect the environment.

e Member States unanimously adopted the
Millennium Declaration at the Millennium
Summit in September 2000 at UN
Headquarters in New York. The Summit
led to the elaboration of eight Millennium
Development Goals (MDGs) to reduce
extreme poverty by 2015. In January 2015,
the General Assembly began the
negotiation process on the post-2015
development agenda. The process
culminated in the subsequent adoption of
the 2030 Agenda for Sustainable
Development, with 17 SDGs at its core.
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125. Given below are two statements, one is
labelled as Assertion (A) and other as Reason (R)-

Assertion (A) - Population control is necessary to
maintain the environment of the

country.

Reason (R) - Due to the rapid increase in
population, the environmental balance is
maintained.

Select the correct answer using the code given
below —

Code -
A. Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true but (R) is not

-
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correct explanationof(A)
C. (A) is true but (R) is false
D. (A) is false but (R) is true

Answer: C
Explanation:

e Population control is necessary to
preserve natural resources, protect

ecosystems, and improve quality of
life.

e We need population control because,
in case of overpopulation, the
resources of a country might be over
exploited. Overpopulation is the
cause of many environmental

problems as well.

e Hence, (A) is true but (R) is false.

126. What is the theme of the International Day for
the Eradication of Poverty for 2022-23?

A. "Acting together to empower children,
their families and communities to end
poverty."

B. "Dignity for all in practice."

C. "Accelerating global actions for a
world without poverty."

D. "Coming together to end poverty and
discrimination."

Answer: B
Explanation:

e The International Day for the
Eradication of Poverty, celebrated
annually on October 17th, aims to
promote understanding and dialogue
between people living in poverty and
the wider society.

o The theme of the International Day

for the Eradication of Poverty for
/

www.sleepyclasses.com
Call 1800-890-3043

Available on App Store 97
and Play Store


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-
oT.me /Sleepy Classes @i;::;s,;ﬁ;;;::ﬁ s
2022-23 was “Dignity for all in ¢ Urbanization: Economic development
practice”. is often accompanied by urbanization,

e Hence, Option:- (B) is correct.

127. Role of Human Resources in Economic
development, which of the following statement/s
is/are correct?
1. Effects of economic development on
population growth.

2. Effects of population growth in
economic development.

Select the correct answer using the code given
below —

Code -
A. Only 1

B. Only 2
C. Both1and 2
D. Neither 1 nor 2

Answer: C
Explanation:

Population Growth as a Driver of Economic
Development:

e Labor Force: A growing population
can contribute to economic growth by
expanding the labor force, which can
lead to increased production and
economic output.

e Market Size: A larger population can
create a larger domestic market for
goods and services, stimulating
economic activity and investment.

Economic Development Affecting Population
Growth:

e Improvements in Living Standards:
Economic development often leads to
improvements in healthcare,
education, and living standards, which

~

where people move from rural to
urban areas seeking better
opportunities. Urbanization can affect
population growth rates.

e Resource Constraints: Rapid
population growth can strain resources
such as food, water, and energy,
especially in developing countries.

e Dependency Burden: High population
growth can lead to a larger dependent
population (children and elderly),
which can strain social services and
impact economic development.

e DPopulation Policies: Governments
may implement policies to manage
population growth, such as family
planning programs or incentives to
encourage smaller families.

e Economic Policies: Policies promoting
economic development, such as
infrastructure investment, education,
and industrialization, can influence
population dynamics.

Long-term Trends:

e Demographic Transition: In the long
term, as countries develop
economically, they often experience a
demographic transition where birth
rates decline and stabilize at lower
levels.

The Hence, Both the Statements are correct.

128. When was the Census work done for first
time in India?

A. In the year

B. In the year 1861
C. In the year 1871
D. In the year 1881

can contribute to lower birth rates and Answer: C
slower population growth. Explanation:
J
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The decennial census of India has
been conducted 15 times, as of 2011.
While it has been undertaken every
10 years, beginning in 1872 under
Viceroy Lord Mayo (First Non-
the
complete(synchronous) census was
taken in 1881. Post 1949, it has been

conducted by the Registrar General

synchronous Census), first

and Census Commissioner of India
under the Ministry of Home Affairs,

Government of India.

129. Match list-I with list-II and select the correct
answer using the code given below the lists —

A
g 2
a
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The 17 SDGs are integrated —they
recognize that action in one area will affect
outcomes in others, and that development
must balance social, economic and
environmental sustainability. In June 1992,
at the Earth Summit in Rio de Janeiro,
Brazil, more than 178 countries adopted
Agenda 21, a comprehensive plan of
action to build a global partnership for
sustainable development to improve
human lives and protect the environment.

Member States unanimously adopted the
Millennium Declaration at the Millennium
Summit in September 2000 at UN
Headquarters in New York. The Summit
led to the elaboration of eight Millennium
Development Goals (MDGs) to reduce
extreme poverty by 2015. In January 2015,
the General Assembly began the
negotiation process on the post-2015
development agenda. The process
culminated in the subsequent adoption of
the 2030 Agenda for Sustainable
Development, with 17 SDGs at its core.
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130. Who authored the book "The Challenge of
World Poverty"?

A. Adam Smith

-

List I | List-II (Related With)
(Sustainable
Development
Goal)
SDG - 10 Climate Action
SDG - 13 Life on Land
SDG - 14 Reduced inequalities
SDG - 15 Life below water
Code -
A. A-(1), B-(2), C-(3), D-(4)
B. A-(2), B-(3), C-(1), D-(4)
C. A-(3), B-(2), C-(4), D-(1)
D. A-(3), B-(1), C-(4), D-(2)
Answer: D
Explanation:
e The Sustainable Development Goals

(SDGs), also known as the Global Goals,
were adopted by the United Nations in
2015 as a universal call to action to end
poverty, protect the planet, and ensure
that by 2030 all people enjoy peace and

prosperity.

B. Gunnar Mydral
C. Amartya Sen
D. Jean Dreze

Answer: B

Explanation:

e Karl Gunnar Myrdal (6 December

J
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1898 - 17 May 1987) was a Swedish

economist and sociologist. The

Challenge of World Poverty is a book
authored by Karl Gunnar Myrdal.

Hence, Option:- (B) is correct.

Additional Information:-

In 1974, Karl Gunnar Myrdal received
the Nobel Memorial Prize in Economic
Sciences along with Friedrich Hayek
for "their pioneering work in the

theory of money and economic

~N
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1998, he was awarded the Nobel Memorial

Prize in Economic Sciences, and in 1999,

India's highest civilian honour — Bharat

Ratna, for his contribution to welfare

economics. The 2020 Peace Prize of the

German Book Trade for his pioneering
scholarship addressing issues of global

justice and combating social inequality in

education and healthcare.

131. Which one of the following is the main
objective of Janani Suraksha Yojana?

fluctuations and for their penetrating A. Reduction in maternal mortality rate
analysis of the interdependence of only
economic, social and institutional B. Reduction in nec-natal mortality rate
phenomena. only
e Adam Smith (5 June 1723 - 17 July C. Reduction in infant mortality rate only
1790) was a Scottish economist and D. Reduction in maternal and neo-natal
philosopher who was a pioneer in the mortality rate
thinking of political economy and key
figure during the Scottish Answer: D
Enlightenment. Seen by some as "The Explanation:
Father of Economics" or "The Father of e Janani Suraksha Yojana (JSY) is a
Capitalism", he wrote two classic centrally sponsored scheme, which
works, The Theory of Moral integrates cash assistance = with
Sentiments (1759) and An Inquiry into delivery and post-delivery care. Janani
the Nature and Causes of the Wealth of Suraksha Yojana (JSY) is a safe
Nations (1776). motherhood intervention under the
e Jean Dréze (born 22 January 1959) is a National Health Mission. It is being
Belgian-born Indian welfare implemented with the objective of
economist, social scientist and activist. reducing maternal and neonatal
mortality by promoting institutional
e His co-authors include Nobel laureate delivery among poor pregnant
in economics Amartya Sen, with women. The scheme, launched on 12
whom he has written on famine, April 2005 by the Hon'ble Prime
Nicholas Stern, with whom he has Minister, is under implementation in
written on policy reform when market all states and Union Territories (UTs),
prices are distorted, and Nobel with a special focus on Low
laureate in economics Angus Deaton. Performing States (LPS).
¢ Amaff}’a Kumar S'en § NOV?mbef 1933) is e The Yojana has identified Accredited
an Indian economist and philosopher. In Social Health Activist (ASHA) as an
N J
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effective link between the government
and pregnant women.

e Hence, Option:- (D) is correct.

132.The"Agenda —21"ofRio
isrelated to -

Summit, 1992

A. Sustainable Development

B. Polluter —Pays development principle
C. Environmental education

D. Preservation of ozone layer

Answer: A
Explanation:

e Agenda 21, the Rio Declaration on
Environment and Development, and
the Statement of principles for the
Sustainable Management of Forests
were adopted by more than 178
Governments at the United Nations
Conference on Environment and
Development (UNCED) held in Rio
de Janeiro, Brazil, 3 to 14 June 1992.

¢ Hence, Option:- (A) is correct.
Additional Information:-

e The Commission on Sustainable
Development (CSD) was created in
December 1992 to ensure effective
follow-up of UNCED, to monitor and
report on implementation of the
agreements at the local, national,
regional and international levels. It
was agreed that a five year review of
Earth Summit progress would be made
in 1997 by the United Nations General
Assembly meeting in special session.

133. Consider the following statements about
sustainable development-

-
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1. Based on the global indicator

framework and data produced by
National Statistical Systems and
information collected at regional level,
the United Nations Secretary General
presents an Annual Sustainable
Development Goal Report.

2. Global
Report is produced to inform the

Sustainable = Development
quadrennial sustainable development
goal review deliberations at the U.N.
General Assembly once every quarter.

Select the correct answer using the code given
below-

Code-
A. Only 1

B. Only 2
C. Bothland 2
D. Neither 1 nor 2

Answer: A
Explanation:

e Every year, the UN Secretary General
presents an Annual SDG Progress
report, which is developed in
cooperation with the UN System, and
based on the global indicator
framework and data produced by
national statistical systems and
information collected at the regional
level.

e Hence, Statement:- 1 is correct.

e The Global Sustainable
Development Report is produced
once every four years to inform the
quadrennial SDG review
deliberations at the  General
Assembly. It is written by an

Independent Group of Scientists
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appointed by the Secretary-General.

e Hence, Statement:- 2 is incorrect.

134. With reference to the Human Development
Report, 2021-22, which of the following statement
is/are correct?

1. India's rank on the Human
Development Index has upgraded

from 130 in 2020 to 132 in 2022.

2. India's rank on the Human

Development Index has stipped from
130 in 2020 to 132 in 2022.

Select the correct answer using the code given
below-

Code-
A. Only 1

B. Only 2
C. Both1and?2
D. Neither 1 nor 2

Answer: B
Explanation:
Top rank was achieved by Switzerland.

India's rank on the Human Development Index
has stipped from 130 in 2020 to 132 in 2022. Hence,
Only Statement:- 2 is correct.

¢ Human Development Index (HDI):
HDI is a composite index developed by
the United Nations to measure a
country's average achievements in
three basic dimensions of human
development: health (life expectancy at
birth), education (mean years of
schooling and expected vyears of
schooling), and standard of living
(GNI per capita). It provides a
snapshot of a nation's overall

~N
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between 17 goals of SDG, SDG goals
1,2,3 and 4 relate to No poverty, Zero
hunger, good health and well-being
and quality, education, respectively. It
covers all three dimensions of human

development index.

e NOTE:- According to the 2023-24
Human Development Report (HDR),
titled  'Breaking the  Gridlock:
Reimagining  Cooperation in a
Polarised World,' India ranks 134 on
the global Human Development Index
(HDI). Switzerland has been ranked
number one.

135. Natural resources should be used by the
present generation in such a way that if there is
minimum degradation of natural resources, then
what kind of development would it be called?

A. Economic Development
B. Social Development

C. Sustainable Development
D. Organic Development

Answer: C
Explanation:

e Sustainable development is an
approach to growth and human
development that aims to meet the
needs of the present without
compromising the ability of future
generations to meet their own needs.
The aim is to have a society where
living conditions and resources meet
human needs without undermining
planetary integrity.

Hence, Option:- ( C) is correct.

development status overlapping
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136. With reference to 'PM Gati Shakti Scheme',
which of the following statement/s is/are correct?

1. The PM Gati Shakti Scheme-National
Plan was launched in 2022.

2. The PM Gati Shakti Scheme pertains to
seven engines (Roads, Railways,
Airports, Ports, Mass Transport,
Waterways, Logistics Infrastructure).
NIP will be aligned with PM Gati
Shakti Framework.

Select the correct answer from the code given
below —

Code -
A. Only 1

B. Only 2

C. Both1and 2

D. Neither 1 nor 2
Answer: B

Explanation:

e PM GatiShakti National Master Plan
(PMGS-NMP) was launched on 13th
October 2021 for
multimodal

providing
connectivity
infrastructure to various economic
zones. Cabinet Committee on
Economic Affairs (CCEA) accorded
approval for the implementation of
PM GatiShakti National Master Plan
on 21st October 2021.

Hence, Statement:- 1 is incorrect.

PM GatiShakti is a transformative approach for
economic growth and sustainable development.
The approach is driven by 7 engines, namely:

e Railways

N
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e Logistics Infrastructure

National Infrastructure Pipeline (NIP) will be
aligned with PM Gati Shakti Framework.

Hence, Statement:- 2 is incorrect.
Additional Information:-

e All 7 engines will pull forward the
economy in unison. These engines are
supported by the complementary roles
of Energy Transmission, IT

Communication, Bulk Water &
Sewerage, and Social Infrastructure.
The approach is powered by Clean
Energy and Sabka Prayas - the efforts
of the Central Government, the state
governments, and the private sector
together - leading to huge job and
entrepreneurial opportunities for all,
especially the youth.

137. Which of the following is not an economic
activity?

A. Farming
B. Service
C. Voluntary Social Service
D. Transport
Answer: C
Explanation:

e Economic activitiesare those by
which we can earn our livelihood
whereas

e For example, a worker working in a
factory, a doctor operating in his clinic,
a manager working in the office and a
teacher teaching in a school— are

: Ilf((:t‘:s doing so to earn their livelihood and
are, therefore, engaged in an economic
e Waterways L
e Airports activity.
* Mass Transport e Whereas Non-economicactivities are
- J
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those performed out of love,
sympathy, sentiments, patriotism, etc.

e For Example:- a housewife cooking
food for her family or a boy helping an
old man cross the road are performing
non-economic activities since they are
doing so out of love or sympathy.

e Hence, Option:- ( C) is incorrect.
Additional Information:-

e Economic activities may be further
divided into three categories, namely
business, profession and employment.
Business may be defined as an
economic activity involving the
production and sale of goods and
services undertaken with a motive of
earning profit by satisfying human
needs in society.

138. With reference to the scheme wise allocation
in the 2023-24 Union Budget, which of the
following statement/s is/are correct?

1. Compared to the previous year,
highest percentage of decline has been
recorded in the allocation for
MGNREGA.

2. Compared to the previous year,
highest percentage of growth has been
recorded in the allocation for Jal Jeevan
Mission.

Select the correct answer using the code given
below —

~
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Answer: A

Explanation:

e The Ministry of Rural Development
was allocated around Rs 1.6 lakh crore
for 2023-24, 12% less than the revised
estimates of 2022-23. This is largely
due to the decrease in allocation
towards the Mahatma Gandhi
National Rural Employment
Guarantee Scheme (Rs 60,000 crore),
which is 33% less than revised
estimate for 2022-23.
towards rural housing increased by
13% in 2023-24, while allocation
towards rural roads

Allocation

remained
unchanged.

e The Ministry of Jal Shakti was
allocated Rs 97,278 crore for 2023-24, a
31% increase over the revised
estimates for 2022-23. The Jal Jeevan
Mission received the highest
allocation (Rs 70,000 crore). River
Interlinking saw an increase in
allocation due to the implementation
of the Ken-Betwa Link Project. Funds
have remained wunderutilised in
schemes such as the Swachh Bharat
Mission- Gramin, Atal Bhujal Yojana,
and Namami Gange.

Hence, Both the Statements are correct.

139. By which year the target of population
stability has been fixed in India?

Code - A. Year 2045

A. Only 1 B. Year 2070

B. Only 2 C. Year 2075

C. Both1and 2 D. Year 2080

D. Neither 1 and 2 Answer: B
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Explanation:

e With the Total Fertility Rate (TFR)
continuing at 2.8 per cent, the Union
Health and Family Welfare Ministry has
pushed back the target date for achieving
population stabilisation to 2070 from
2045, stipulated in the National
Population Policy (NPP) 2000.

Hence, Option:- (B) is correct.

Additional Information:-

o Total fertility rate (TFR) compares figures
for the average number of children that
would be born per woman if all women
lived to the end of their childbearing years
and bore children according to a given
fertility rate at each age. TFR is a more
direct measure of the level of fertility than
the crude birth rate, since it refers to births
per woman.

140. Which statement is true for Finance Sector
(Fiscal Management) in the Union Budget-2023?
A. Twenty years interest free loans to
states.

B. Fiscal Deficit of 3.5% of GSDP allowed
for states.

C. Fiscal Deficit 2025-26, the target is to be
below 5.5%.

D. (d)Budget estimates 2023-24 for total
expenditure is 55 lakh Cr.

Answer: B
Explanation:

e The Government has not deviated
from the path of fiscal consolidation.
In Union Budget 2023, the medium-
term fiscal consolidation framework
stated that there is a need to reduce
fiscal deficit-GDP ratio to 4.5% by
2025-26 from the current 6.4%. There
are revenue uncertainties in post-

N
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risks, mounting inflation, supply chain
disruptions and energy price volatility.
At the same time, the Government has
kept the fiscal policy "accommodative"
, and has undertaken capital spending
to support economic growth recovery.
The predominant mode of financing
fiscal deficit in India is through
internal market borrowings. It is also
to be financed through securities
against small savings, provident funds
and an insignificant component of
external debt. In Union Budget 2023,
India's external debt is pegged at
222,118 crore of the total fiscal deficit of
717,86,816 crore in 2023-24 (BE), which
is approximately about 1%. In Union
Budget 2023, it is also stated that the
States will have to maintain a fiscal
deficit of 3.5% of GSDP of which
0.5% will be tied to power sector
reforms.

e Hence, Statement:- (B) is correct.

o Fiscal deficit in 2023-24 is targeted at
5.9% of GDP, lower than the revised
fiscal deficit of 6.4% in 2022-23. Under
the Finance Bill, 2023, a number of
changes have been made to the new tax
regime. The income limit to avail a

rebate and not pay any taxes has
increased from Rs 5 lakh to Rs 7 lakh.

141. According to Economic Survey 2023 about
services, which statement among the following is
not correct?
A. Credit growth to services is above 16%
since July, 2022.

B. 75 digital banking units announced for
transforming financial services.

pandemic times and also geopolitical C. Fashion, grocery and  general
- J
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merchandise will be captured nearly
two-third of the Indian e-commerce
market by 2030.

D. PM.I. services witnessed strongest
expansion since July, 2022.

Answer: C
Explanation:

e The expansion of e-commerce to
newer segments like grocery, fresh-to-
home fruits and

e vegetables, and general merchandise
has contributed to the expansion of the
customer base beyond traditional
buyers. And as per the latest report
‘How India Shops Online 2022" by Bain
& Company, emerging categories -
Fashion, grocery, and general
merchandise to capture nearly two-
thirds of the Indian e-commerce
market by 2027.

e Hence, Statement:- ( C) is incorrect.

Additional Information:-

e Over the last few years, the number of
neobanking platforms and global
investments in the neo-banking
segment has also risen consistently.
Neobanks operate under mainstream
finance's umbrella but empower
specific services long associated with
traditional institutions such as banks,
payment providers, etc. Neobanks
operate entirely online, with no
physical presence apart from office
space in the offline world. The growth
of these institutions is spurred by the
need for on-demand and easier-to-
access financial solutions by a young
and increasingly digitally savvy
demographic. Neobanks have eased

~N
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availability and provided access to
financial services to MSMEs and
underbanked customers and areas.
The government also, through
various initiatives, has given a push
to digital banking solutions. 75
Digital Banking Units (DBU) across
75 districts announced in Union
Budget 2022-23 to take banking
solutions to every nook and corner of

the country have been launched.

142. Which of the following is/are the type/s of
poverty?
1. Absolute poverty

2. Relative poverty
3. Subjective poverty
4. Functional poverty

Choose the correct answer using the code given
below —

A. Only 1 and 2

B. Only1,2and3

C. Only 3 and 4

D. Only 1 and 4
Answer: B

Explanation:

On the basis of social, economical and political
aspects, there are different ways to identify the
type of Poverty:

o Absolute poverty.

¢ Relative Poverty.

¢ Situational Poverty.

o Generational Poverty.
e Rural Poverty.

o Urban Poverty.
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Hence, Option:- 4 is incorrect therefore Option:- .
(B) is correct.

e Absolute poverty: Also known as
extreme poverty or abject poverty, it
involves the scarcity of basic food,
clean water, health, shelter, education
and information. Those who belong to
absolute poverty tend to struggle to
live and experience a lot of child deaths
from preventable diseases like malaria,
cholera and water-contamination
related diseases. Absolute Poverty is
usually uncommon in developed
countries.

o Relative Poverty: It is defined from the
social perspective that is living
standard compared to the economic
standards of population living in
surroundings. Hence it is a measure of
income inequality. For example, a
family can be considered poor if it
cannot afford vacations, or cannot buy
presents for children at Christmas, or
cannot send its young to the
university. Usually, relative poverty is
measured as the percentage of the
population with income less than some
tixed proportion of median income. It
is a widely used measure to ascertain
poverty rates in wealthy developed

N
o T.me/Sleepy Classes

Generational Poverty: It is handed
over to individual and families from
one generation to the one. This is more
complicated as there is no escape
because the people are trapped in its
cause and unable to access the tools
required to get out of it.

Rural Poverty: It occurs in rural areas
with population below 50,000. It is the
area where there are less job
opportunities, less access to services,
less support for disabilities and quality
education opportunities. People are
tending to live mostly on the farming
and other menial work available to the

surroundings.

Urban Poverty: It occurs in the
metropolitan areas with population
over 50,000. These are some major
challenges faced by the Urban Poor:

o Limited access to health and
education.

o Inadequate  housing  and
services.

o Violent and unhealthy
environment  because of
overcrowding.

o Little or no social protection

nations. mechanism.
e Situational Poverty: It is a temporary
type of poverty based on occurrence of 143. Which of the following (Scheme - Year) is not
an adverse event like environmental correctly matched?
disaster, job loss and severe health A. Deen Dayal Upadhyay Gramin
problem. Kaushalya Yojana 2014
o People can help themselves B. Rural Housing Interest Subsidy

even with a small assistance, as
the poverty comes because of C
unfortunate event.

. Shyama Prasad Mukherj' Rurban

Scheme - 2017

Mission- 2015

J
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D. Sansad Adarsh Gram Yojana - 2014

Answer: C
Explanation:

e Shyama Prasad Mukherji Rurban
Mission (SPMRM) is an attempt to
make our rural areas socially,
economically and physically

sustainable regions. The Mission

strives to strengthen rural areas by
providing economic, social and
infrastructure amenities, thus leading
to sustainable and balanced regional

development in the country.

Launched the Scheme

e Hon’ble Prime Minister has launched
this scheme on 21st February, 2016 in
the State of Chhattisgarh. The Mission
aims at development of rurban
clusters, which would trigger overall
development in the region.

Hence, Option:- ( C) is incorrectly matched.
Vision
e To “develop a cluster of villages that

preserve and nurture the essence of
rural community life with focus on
equity, and inclusiveness, without
compromising with the facilities
perceived to be essentially urban in
nature, thus creating a cluster of urban
villages”.

Aims

e Under this National Rurban Mission
(NRuM), to ensure
development of the clusters, the areas

organized

would be well delineated and would
be duly notified as planning areas
under the relevant Planning Acts of the

~
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144. Which of the following scheme/s is/are
related to Uttar Pradesh?

1. Anuthee Uphar Scheme

2. Matra Shakti Udyamita Scheme
3. Kaushalya Matritva Scheme
4. Stree Nidhi Scheme

Select the correct answer using the code given
below —

Code-
A. Only 1

B. Only 2
C. Both2and 3
D. 2,3and 4

Answer: A
Explanation:

e The Anuthi Uphar Scheme is a
unique initiative by the Uttar Pradesh
government to encourage COVID
vaccination in the state. On World
Health Day, which falls on April 7th,
the government conducts a lucky draw
for individuals who have received
both doses of the vaccine. If more than
25,000 beneficiaries have completed
their vaccination, they become eligible
for this gift scheme.

e Hence, Only Option:- 1 is correct.

e Haryana Matrushakti Udyamita
Yojana:- A new scheme for women has
been introduced by Haryana Govt.,
which is to be implemented through
Haryana ~ Women  Development

Corporation to make them self- reliant

and improve their economic and social

States. status.
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e The Kaushalya Matritva Yojana was
launched by the Chhattisgarh
government in March 2022. The
scheme aims to provide skill training
to pregnant and lactating women in
order to enhance their employability
and income. The scheme also provides
financial assistance to women during
their pregnancy and childbirth.

e The Telangana state government has
allotted about Rs 3700 crore credit
flow to women self-help groups
(SHGs) through ‘Stree Nidhi’. This is
about 600 crore rupees more than the
allocation of the last year. According to
an official release, the government has
spent about 14 thousand 750 crore
rupees during the past 8 years to the
SHGs for setting up businesses.

145. Which of the following Scheme/Programme
not the Central Government Programme and it is
Uttar Pradesh Government's Programme?

A. MGNREGA

B. Gramin Swasthya Mission
C. Ganga Expressway

D. Pt. Nehru Utkarsh Mission

Answer: C
Explanation:

e The Uttar Pradesh Cabinet, led by
Yogi Adityanath met at Prayagraj, the
venue of the Kumbh Mela, and
cleared the decks to construct Ganga
Expressway on 29 January 2019.

e The foundation stone of the
expressway was laid by Prime
Minister Narendra Modi on 18
December 2021, in Shahjahanpur. The
expressway is expected to Dbe

-
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completed by the end of 2025.

e Hence, Option:- ( C) is correct.

Additional Information:-

e Ganga Expressway is an under-
construction, 1,047 km (651 mi) long, of
which 594 km (369 mi) has been
approved, 6-lane (expandable to 8)
wide greenfield expressway in the
state of Uttar Pradesh, India.[2] It is
being constructed in two phases.
Phase-1 will connect Bijauli village on
NH-334 in Meerut district with
Judapur Dandu village on NH-19 in
Prayagraj district, while Phase-2 will
see the extension of both sides of the
expressway: from Prayagraj to Ballia
and from Meerut to Haridwar. It is
being implemented by the Uttar
Pradesh  Expressways  Industrial
Development Authority (UPEIDA) on
the  Design-Build-Finance-Operate-
Transfer (DBFOT) Model.

146. Who has written the book "From Dependence
to Self Reliance"?

A. V. Venugopal Reddy
B. Rangrajan

C. Raghuram Rajan

D. Bimal Jalan

Answer: D
Explanation:

Economist Dr Bimal Jalan authored the book
“From dependence to Self-Reliance: Mapping
India’s Rise as a Global Superpower”. Hence,
Option:- (D) is correct.

Additional Information:-

e Dr Bimal Jalan is the former governor
of the RBI. He has previously held
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several positions in the government,
including those of finance secretary
and chairman of the Economic
Advisory Council to the Prime

Minister.

A nominated Member of Parliament
from 2003 to 2009 and the chairman of
the Expenditure Management
Commission from 2014 to 2016, he also
represented India on the boards of the

International Monetary Fund and the
World Bank.

In 2019, he was the chairman of the
Economic Capital Framework, set up
by the RBI in association with the
government

Yaga Venugopal Reddy (born 17
August 1941) is an Indian economist
and a retired Indian Administrative
Service (IAS) officer. Reddy served as
governor of the Reserve Bank of India
(RBI), India's central bank, from
September 2003 until September 2008.
In 2010, he was awarded India's second
highest civilian honour, the Padma
Vibhushan.

Raghuram Govind Rajan (born 3
February 1963) is an Indian
economist. Between 2003 and 2006 he
was Chief Economist and director of
research at the International Monetary
Fund.[3] From September 2013
through September 2016 [3] he was the
23rd Governor of the Reserve Bank of
India.

Chakravarthi Rangarajan (born 1932)
is an Indian economist, a former
Member of Parliament and 19th
governor of the Reserve Bank of India.

~
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147. Which of the following is known as "World
Wetlands Day"?

A. 10 January

B. 15 January
C. 1 February

D.

2 February

Answer: D

Explanation:

A Ramsar site is a wetland area
designated under the Ramsar Convention,
an international treaty aimed at
conserving and  sustainably using
important wetlands. Ramsar Convention
is also known as ‘Convention on
Wetlands'.

These sites are recognised for their
ecological, cultural, scientificc, and
recreational value. They play a crucial role
in maintaining biodiversity, providing
habitats for various species, regulating
water flow, and supporting local
communities. The designation helps
promote the conservation and wise use of
these valuable ecosystems.

The Ramsar Convention is named after the
city of Ramsar in Iran, where the
convention was signed on 2 February,
1971. The term “Ramsar site” refers to a
wetland area designated under the
convention for its ecological importance.

The Convention on Wetlands was signed
on 2 February 1971 in the city of Ramsar,
Iran. That’s why World Wetland Day is
celebrated every year on 2 February.

Hence, Option:- (D) is correct.

148. World Social Protection Report is published

by -

A. World Bank
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B. World Health Organization

C. International Labour

D. World Economics Forum Organization

Answer: C

Explanation:

The International Labour Organisation published
the “World Social Protection Report”. It gives a
complete overview of the recent developments in
social protection systems. The report reveals that
4.1 billion people in the world live without any
social safety net.

Hence, Option:- ( C) is correct.

Key Points from the world social protection report
2020-22

-

Social Security prevents deprivation
and assures individuals of a basic
minimum income. It includes access to
income security and health care.

In 2020, 46.9% of people benefitted
from one protection due to social
security.

COVID-19 majorly challenged people
without  security. For instance,
persistent poverty, rising inequality,
extensive informality, and weak social
contract.

84% of people in Europe and Central
Asia have a high rate of coverage.
64.3% of Americans have social security
coverage. While Asia and Pacific have
44%, the arab states have 40% and
Africa has 17.4%

Countries spend an average of 12.9% of
GDP on social protection. However, it
is a reduced rate according to the
country’s economic status.

Many children don’t have any access to
social security. Only one in four
children receives protection benefits.
Only 18.6% of unemployed people
have social coverage and receive
benefits.

Considerable progress has taken place
in increasing population coverage.

N
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However, countries still lack healthcare
coverage.

149. In which year, "Mid-day Meal Scheme" was
renamed as "P.M. Poshan Scheme"?

A. 2018

B. 2019
C. 2020

D. 2021

Answer: D

Explanation:

Mid-day Meal Scheme :- The name of
the scheme was changed to Pradhan
Mantri Poshan Shakti Nirman (PM-
POSHAN) in 2021.
Children of preparatory Class i.e. Class

September

just before Class-I in primary schools
have been included in PM-POSHAN
since April, 2022.

Hence, Option:- (D) is correct.

Additional Information:-

To enhance enrolment, retention,

attendance  and  simultaneously
improving nutritional levels among
children, the National Programme of
Nutritional Support to
(NP-NSPE),

known as Mid-Day Meal Scheme, was

Primary
Education popularly
launched as a Centrally Sponsored
Scheme on 15th August 1995, initially
in 2,408 blocks in the country. From
2008-09 i.e w.e.f 1st April’2008, the
children
studying in Government, Local Body

programme covers all
and Government-aided primary and
upper primary schools and centres
SSA
Samagra Shiksha) of all areas across

supported under (presently
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the country. Mid-Day Meal Scheme
was started in the State of Assam
during the 2004-05 financial year.

e PM POSHAN Abhiyaan is a centrally
sponsored scheme by the Ministry of
Education, aimed at providing hot
cooked meals to children in

Government and Government-aided

schools across India. It addresses

hunger and education by improving
nutritional status, encouraging regular
school attendance among
disadvantaged children, and aiding
concentration in classroom activities. It
of the Integrated Child

Development Services Scheme (ICDS),

is part

which also encompasses Anganwadi
Pradhan Mantri
Matru Vandana Yojana, and Scheme
for Adolescent Girls.

Services Scheme,

150. Which of the following (Union Budget
Departments 2023-24 — Allocation amount
approx. ) is correctly matched?

A. Ministry of Health — Rs 89,155 Crore

B. Dept. of Health and Family Welfare —
Rs 80,000 Crore

C. Dept. of Health Research — Rs 9,155
Crore

D. Pradhan Mantri Jan Arogya Yojana —
Rs 5,000 Crore

Answer: A
Explanation:

¢ Ministry of Health and Family Welfare:
In 2023-24, the expenditure of the
Ministry of Health and Family Welfare is
estimated to be Rs 89,155 crore, a 13%
increase from revised estimates for 2022-
23,

SleepyClassesIAS
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¢ Hence, Option:- (A) is correctly matched.
The Ministry comprises :-

o the Department of Health and Family
Welfare, which is responsible for
implementing public health schemes and
regulating medical education, and

¢ the Department of Health Research which
is responsible for conducting medical
research.

: Budget allocation for the Ministry of Health and Family Welfare (Rs crore)
2021-22 2022-23 2023-24

Actuals RE BE RE to 23-24 BE
Health & Family 81,780 76,370 86,175 128%
Welfare
Health Research 2,691 2,775 2,980 74%
Total 84,470 79,145 89,155 12.6%

Additional Information:-

o The Union Budget 2023-24 was presented
on February 1, 2023 by the Finance
Minister Ms. Nirmala Sitharaman. It
proposes to spend Rs 45,03,097 crore in the
financial year. Out of the total
expenditure, revenue expenditure is
estimated to be Rs 35,02,136 crore (1.2%
increase from revised estimates of 2022-
23). Interest expenditure is 41% of revenue
receipts. Capital expenditure is estimated
to be Rs 10,00,961 crore, a 37.4% increase
from revised estimates of 2022-23.
Revenue deficit in 2023-24 is targeted at
2.9% of GDP, which is lower than the
revised revenue deficit of 4.1% in 2022-
23. Fiscal deficit in 2023-24 is targeted at
5.9% of GDP, lower than the revised fiscal
deficit of 6.4% in 2022-23.

The Ministry comprises :-

o the Department of Health and Family
Welfare, which is responsible for
implementing public health schemes and
regulating medical education, and

e the Department of Health Research which
is responsible for conducting medical
research.

o The Department of Health and Family
Welfare administers the National Health
Mission, which receives the largest share

% change 22-23
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of the Ministry’s budget and includes
transfers of funds to states for specific
purposes such as strengthening health
infrastructure. Other transfers to states
include funding for human resources,
medical education, and the Covid-19
vaccination. Transfers to states also
include  transfers as  per  the
recommendations of the 15th Finance
Commission (more than one lakh crore
rupees for improving primary health
infrastructure).
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